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The' following data IS ‘given for an economy for the

year 2016. How each of the following transactions would

affect the GDP and why ? 3

(d Rs. 10 lakh is Pﬂid as interest on the national debt..

(i) Ice-cream maker began the year with Rs. 5,000
worth of milk in his factory and at the end of

the year he is holding Rs. 5,500 worth of milk.

Using the. quantity theory of money and the Fisher's
equation explain in detail how the rate of growth in

money affects the nominal interest rate ? 5

Explain "-'-'h-Ether a new environmental protection law that
requires firms to reduce their cmissions of pollutants
_{an exogenous event) will shift the short run aggregate
supply curve or aggrepate dgmand.What' are the poliﬁy
options available for the macrocconomist working with
the gu'u:;:m_men; to minimise effect of these events on

mf'“ﬂnum}r ? Elplﬂin using suitable diﬂgm. 7
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(a) What are the uses of private savings ? 3

(&)

©

Suppose a country’s quantity of money is Rs. 600 billion,
nominal gross domestic product is Rs. 12 trillion and
the real gross domestic product is Rs. 6 trillion,

(1 trillion = 1000 billion)

() What is the price level and velocity of moncey in

this country 7 .

(ii) Suppuéc the .velncit}r is constant and the
€conomy’s output by 5 per cent each year. What
quantil}; of money and money supply should the
central bank set next year if it wants to keep the

prlcE' level stable 2 (Calculate money supply in

billions), ' '
23

U - L] -

sing the suitable diagram in 1S-LM framework show
Ih - [

¢ effect of Introduction of investment subsidy on the
I - = | )

evel of consumption, income, investment and interest

fate in an’economy. Also, compare the rﬂlul!s With other

®XPansionary fiscal policies.
7
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F@ ¥ § arefas W AR 6 fgfem T

#1 (1 fzfemm = 1000 fafea)

H T@ 3| H wimd ¥R W TR F AT FN
t 2?2

Gn WA wife f& A fer ¥ 3 s
F SAEA 5 wiowd Wi o d A dga ¥
@ B TF H T Y X F OAEAT
7 g gfd feadt st e gfg a8 S
®R W WIF @ awd €2 (9 g &
fafega # T wiwQ)

(@ i1s-LM &2 # @ Fox w1 IE@m FE
fray wfeast & w@ET & I9E A SYI
ww, 3@, fav 1 95 = W W IR
qfordt & F fawm & wowE it
3 @9 W g s

3. (@) Explain briefly the following concepts :

(i Household fixed investment.

P.T.O.
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8929
cutrality,
(i) Monetary I y 3
() Assume that ‘the demand for . money balances ;,

represented ‘by the fnllnwing :

M/P=Y [0.4 — (r + expecteq inflation)
Where; Nominal Income (Y) = R 2909

Real interest rate (r) = 404

Expected inflation = % js constant in short

) 'Ca!culale'scignurage. if the rate of growth of

nominal money is 15 per cent forever,

(i) Calculate the inflation tax when actual inflation

equals 6 per cent, [s it equal to Seignorage ? 32

© () Define budget surplus. What does negative budget

surplus mean ? Explain using suitable diagram. 3

(if) Explain the effect of increase in government

purchase on budget surplus. 4
(%0 Pt srrronsii o < sren wfm -
0 T fer iy
@ WEF oo,

(“)“"ff’ﬁﬁnmmﬁaﬁmﬁ“*m"ﬁ
%mwﬁ‘ﬁ’*
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M/P =Y [0.4 — (- + expected inflation)

E sl : el S . (Y) = 2000 94

Frfasd AN T () = 4 Woww

s wRif = 6 Yiww seum@m # e ®

() R T A At Rk T s
W W & faw 15 vhwm @)

(i TR W@ Ho @ aratasm w6
6 wivwm ¥ T IE FERE P AR §?

CHNG! mwﬁmaﬁuﬁmﬁaaﬁﬁmm
T afvr @ o ad ¥? 3w o
F ITAT Feh AT BT

__(n)'-m s | wEd w A s B
YNE B A Hit

4, (@) If the GDP deflator for the year 2016 is 110 and the
nominal GDP for year 2016 and year 2015 are 5500 and
3800 resp.ec;tiw:.ly. find the rate of growth of real domestic g
product keeping 2015 as base year. 3

(5) '- Seignorage is the rl:all revenue from money creation. If

the gowcrhﬁqnt chooses a constant rate of nominal

P.T.O.
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money growth and maintains it forever, what would be

its effect on seignorage ? s

@ () Graphically explain the derivation of aggregate

demand curve using IS-LM framework. 3

(i)~ Explain- monctary transmission mechanism. 4

(%) g ad 2016 % faT Gor fewer 110 7 =
2015 91 2016 & fIT AHfaw Gpp #waw: 3800
g 5500 &1 Id 2015 F MR T4 @A ARAETF

e TR FH e | T@ Fwhww

@) 7@ feiw ¥ FHRe awafar e oAk
TR T fer mm ogfe W w ogAE F
¢t am v W@ @ @A g A o e

W T ANE 93m?

(|) (@ I1SLM T & SrEm w0 wrffed T T
& fomg i w5t = FiC
i) MF T T W@ = HT

(a) What are components of current account of the Balance

- of Payment of a country ? 3
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A bond promises to pay £1000 in onc year.

-

() What is the interest rate on the bond if its price

today is $ 500 ond § 800 ?

(i) What is the relation between the price of the bond

and the interest rate ? 32

(6 () What do you mean by crowding out ? Explain

using a suitable diagram, 3

(i) When the demand for real money balances is less
responsive to the rate of interest, crowding out

is more. Explain using suitable diagram. 4

() @ WM& YA ¥4 F 96 @ b ueh
7§ ?

(A) TF 99 ¥ T als 1000 IR 1A H T4
m ¥ |
0 ahmmﬁ,ﬂm,ﬂﬁmm

#qa 500 TIeR § 800 TR ¥
R PTO.
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6. (a) Explain how each of the following transactions would

¢nter the India's balance of payment accounts.

. The Reserve Bank of India sells dollars and buys

rupee from a Swiss Bank.

Il Indian resident opens a Swiss Bank account. 3

(6) What is g money multiplier 7 Suppose an economy has

& monetary base of $ 10 million. Calculate money supply

in the fnlluwjng Situations

O Al the mope, is held as demand deposits and

banks hold 10 per cent of their deposits as reserves.

W) M.I the money js held as currency. 32
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() Assume the followina |S-LM model :

%- C =200+ 05 vd
Yd =Y — Tax
Tax=-u.2'f
I =400 - 36i
G =120
M.nzm}
P=2
L = 0.2Y — 8i

() Calculate the equilibrium level of income and

interest  rate. 3

(il How much investment will be crowded out if the
govemnment increases its purchases by 120 and

nominal monéy supply remains unchanged ? 4

sy P § 3 T S W@ F g
mmﬁﬁmﬁﬁwﬂﬂm:
| E AR PTO.
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o fam 9@ ¥ WG fod 9% gm wR
T T 9 49 T SR

a vwara fAE W faw 9w F den ™
el

() 0 T F 8?2 WA A ww steforeen
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frefafaa vl § 9 i wm st
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(a)

(0)

H ¥ & WEEW WX T WS L H A

L = 0.2Y - §i

Fifwg |

i) FEen faw wws awe @ oAk ww@R
A Tl A 120 | GgE € a9 WehiaE
TN gfd 'R Wt

How does GDP differ from GNP ? If a country employs

many furéig:_: workers, which is likely to be higher :

GDP or GNP ? 3

What are the social costs of a predictable inflation ? 5

e .

Consider a loanable funds market of an economy. The

T

following equations describe the economy :

. T YT

Y=C+q+[
Y = 6000

G = 2000
P.T.O.

A e, — = ———
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( 1) _ 8929
T = 2000
C =500+ 05 Y -7
I = 2000 - 50r

(d  Find the equilibrium Tate of interest and national

savings, 3

(i) Now suppose the government reduces the raxes
to 1000. Compute by how much amount do the
fnllt;wing change : disposable income,
consumption, investment and national savings due

to fall in the tax. ' 4

(a1) GDP,GNpﬁﬁﬁq%?ﬂﬁéﬂqﬁﬁﬁ%‘t’ﬁ
mﬂrﬁmﬂﬁmﬁm%ﬁﬁmﬂﬁﬁ?@ﬁ
er?:wmmt-onpm GNP ?

() aﬁﬁ{ﬁ.mﬁ.ﬁmmm"ﬂ%?

(H)T@W%W'ﬁ%wm
Wﬁﬁqrﬁqﬁﬁganﬁmaémwﬂﬁ
e Wy § |
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Y=C+G+]

Y = 6000

G = 2000

T = 2000
C=500+05(Y-T
1 = 2000 - SO0r |

(1}'aﬁaﬁmﬂav@ﬂaaﬁfﬁm
el

(;;)mqﬁsﬁﬁqﬁmmﬁﬁw
1Dwﬁ%|mm'ﬁmﬁm
g @@, soim, A 9 TEE 9=
§ =G & @ FRO e &g e 2

3,500
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all questions, Choice ;

swer ; 01 ;
(c) An -~ ch questions, Ce Is available

within €

(d) Use of simple calculator js permitted.
anﬁmmﬁaﬁqﬁﬁ|

1. Attempt any four from the parts (a) to (¢) in this
question. . 6%4
T 997 5 4 (a) T () F A Bt ar 3 s o
(a) (1) Prove that any set of k vectors in R” is
linearly dependent if k > n.
s e fp H k Wit #1 #7E o wgem
awd : i (linearly dependent) @rar
¢ k> n,

(11) Upder what conditions is the lower
tnangular matrix of order n x n invertible ?
Prove, for a lower triangular matrix of
order 3x3, that if the inverse cxists, the
Inverse is also a lower triangular matrix.
F‘F{#ﬁﬁﬁaaﬁﬂ? n x n w9 H T =
T AT (lower triangular matrix)
QFIT‘FI’W (invertible) B & ? [T HTC
N UF ey 3x3 frer BT Al

RT af sfireir (inverse) 71 St &,

=

T R Ry fayepyomerep erm |
2

|
1
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(b) (l) For “;hat values of p does the system of

equationsg :
_px+y+4z=2;gx+y+p?z=2;x-32=p

have a unique, none or infinitely many
s'olui;ions.
p & R a7 &g aefienoT e
px+y+4z=2;2x+y+p?z=2;Xx-32=p
1 ST T 81T, IS o et 81 4T 3T~
& B |

(ii) Replace the vector of constants t2, 2, p)
in part (i) above by (b, b,, b,) to state a
necessary and sufficient .ccnditicm for

. the new system of equations to have

infinitely many solutions.
e = (i) & Rerdi=dt & Rk (2, 2, p) &
I 9 (b, b,y by) TR T 577 w7 e
Rrepr & ST oo B o STaYTs; g qai
qrat @ R |

3 . P.T.O.
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000 consumers of a product are cqual{y
(c) E:.ﬁtfﬂ 4 between brand A and brand B this

ar. However ecach year 10% qf brand A
ig;:mmers of the previous year shift to brand
B whereas 20% of brand B consumers of the
previous year shift to brand A. The total .

number of consumers remain fixed. Set out
the problem in matrix form to answer the
following :

=7 ad U S @ 5000 ITAE AS A T
ais B & fwfma &) oftad &@is A & Ued 99
3 SudeRal § 4 10% =S B X o A &
wafs @iz B & Roa af & Sudedret J @
20% AT A 9T o A & | ITAETST Hl F
e Rt W € 30 s @ el &
wq H [ g gudn weEar 9 Frefiaa
Hel & I S -

(i) What is the proportion of brand A
consumers alter 2 years ?

Qﬂmﬂﬁﬂ%mﬁaﬁﬁaﬁqmw
B P

(ii) ‘What was the proportion of brand A
consumers last year ?

Rrset af wig A & ST @ ST T
a1 P :

4
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(d) (i)

(i1)

(e) (i)

9115

The plane P is pérpendicular to the

o X2 ________y+4 2= and
straight line —-—5—- 3 >
passes thrgugh (1, 5, 7]. Flnd the
equation of the plane P.

 x- 2 _y+4_z-3
W (plane) P, 3@ : > %

Si=E (perpendmular)%a'm[l 5, 7) ifr
Tt ¥ | T P iRl S i |

If 3z and ¥ are vectors of unit length,
under what circumstances is the length

of their difference equal to 2 ?

ok x a§ mm%ﬁm% G
Y ?

How many,difl'_ercnt matrices of nrder.

3 x 3 can be formed that are both
diagonal and idempotent ?

P.T.O. I
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(i) Describe the set of vectors spanne'd by
the set of vectors A, B and C, where :

Atk A, B @ C, X1 9 T (spanned)

H'EQTI % Har.ilq <Al aul'_'i E{%Il?rlt! WET .
(4 (7T\] © [(1\(4)(7
A={l2||s||olk B=12],| 8 [[17]!:
3)(6)(8)] 13/ 2) (21
1Y (0) (0
C=<10[0([0][}
0/lo/ 1

2. Attempt any two from the parts (a) to (c) in this
question. ~ 5x2

wnﬁﬁﬂm[a)ﬁ[c)ﬁﬁﬁﬁﬁir%ﬁ?ﬁﬁm

(a) (i) Specify the domain and provide a rough
sketch of it for the function
f(x, y):]n(g-x:—‘}y:). Also provide a
rough sketch of the level curve at the
height 4.

e f(x,y)=In(9-x*-9y*) &1 qzrg
Wamwmﬁamrﬁé4'
TS5 wx g5 7y ot s FHRT |

g
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d
(ii) State three different necessary an

: ity of a
sufficient conditions for concavity

! . tinuously
function f(x, y) that 1S Conigdeﬁned

differentiable of order 2 and

on a convex domain.
e e G (convex domain) T qRINd

| . ly
g HH 2 B Taq: SfahaHd (contnuous
differentiable) w (%, Y) hl Gﬁﬂaﬂ;
(concavity) &g &= TT-2TeT STERASR
| g 91 i%rﬁa'q | |
(b) (i) For the surface defined by the
" differentiable function z =F(x,{—} show

" that the tangent plane at (X, ¥,)
intersects the z axis . at

z=F(x,,ﬁ]—F; (x,,ﬂ]x,
3 X, ).

" 3TgReHd Bl z=F[x,z}m gfoa
. . X L
s (surfae) g FUTT R o3 w9ff o

.(tangent | p!ﬂﬂﬂ] Z ayar Eﬁ\l

z:F(xple F‘x(xl,xl]xl Wqﬁ?@f&ﬁ'
| (interseﬁt) ast;ll%l |
u P-TaO-
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(i) Draw a sketch of the level curve(s)to

the function f(x,y)=§-+(lJ at the
X \X

heig’ht 3 cm or m. Is the function

homothetic ?

2y (yY < . |
et f("‘sY)=—x—+(;J % $urs 3 cm or

M 9T KX W6 (1) T STRREw FHifera |
. % BeF Bafes (homothetic) & ?
(c) The temperature at a point (x, y)' on a meta]

plate in the X-y plane is T(K:}') =1 }iy 5
+XF+y?

DS 3 Xﬁmﬁm@ﬁ%‘%‘?%%{x,mw

(i) * Find the rate of change of temperatyre

at (1,1) in the direction (2,-1).

(1,1) 9% Reay (2,-1) & TR & ey
TS Fifr | ™

E
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(i) An ant at-(1,1) wishes t0 walk in the

direction in which the temperature drops -
most rapidly. Write down the unit vector
in that direction. _

(1,1) U ey wep el 39 ferqm & <Al

% Rt arqer wed Ao @ FIaT & | 59 e

% gors wieer T
3. Attempt any two from the parts (a) 10 (c) in this
question. ‘ 6x2

=a 59T A () F (o) F A Fet A B ST AT

(a) Given that the function f (%, y) is homogenous

of (x,y) 4 of (x,y)

.of degree p, show that

an

ox oy
are homogenous of degree p-1 . Using this,
or . otherwise, prove that

x’fy, +2xyf,, +¥'f,, =p(p-1)f(x,y)
R gam & e & £ (x, y) FR p 61 e B, 4

| o (x,y) _ Of(xy)
“ﬂgqﬁ"ﬂ(ax )< gy  PIp-13wHerm

1 gHam qEEd A, A ST Ry 9fre By
X, +2xyTy +¥ Ty =P(P<1)(x,y)

9.
. P.T.O.
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(b) (i)

(1)

gtate the implidt fmetign theorem.

adyer et 54 (implicit fyncgion theorem)
i R |

The function {(x, ¥, z, u, v) : g5, g2 i
defined by the system of two cquatmns
ulyz +2xv-u?v? -2 =0 .anq xy3+xzu
tyv?-3=0 , has a solution at (x,y,z,u
vi=(1,1,1, 1, 1). Find the values of the
endogenous variables y and v when
X=1.02,y=0.99 , and z= 1
BT ¥, 2,0, v): o5, 92 57t 5 oy
TR 3 MePr: Wlyz + 2xv - u? v2 - 2 =
033 xy2 4 xau +yv2-3 = 0 , A afonfe B,
Y20, v = (11,1, 1, 1) 9T @ o

¢1omg X=1.02,y=0.99, 9 z=1 &
Gﬁqhaﬁ (endogenous var:ables] udq v
® o PifeT |

10,
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(c) State the definition for a quasi-concave
function. Use the definition to test whether
the following three functions are quasi-
concave :

M=% () gx=yx @) hEy)=x"y

T Y ITGawT (quasi-concave) HET 2l qreATeT
RIE 1 2 RTaT & s @ Prefemad d Bl
% 31} TIAH B BT TV HK |

0 (x) =x* (gl Jx (i) hxy) =x"y
4. ' Attempt any three from the parts (a) to (d) in
this question. 7%3
T 9 H 9F () € (d) 7 A 5 9 @ S ST
(a) Derive the conditions on «,Bunder which

the function f (x,y)=2x“y »@,B > Odefined
on the domain x20,y20 is:

a,p “Wﬁﬁ%ﬂﬂmﬁﬁ%maﬂq
9HE x20,y20 9T wfryifug BT
f(x,y)=2x"y",a,B > 0.

(i) Strictly Concave

11 )
- P.T.O.
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(ii) Concave |
el (Concave) &
(iii) Quasi-concave
ord-are (Quasi-Concave)
(iv) Convex
Irered (ﬁnnvex] 2l

(b) State the sufficient conditions for a function
to possess both a global maxima and a global
minima in its domain.

Find the global extreme points for the

functi
nction f (x, y) = X’y defined on the set

(¥ 1x>1,y 50, X+y<10}.
zr W%mﬁ%m@obm maxima)
o1 PBT (global minima) 2T &y *g
0% 9T 25y ferRa |
=y AR
f({[x’?")lx 21,y >2,x+y <10}
. | |
Pointy, sm; ) X%y 3 S T Rrg (extreme
) qm&iQ |

12
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(c) Find all stationary points of the function
f(X,y)=x3+y2_gxy-2x2+x-y ¥ 4 classify
the stationary points as maxima, minima and

saddle points.

1 q‘ﬁFff[x,},‘r)ﬁx3+y?—2xy—2x2+x-}’+4%
Tft ReR R (stationary points) ST I |
ﬁﬁlﬁxﬂl ol I (mamma] ﬁ‘fﬁ-‘lﬂ(mlmma)

ar- Y feg (saddle points) & @Y T SRiER
BT |

(d) A point moves on the curve x? +y* =100 . At
what point is its distance from the point
(%, y) = (10, 8) minimum ? If the constant
100 in the equation of the curve were to be
increased by one unit, what is the.
instantaneous effect on the minimum

distance.

e g e X2 + y? = 100 T 1Ry et B 1 Fopm

. g TG b6 ¥) = (10, 8) 2 g7 ot s
B ?qﬁﬂ?ﬁ%ﬂ*ﬁﬂm‘ﬂ%ﬁ@:—(qﬁ 100 = T

(mstantanﬂﬂus) RIS Ry B

13 P.T.O.
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h o
.5. Attempt any two from 1€ Parts () to (q) in this

question. 42

st i 5w (@) T (0) F T Q3 g s

(a) Consider the differential equation

dy y
& kl1-L -
= [ m]y where k and m are positive

constants. Draw a phase liné to determine
if the equation possesses a stable
equilibrium.

FIFA TAFTOT (differential equation)

gi:k(l-——},. s -

m m |Y I = St st kg m
TS Rt & 1 o g @R 9 v
ISR - ey 8, SAEN MR e
- o i

Fﬂ?R;n ar (Phase line) @I TR Fifsma |

(b)

Two
S€ts A and B ip R*are defined as

A= X
o 3] xy 2 10}and B={[x, y) 2x?+y <0}.
aw
A sketch of the sets to decide :
14 |
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o & W A = (gx, y) | v 2100 F B 7 (0%
) 2¢+y ¢ 0 grer afcaER & |57 @G P
mmammﬁa‘?aﬁmﬂmﬁﬂrﬁrﬁﬂ
9F B ST S -

(i) whether the sets A and B are closed and

bounded.

F A= AT B 7= (closed) ¥ IRAX
(bounded) & |

(ii) whether the set A "B is convex.

- FT Ag=E A N B S« (convex) € |

a,3 . :
(c) Show that x(1)=Cﬂ‘: +3 is a solution to the

dx._ .
differential equation 37=5X=3 . Find the

integral curve when x(2) =1 .

L 51 _3_ -
amfm_ e x(1)=C"+< , srama wefraor

dx

= 5x—3% @ & & | 4 x(2) = .
dt 2) =17 Sl
Qe a (integral curve) T FHifene |

15
3500
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S.No.of Question Paper : 4405

- Unique Paper Code : 1227140 lc

Name of the Paper : Intermediate Microcconomics-11

Name of the Course ¢ B.A.(Ifons.) Economics CBCS -
Semesler A\
| Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(38 W-97 = 5o €1 oW fEu M fuife =M W S S3EEE farag 1)
Note :  Answers may be written either in English or in Hindi; but the same medium should be
. . used throughout the paper. | ;
feaqult : 39 WR-UF @ IW I ar 5=l R oy 6 <ifa afes ot 39l
F WU F A G A |
The question paper is dividcd into we Scclions
Attempt four questions in all, sclecting fwo questions from Scction A and rwo from Section B,
Use of simple calculator is permitted.
7z 99A @1 v § fawifsm £
w@ foeER 9R T $ I ditE, g oum o S g vm @ | A
AT FEERAR B W F g ¥

| Section A (WTTT 21).

I. (a) Ina two person (A and B) and two good (X and Y) pure exchange economy,
| the ordinal utility functions of the consumers A and B are given as :

3 _ )
U, (X, Yo = gn X+ Y, and U (Y) = min (X, Y,)

PT.O
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S mE o me— ]

where X\ X,. Y,.Y,, are the consumplion of X aind Y by consumers A and 13
A* T 1 - i
respectively, A is endowed with (10, 0) whereas 13 js endowed with (0, 10). }

() IFAand B trade with each other using the compejtive mechanism. Write the market
Clearing equation for X and thereby find the peperal equilibrivm price ratio and
allocation ?

(iy Isthe competitive equilibrium allocation equitable 7 Why or why not 1 [

H L T HH H . o 0 ¥ . r b

(i) s the competitive mechanism equilibrium allocation fair 7 Why or why not

(iv) If the initial endowment were interchanged between A and 13, then wnite the market
clearing equation for Y and thereby find the competitive mechanism equilibrium pnce
ratio and allocation 7 Does any agent envy the other ?

2%

e —— —

(b) Is it possible 10 have a Parcto efficient allocation that is not cquilibrium in @

exchange economy ? If yes, under what conditions ? Show in an Edgeworth box. 1246.5

\(31) Yz fafrm sideraea €1 wif@ (A 791 ) TE 9 9 (X a9 Y) T TR A
A9 B % FHEES IETE Fer FAErpm fRuome w o |

Uy (X, Yo = SIn X, + 3 Y, T8 U, (55 = min (X, Y,

"~

& X, Xp. Yoo Yp F990: A TG0 DB X @41 Y T F I TN AE

TI= (10, 0) B VAR B F WESI (0, 10) B E9E W OE

@ 3fz Ad@ B WREEd 9w IWEM FE W OCE EHL F WY PR
F@ E, @ X § fau aem wmeiR o fafad am ame e
Ted 9 Ud 3mae freferd

() F Wmdl H@geR dEe e €2 # oAdd T 2

iy T wfeEr §F Hgem s P ¥ # A o 2

(iv) 4 ATE B & A9 WWE §EEW W OARE-TEE Ao @, @
Y%mwmﬁﬁﬂ?mfﬂﬁﬂﬁﬂmﬁmuﬁm;ﬁﬁﬁw
Teq YA AN IEed Frepfed) @ F1 0 SR g w9 gh
@ gl

(a) T TE WA WA FEA TE ¥ W fF 2« 2 faf AdoTa 1§ i
797 ok & @ f& wRifef@ 42 @ e3d 3 4 fTaey, y

- - - .
-
o
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(@)  Five persons A, B‘, C. D and E constitute a society hn‘ﬂ'ng Preferences n:gﬂ"ding four

Allematives W. X, Y and 7. The following table shows how cach PETSON ks these uju.-m'lli"ﬁ

from (he best (topmost) to the worst (bottlom most),

Person A Person Person C Person 1 Person E
W - - W »
x y Cox ¥y T
y X w ‘ X w
2 w ¥y z <

() Ifthey vote first On w versus x, then vote on the winner of this first contest versus

yand lastly they vote on the winner of second contest versus =, then which alternative

is the final winner ?

(i) If instead voling is done first on w versus = then on the winner and x and last

on this winner versus y, which allernative wins ?
(ii) What do the answers to parts (7) and (if) illustrate ?

(iv) If each person gives ranks of | (to his best), 2, 3 and 4 (to his worst) ﬂhcmmi-.-.g

then which alternative wins in this rank-order voting ?

(b) “Every point on the convex utility possibilitics set can be welfare maximum™, For Whay

kind of welfare function is this statement true 9 1543 ¢

(.m)ﬁﬁﬁi w9t =R A, B, C, D g E%ﬁﬁqﬁmﬂfﬁiﬁm‘\'mﬁw
1;'.x,y,ﬁﬁzﬁm%|ﬁqmﬁMW%ﬁFRﬁmmﬁﬁ&“
mﬁﬁmaﬁﬂﬁ%(wﬁm)ﬁﬁ?@(mﬁﬁ)m%
&? |

P.T.“

L
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( 4 )
oA wmhmy ~ meaC  EE@D EEE
w = = i 4
x y x y g
y X W * W
3 ul- Y5 - X

0 o T w e x § A mmﬁﬁmﬂm{ﬁ’fﬁ?
R 2, R e d gma whE@ F - f e fw e A
3idd: wrm fawen fasar gm?

(if) mmuﬁmwam:ﬁﬂﬁﬁmw%mmﬁ@@?
%, @ a7 afz e fagm am x § Haen fE W ¥, W@ | H
T fa9m qw p # 99 Toer fEw o @ e faweq Haa: fasrn

- ®Wm?2 -

(i) ST (7) O MM (i) B I I TAW &2

(iv) TRk T SAfw wEE faee w1 @ 1, T 2, 3 9 eean T

H 4 TF <A1 ¢ Al 3H - HaeH § FEd fawes Siam?

(F) IAIL ITEAE AV TR B Yodw fdg W wednl Auman 9 T

(a)

¥ fr FEVER FeR F fAu w® s ww ¥2

A beckeeper chooses the number of hives ‘11" to keep. Each hive produces one kilogram
(kg) of honey which sells at a price of Rs. 60 per kg. The 'marginal cost of holding

*H" hives is i MC = 20 + BH. The hives are lacated next to an apple orchard.

* The orchard owner benefits (without paying) from the bees because bees pollinate

Ll

the trees and bees from one hive pollinate one acre of apple trees. The cost of artificial
pollination is Rs. 24 per acre of apple trees,

() How many bechives ‘H’ will the beekeeper maintain ?

(i) Is this the economically efficient number of bechives ? Explain,
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(5 ) 4405
(fif)  What changes would lead to a socially effeiem OP<Tatioy, o

(v)  How much Subsidy should be given (@ the beekeeper for inducing him to produce
socially eflicient yumber of bechives ?
(&) Consider a plant that manufactures dynamite ‘dand a nearby famy, producing omatocs'’’,

+ The cost of production of dynamite is :
1
T C, (d, n) = ?‘F + (n - 2n

where ‘o is the amount of dynamite produced and ‘i7" is the intun.ﬁ:y of use of a nitrogen
in the production process, The side product associaled with use of the nitrogen js ammonia
- & fertilizer that is released into the air. Such fertilizer promotes growth of tomatocs
making the praduction on the farm cheaper. In particular the higher the interisity ‘#” the

lower the farmers cost : T C, (4 n)= -1- "+ 2 -t
The prices of lomatoes and dynamite are P, = P, = Ra.1

() Find the level of production of dynamite ‘e and intensity " that maximizes

the profit of the dynamite manufacturer. What is the maximal level of profit ?

(iy  Given the intensity ‘i’ from () find-the optimal level of production of lomatoes
‘" and the profit of the fanmer,

(#ii} Find the joint profit of the dynamite manufacturer and the farmer.

(iv) Economists say that the positive ¢xtemality is associated with too little activity, COMparpg ‘
to the clTicient outcome. Are your findings in this problem confirming this

statcment ? 949 ¢

-(a)@qmmaﬁﬁ#@mrm%umwmﬁm‘mm
mmm%mmﬂﬁomgmﬁﬁﬁm%lqwqm.tﬁ
qﬂqiaamﬁmc=20+an’ér|tﬁru;5@qﬁ;arﬁaa%a1m-qm%1m.
ﬂwqmﬁﬂﬂmm%ﬁﬁﬁmﬂyﬁ?ﬂiﬁﬂﬂ%
W@@a%ﬁsﬁﬁmm%,wmﬁmwwaﬁm
Rs, 24 W THY T

. PT.qQ
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( 6 )

@ “‘.I‘:ﬂqa’rmmm?{a?fmﬁﬁﬂ? . )

(i) mwﬁmﬂf@ﬂﬂwm%?m@|

{;;,jmﬁmwmmmﬁwmﬁﬁﬁﬂm?

(i) ngmw@mmmﬂ@]ﬂqnﬂquﬁiﬁﬁmm
Wﬁ%@ﬁwxﬂmﬁmw{ﬁm)amm?

(@ TF SHTNEE o IAEE st 3 TRE T B 9T faEm i | S

(a)

ﬁm%zTc‘m.m=§d1+{n_2Fl

Sl o T e S o e Rl i & S e Sk

ﬁmz"ﬁﬂhm@mﬁmaﬁrﬁmfﬁmm%ﬁhu@sw%ﬁ{

T 1 fE et ¥ To @@ d O] TN SR Hodgnl § I

A R FH wE §, @ AR W et HoaEd & AR fmum w A

®H B ¥ i TC(m=To+ -l

P, =P, = Rs. | SHAMEE 3R TAKX & I ¥

() TEAMEE F AR R n° F dwa Harred 98 W SEAmEe SRS
H A 98 Afuw BW

(i) ‘n° T AAN W () H IR T A TR H FAY I fRa Am
3 fram @1 @ fdan dm?

(i) SEAEE-IORE AN fEER @ dgma iy Framfad

(iv) e w1 FE € F e qfom # g 1 wERew arm
0 IAET B WA TR ¥ W gy w1 g FO a6 39 §Een i
aqs faerd @0 €7 ‘

Ann (A) and Bobby (B) share an apattment, They spend some of their income on
private goods separately and some of their incomes on public good like TV, A’s utility
function is : Uy(Xs. O) = GYXy*ang B's utlity function is : Up(Xp, G) = G12x 12,
where X, nnlfl Xp are the qlll}ﬂliliﬂs consumed of private goods by Ann and Bobby
and G.is the size of the public good, ‘-"-"hcrc. G = g+ gy the contribution of A
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and B for buing TV. Bogh Any and Bobby have income of (W, .. Wy m:p-cﬂi"-‘fl}'}
Rs. 2000 each per mon, Price of public cood is given as, P = 100 and pric¢
of private good is given as, Py = 1.Pg reflects the marginal ¢oq, of public EU"d‘
() Write the conditions for the provision of the Pareto efficient amg,ny of publi€ good
assuming both Ann and Bobby can pool their resources.
(i) Find the optimum size of G for the provision of the public goag assuming Xa~ Ng*
(6)  There are o types of workers in the labour market, high ability workers and 10W
ability workers. Let education be a signal t0 the firms and firms Pay each type of worker
according to their marginal product. A successful signal causes high ability workers t0
reccive "\\"H and low ability workers to reccive “!L‘ In particular, the cost of acquiﬁﬂg
education *C” for workers 1s Rs 13.000. “-H = Rs. 40.000 and “‘L= Rs. ED,DOU- B
is the proportion of high ability workers.
() - If there is a pooling equilibrium in the model, what should be the proportion of
high ability worker, B.
(i)  What kind of equilibrium will occur if the cost of acquiring education is less than
Rs.15.000. assuming B as above ? 9.5+9
() T a1 TF AEE W WA R T A W W w59 W e S
TR SFAT-HA T T ¢ O [P I WEEHF o R I 5 Iigen,
T 1 YAl e Uy(X,, G) = G!AX 3 qar =fe1 =1 STET weA Uy -
(Xp. G) =G'°Xp!2. ¥ TR X, 901 X, www: @ @ ¥4 FW I F
T el aY ¥ T G AR 9% W sER ¥ 9% G- gat g, Bl W
g1 &t A w1 AnEE A (S W, TG W) Rs. 2,000 €1 HEs1H ]
1 Fa PG = 100 T S T ® S py = 1. Pg WS T
HE @FE S0 €
() TEErtE 9 OV Wy g yawa @ W Aty o o
@wwawamﬁﬁmmmﬁu

PT.O.~
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(i) 'xﬂzhnwngﬁma@%mquﬁﬁﬂﬁmajmﬂm

(H)quam¢m%ﬁﬂmmﬂﬁm1mwammaﬁ

(a)

(b)

AH | i ey i @O0 CF TG oawl wH AOIE FER D
Hmﬁmmmmwm?lwwmﬂm
aﬁﬂﬁmmw -ﬂmq;qammﬂlf'" AT H W, W R B
El‘rl'ﬂ"”i‘wﬁimaqﬁ sfai @ fae fe C W T F AT 15,000

i

T E, W, = Rs, 40,000, W, = Rs. 20,000 T [ = ayqen @ Hfrnl
ST i.-l

(i) Wﬁmﬁwmﬁiﬂ)ﬁ@ﬂ“ﬁ,ﬁ!mammﬁmaﬁm
UM, (o B

Gy afz faen wa @ F @O 15,000 F9 F FH ¥, mmm-ﬂ
Wﬁﬁﬂﬁpﬁwﬁmaﬁmmmm|

_Section B (T 4)

Mr. Gnash, who will distribute Rs. 4 between two people A and B, asks them to
simultancously write any whole number between 0 and 4 on a picce of paper. If the
am of the two numbers is at most 4 then both will get the numbers of rupees they
have written. If the sum exceeds 4 and both have written the same number then both
will get Rs. 2 clse the one who has written the smaller number will get the number of
rupces he has written and the other will get 4 minus this amount. Determine the best
responsc of cach player to cach of the other player's actions, plot them in a dot-circle
best response diagram, and thus find the Nash cquilibria of this game.

Consider the following game :

Player
L R
Player A U 24 10
. D 1 or | as
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()  Find out Mixed strategy Nash equilibrium of the fame if the gam® is played
simultancous|y,

(i) Draw the extensiyé form for this gante and find out Sub-gamy perfect Nash cquilibrium
if the game jg sequential and player A plays first,

i) Are the Pype strategy Nash equilibrium of the game strigy cquilibria ? Explain giving

definition of sirjet equilibrium. 10+9.

(=1) . ﬁﬁm;ef@ﬁﬂﬁﬂﬂﬂ#ﬁﬂh.4ﬁﬁﬁﬁm%lﬁwﬂm
I F TH gHES WO A4 4 B A IR N Wi wen frgd B faw
W%lwﬁﬁﬁaﬁaﬁﬁwﬁmﬁmaﬁaﬂqqﬁaﬁaﬁm
B fEl TR den @ R T o W o ofn mrdm 4 @
Wﬁ%ﬁmaﬁﬁmﬁﬁﬁmm%aaﬁm‘rgmﬁﬁmuﬁ
T@mﬂnmﬂaﬁm%ﬁﬁﬁmﬁw%@%ﬁﬁﬂﬁzﬁ
H@T%@%Eﬁﬂ%#@ﬁﬁﬁﬂ@iiﬁiﬂ?ﬁﬂhﬁ#ﬁlmm@
%mmmﬁmaﬁrﬁﬁ,ﬁmmmﬁaﬁ,ﬁnw
TR W WA F W gged @n 2 .

(H)ﬁﬁf@ﬁﬂﬁﬂﬂ?ﬁﬁﬁ‘a: -

B
L R
ﬁiﬁr@’ A U 24 1,0
D 01 |- 45

) ﬂﬁ@ﬁﬁmﬂ@mﬁﬁm%ﬁtﬁrﬂaw&ﬁﬂﬁgﬁaaﬁwm
. . 1
) @aaﬁw“ﬁq“?ﬁaﬁmwm-@ﬂwﬁﬂﬁqm'
Fiod AR T T ¥ o wed faadt A S B i
(fff)w@awﬂﬁmﬁﬁ#ﬂw' mwg?mm
- gforr 39 §U WERY, | .

Prg
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‘@) TWO People are engaped in a joint project- If each Person § puts in the effort X, a

l =
pon-nNegalive number equal 1o at most 1y which cosls hem C X =X, and C (X,)

4X he pro
= Xy. the outcome of (he project is worth F(XX2)= 4% X,. The worth ol the p oject

is split cqually between the two people irrespective of the effort levels.

()  Find the best response t‘unr.ﬁnﬂ of the 1wo players.

[ Make the best response function diagram and find the Nash equilibria of the game.
(i) What are the payofTs of the players ol these equilibria 2

(iv) Which pair of effort level, the payofls to the players is highest ?

(b) Consider the game below :

Player 2
L R
Playerl | T 4,8 0,0 . - .
) 8,20 XY

() Inasimultancous game, i[(B, R) is the only Nash equilibrium of this game, what
must be true of X and Y?

(i) Present the game in extensive form. If this game is played sequentially, identify all
sub-games with Player 1 moving first,

(iii) Assuming (13,R) is the sub-game perfect Nash equilibrium (SPNE) outcome, what
musl br_" truc nr x ﬂnd Y ? ID+9

(21) 3 m we w1 T @ 9w wf v X, O T
Hen W sfwad 1% TR E E @vm C (X,) = X @ C (Xa)= X,

& 7w & U F (xu-}‘:zh-txx.,':%q?imm T\ sfeirem

F T @ v WD T A Wi 5 g gom =D e e
S g

@ A faarisd & TS Wowa e g w3k
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(@) Fefafan ¥q 4w fgar wifm -

faarsEl 2

L R
f@wgﬁll T 4,8 0,0
B.| 82 XY

() TF GuFics @d 4, 3 (B, R) T A = WHH W SeE £ @
Xa9 Y& 9 0 & §9 0 «=feq?

(i) G F AVE T T Y wifed| A w7 9 HOF TY ¥ Gy
ST %, 1 W S-UE F vgEn wifvd, fed f@ergl 1 9w o
il | '

(i) WA & (B, R)Tﬂ'@ﬁ‘fﬁiﬂfﬁwﬁgm(smﬁ}mnﬁum%,ﬁixwl
y @ ar 7 F I I aifeg?

A monopolist's inverse demand for "“"' good is gwcn by P (Q) = 100 - Q and cost jg

given by C(Q) = 0. Cnns:dl:r th:cc cases,
PT.Q,
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Case-1
?Uﬂmc that Monapolist ean perfectly price discriminate “Mmong the consumers,
() \\'hm.is Monopalist's profit in that case ?
@ s the allocatjgn Parcto efficient 7
(@ Caleulate the consumer surplus ?
(ase-2

Row suppose that Monopolist can charge differcnt prices on two segments of the market
sith different demand curves. The demands on (wo segments are ;

4
Q(P,)=50-—P,and Q,(P,) =50 - %P,
(iv)  Find out equilibrium price and quantity if the firm practices thind degree price discrimination.
Case- 3

If the Monopolist is not-allowed to price discriminate and has fo charge a single ﬁricc

from all consumers.

(v)  What would be the equilibrium price and quantity in this case ?

(vi) Cﬂ_“.‘m producer’s and consumer’s surplus in the three cases: perfect price discrimination,
third degree price discrimination and uniform price. 19

@mmamqﬁqﬂﬂﬂh-p@hm_qgmﬁﬂ%ahm

CQ =0 g & T &I ?ﬁ"f‘ﬂﬁfﬁ.q'{fermaﬁﬁm
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fafa
SRR P S R R ap——
) W fafa i g @ oam 7R |
i) TN FEEA T g &7
(iif)y IUTERN Ay w7 &7
feafa <

4 WA dim fe vy aer @ faE w0 @ e @ ave a b

A G BEW G @S F CHi Q,{P,}=au-1;F,'ﬂﬂ1q1:p,}=5n- PRI

(v) AR W FW faiw @ dwd Ao F WM w § @ dgen e o
HEl W i |

Rafa =

It iyt w1 I AR w1 W osefa W@ T aw o swiEmsh |

@ v aged £ A

() v feufd § Wgew I AN 7w A2

i) T wa fadg, Tl S | Fm fade, SR WM FH S w6
foafedi & Soes I Sl & afudi & ge Fifa)

(@) Two firms (A and B) compete sciting the quantity. They face the market inverse
demand P = 200 — Q, where Q = g, + qp, and they both have a marginal cosy -
MC = 20. o |

() Find the Cournot-Nash equilibrium.
PT.Q,
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(if] Ilﬂ“‘l “quld lhl: cql.lilibﬁunl chﬂngl: ir!hc Eﬂ\'cmmm{ dL‘CidL"‘i 1o EUbSidiSE Fjﬂn f\.

1 ~ @ whereas, M =
WIth 12 per unit making MCa B\ Cp = 20.

(iif)  How woulq 1he equilibrium quantitics and pces change if there were three identical
firms with Mc = 20 2

(*  Consider Hotelling's model where two petrol stations labeled A and B are located along

a street length of 1 km, Assume that consumers arc uniformly distributed along the street
length. Each consumer has a transportation cost equal 1o 2d, where *d" is the distance
traveled back 10 one's house after ﬁl]ing up ]}CII'UL SU]JPGSE that A is located at 1/4

of a km and B is located at 1 km. Assume that prﬂductiﬂn' 1s costless.
()  Determine the demand functions Q4 and Qg for the two petrol stations.

(i)  Ifthe two petrol stations compete in prices (P4 and Pp) and settle at Nash equilibrium,

will they charge the same price for petrol ?

(iify  'What will be the profits of the two Petrol stations ? 7+12
(31) 31 ®H (A 99 B) T UG F1 F foau wfiredf w3 §1 9 991 ond
win @1 WA CFW €1OP =200 - Q, 5l q,.+ qp AW GF & fOC Hew
@ € ¢ MC =20 :
() FEAR-T GO T Hifed |
(i) Wﬁmmmmqﬁmmﬁnﬂwﬁqﬁzmzﬁ
i T (TR 33 M finlg w5 § O MC,, = 8 5EF MCy
=20 & Sl T

!
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i) FETT WA gy e # A TR G e o -
& ol i @@ MC =20 ¥ 2
(ﬂ}ﬁﬁnmmﬁmﬁﬁﬁ;\ﬂmnﬂmﬁm1mﬁm}m
T TEm ¥ WA eifa fR ST T T R Wy o faaid B SO
SUNEE F Wftag w24 B A0 E W 0 Ty @ qg WA
S F G E o ifre R oA 1 TR W femm g g ) et W R
T W W e s @@ el g

(0 TFE e ey # fa W WeH Q, 3 o, fuifa wifd!
G A i g R A (P, A Py A e § @
T fer I E N A W F @ g a9

(i) = WPra SIE o e @ e ?

4405. '
: Is )
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[This question paper contains 16 printed pages]

Yﬂuf ROII ND. e L Y TSI
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Unique Paper Code » 12271401

Name of the Course : B.A. (Hons.)
- ", Economics - CBCS

Name of the Paper - : Intermediate
Microeconomics - II

Semester eIV

Time : 3 Hours - Maximum Marks : 75

Instructions for Candidates :
ol & Rre R

(a) Write your Roll No. on the top immédiately on
receipt of this question paper.

T SF-9 D A B 9 g A o i qer A
ferdt1

(b) Answer may be written either in English or in
Hindi; but the same medium should be used
~ throughout the paper.

FH A%97-99 H IuC AN 7y R fad o A A
ffvrg, Al @ ST & & wrgr A AT =R

(c) This question paper is divided into two
Sectluns )

7% g9=-97 & E"'ﬂ ¥ R & |
P.T.O.
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(d) Attempt four questions in all, selecting two
questions from Section-A and two questions

from Section-B.
et et |t 999 F9 E, & 997 @US-o1 d a9l

& g7 @Us-g H|
(d) Use of simple calculator is permitted.

TIUTYT Fergeiet & 94T F1 QAT &1
Section - A
T - o
1. (a) In a 2x2 pure exchange economy (with two
consumers A and B and two goods X and Y) the
initial endowments are W, =(12,12) and W, =
(24,0). Their utility functions are
U,(X,,Y,)=0.5InX, +0.5 InY, and U, (X,,Y,) =X, Y.
o 9
2x2 3 R erefermea & (& ST A o B, &
Eng}{aﬁ'{'&')mﬁmﬁ%lﬂﬁ‘lﬁwh = (12,12) <fix
Wp = (24,0) &1 57 Swaifmr e U, (X, Y,)=0.5
InX,+ 0.5 InY, &fiT U, (X,,Y,) = X, Y, %1
(i) If competitive trade takes place between
- them, find the general equilibrium price
ratio and allocation.

“ﬁ'ﬁhﬁ%ﬁanﬁwﬁwﬁm‘g,ﬁ;
il ST FeT g @R ST T Hifn
2
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(ii) Can you find whether at this equilibrium
allocation any agent envies the other ?

T MY 77 ey GH © (B 30 Agad ’Eed H

RRelt ot woie @y qat @ i ge 3 7 |
(111) Is this equilibrium allocation fair ? Why or

why not ? ' ‘

T qG e omEe o & ? @ A i T ?

(b) In the context of a pure exchange economy is it

possible to have a Pareto efficient allocation that
is not an equilibrium that can be achieved by
competitive markets ? Use an Edgeworth Box
diagram to explain.

2

O I Rifma orfamar & wed ¥ = a8 9 B
as TXET RIS T S R @6 Wge el ¢ S Ak
ff et 2T ST Rear ST ae & ? @ee @ e o6
aorgef dfF SME FH IGENT HIT |

(c) In the context of a pure exchange economy

explain the second welfare theorem. 5

o g RfmE srefemEear & deof § wearr @i i
v <Y AT T |
2. .(a) Five students A, B,C,D, and E are to decide who

will be the leader of their group ? Their ranking
from most preferred (at the top) to least preferred

(at the bottom) are : 7
. 3 . P.T.O.
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qier ot A, B, C, D 3T E @1 7w e e & f 3o
g @ Sar @ e 7 I arerfrrnendd oA el
(e Fwe) @ wad A T (e Aia) Fe i

Student —» | A B C D E

B —

Ranking |,

srafread |,
A B B D D
D E C O C
D C A C B
B D D A D
C A E b A

(i) If they decide their leader by rank order
voting, who will it be ?

afer % e AT & A& I A A G HQ
¥, o 9o & o 7
(ii) 1f C does not remain a contender for the
leaders post, but cach voters rankings
remain the same for all the other contenders,
whom will they choose now ?
gt C¥ar aw & fero aftrd] T Twen &, 9t
oo aret @ e g & afomfiif & g I
Wl B 1o A faswy AT 7

(iii) What do your answers to parts (i) and (ii)
illustrate ?

MBI ey (i) o (i) @ waiy # 7
, 4 .

Scanned by CamScanner



8879

(b) In a pure €xchange economy the ordinal utility

functiuns of two agents A and B are given by
Uﬂ(xﬁ' Yﬁ.] = X.a. + 4y and U" (Xu*Yu] = 4){“ + Yﬂ
respectively, Agsufn?ng that there are 40 units
of X and 40 units of Y in the economy, mark (i)

.thE Pareto set ang (ii) the set of fair allocations
In an Edgeworth Box, - | 6

% AL AT arefargen § 2 e Ao B & His
ST ey zpmr: U, (X, Y0 = X, + 4y, st U,
(XgYp) = 4X, +Y, R 7 & 7 7y g Br oveferemen
H X 40 swaf otk Y 9 40 3t B, w oraed
A T (i) T3 Az ofie (ii) Y it A ik B & |
Frower omdes @ {e, e HiRm
In an economy the utility possibilities frontier
1s given by U,+ U, = 8100. Draw a diagram and -
explain in which case(s) will social welfare, W,
be maximized necessarily at an interior point.
6

uF efeggeen A I9RPrar o HIFAT AT
U,+ U, =8100 21T & 7€ B us omt@ dift ofix

e s RRE AR (ST ) & i e (W),
Ifard = | oAt g 9T sy @

(i) W=max(U,Uy

(i) W= aUh+bUB 'a,_.b?{)
(iii) W=UUs - - .
' = ik "P.T.O.
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dUCtiﬂﬂ Df gﬂﬂd X_ Cunrcrs s
o the praducer of Y through o
s cost of production, Speci

hEﬂ'Bﬁts 0 Edu{:ti[}n

in the latte . fically .

Clx) = X*/4 and CLy)d— ¥ /2 = 20x are the total
cost [unctinns of goodads X‘ E.lnd Y rcspggtivcly_ X
and Y are sold in competitive markets at prices
px = 30 and P, = 90 respectively, 9

Clx) = x*/4 2T Cly) =y?/2 N 20x, FH9: X ofiT Y &

FF  ArmTa BAA ¢l X aftr vy
m'ﬂ?rvﬁaﬁnﬁﬁ?fﬁqﬂ:ﬂ=30&hpr=gg;ﬁ;
et 97 49 S & |

(1) Find the amounts of X and Y produced and

their profits if each producer opecrates
independently,

xaﬁTY?ﬁrWQﬁW¥maﬁFﬁmuﬁa‘ﬁt
SIS AT WY P I w5 E

(ii) iind the socially optimum amounts of X and

%Yﬂmmﬁlwwm

(iii) Fj - |
I] al:?]d the tota profits at the socially optimum
D'l._ll'ltB qfx and Y. ‘

xﬁh‘f‘fiﬁ =T FT N
M e uWwﬁmw %

6
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(iv) Find the amount of subsidy per unit that
the producer of X must be given in order to
induce him to produce the socially optimum
amount,

X a5 B S 9 o 308 qieas! Hl A T
FIRTT S IY X 5 TS SEdH AET IR
T D AR ey B R IMTTF ¢ |

Explain why, in a system where people pay for

their own education, there might be
underspending on education. 4

O QEl STl <t @ oraen R % R = e
A &, T8 R g o9at @g T8 § @ g, /i
ET T |

In a town of QO,bOU residents ‘security’ is a

"public good. It costs I500 to provide a unit of

'security’. The marginal benefit (MB) of a unit of
‘security’ to each resident is given by MB= 1/
(1+G) when G units of ‘security’ are provided.
What is the Pareto efficient amount of ‘security’
for this town ? 6
20,000 Padl & TF T § wel & gun o
Qs aeg &1 WET A FR FET HA B A
500 T afy T ¥1 AR e A gew B G gHEd
ey e A & A Sl Rrard @ aeT @ gen #
S @™ (MB), MB =1/(1+G) R mar &1 58 8¢ %
R oreT 1 GO A R aEr X g § 7
7 . P.T.O.

Scanned by CamScanner



8879 .

4. (a) Arun and Barun are deciding whether or not to
buy a TV for a room they share (if bought, it would
be a public good for them). Arun’s utility
function is given by U,= (1+G)M, and Barun's by
Ug = (3+G)M_,, where M, and M are the amounts
they spend on their private consumption
respectively. G =1 if the TV is bought, and G=0 if
itis not bought. Both of them have ¥ 60,000 each
to spend on the public good and their private
consumption and the TV costs T 50,000. Is it
Pareto efficient for them to buy the TV ? Explain.

6

ITET I T6T 9% FT @ & 5 T 0F Y B RO vrad
A WS & O SR Wi o A (5 @i s, & aw
?ﬁ%ﬂﬂﬁaﬁmaﬁﬁfﬁ)mmaﬁﬂmw
U= (I+GM, & zmo Rar w1 & ot 3= o Ug =
(3+G)M, & zrw R mar &, <@t Mot M, 7mar: 5%
P ST TR e A ARG = ] TR 4T @I
mfﬁir,ai‘r{6=0mm:=m”aﬁﬁmﬁ1%mﬁrﬁ
ﬁﬁﬁm%mmﬁmaﬁaﬁtﬁﬁtm
W @ FH @ BT 60,000 7 g T ¥ = e
50,000 3 %ﬁrwaﬁmﬁwmmwﬁajﬁm
g ? e Rt '

(b) Two types of gas-lighters are available in the
market : high quality and low quality. It costs
{100 to produce g gas-lighter of either quality.
Consumers value g high quality lighter at

¥120 and alow quality lighter at ¥ 50. Both types
look exactly alike SO consumers judge the

8
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quality of g Ras-lighter avatlable in the market
by the average quality sold, There is a large
number of sellers in the market, In equilibrium
what fraction of producers will sell high quality
fas-lighters 9 Use o dingram to show the
determination of cquilibrium quality. 8
WX N Y g & Ryg-aingex Swer & @ I o
TR T P Wergar a1 fEd o e @ oo
AH-TTX &Y 2 gy 100 & 1 ST 399 T
T W AH-wge @y 120 ¥ i w § aie fres
e A R 50 T | A TR & AR-ege g
F REd ¥ wein awis acmt N IgeEr er a5
Pt am § A wr) arelt ofrwer TEverEr & ana aT
FIA &1 aR F Redenoll 1 o @1 den ® 1 w@gem
X S R W 3o e 9y T e @ e ?
TET ToEwT & P )t Ram & g s et @
IIGIT FA | '

Briefly explain the problem of Moral Hazard tha
arises in the insurance industry. S

T AT § SO 9 9 s @ey ) geer &
Tiad =9 § 99 |

Section - B
s - q

Two players play a game in which each has three

possible strategies, player 1 has to choose from
Top, Middle and Bottom, while player 2 chooses
from Left, Centre and Right. Their payoffs are
given in the table below :

8
9 P.T.O.
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ey R
- a.ﬁ . ' ﬂﬁm ﬁ? am i
a feres! arefRrAr &, FETEHI;"[ 1 &t 'Jf:?;

gyrfaa 1 T 9Tar :
s :nﬂﬁﬂg'{m 3 l*mm—’rﬁﬁﬂt{rg;ﬁ

uﬁ'ﬁma?{rﬂﬁfaﬂmﬁlmnrﬂw:ﬁr&ﬂ mé
NS LSl
player 2
Raemsl 2
L C R
Player 1 T 3,2 5,2 1/2, 4
faemrst 1
M 4,3 7, 1/2 ] 3,1
B Se 9,-2 2,3

(i) Does either player have a strategy that is
strictly dn;ninated by another ? If so which

one(s) ?
T e Raergi 1 o T & S g@l & am
& § gl & ? 3% &, o we-d 7

(1) What is/are the pure strategy Nash Equilibria
of this game ? | .
W@ﬁﬂgﬂ’@ﬁ’[ﬁfﬁqrﬁ@?ﬁrﬂﬁ?

(iii) After removing the strategies that are strictly
dominated, find the mixed strategy Nash
Equilibrium of the game.

T R ey ot i P § T, 49 3
PR <oy 9T e A S o |

10
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(L) Tom and Jerry, both can hunt for food from the
same Kitchen ejther in the day or at night. Each

prefers to hunt ot night if his opponent hunts in
the day and each prefers to huntin the day if his
opponent hunts at night. Given his own stratcgy
cach player prefers the outcome in which his
opponent hunts at night. to the one in which his
opponent hunts in the day. lf‘ur'mulalc the
ordinal payoff matrix and find the Nash
equilibrium of the game. 6
mahrﬂﬂ,ﬁwﬂmﬁﬂﬂﬂmfﬁmmﬁ
W T ¥ 1 9T T A H e Ao & d g
ﬁ?ﬁﬁm@wqﬁﬁmﬁlem%ﬁjﬁﬁﬁm
Gierar B, @ gEq Ta § Ao @O 96E B § |
STqEt XOEIRT A YEd BT N Raendt S§ N #@
Rrad wRrEsl R H Ao dieer & & e Ia i
B qdg Har & Rl sREd ta F Ao e g
7R AferRe ATEed aATET ST A H AN We S
1zﬁtﬁ=rc{|

(c) Explain the two player Stag hunt game and its
Nash equilibria. : 4.5
& faard ©F B AW o 3@ Aw g A

e | *
D R -P.T.O.
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le chooses whether or not to

‘n' peop
6. (a) Each_;l;t;‘af?_mﬂd amnunt_mw&rd's the provision
;?El;ublic cood. The good is provided if and only

if at least k people c?ntributc towards it where 2
<k <.n Contributions are not refunded if the
-;ubli: good is not provided. For each person the
outcomes from best to Worst are ranks as follows :
' @it § A oG ann 96 TN & 6 ow adens
5 B SEaT & e OF M9 WA F G s
% 1 781 | gE a5 Sad THl 52T B AT B owg g S
WkwmmWﬁmgikgn'w
araE A A S B O WSS a s wd
W%Iﬂﬁ’ﬁmﬁﬁimmﬂmﬁww

- Best : The public good is provided and she does
not contribute,

H&%@:Hﬁmﬁmwmaﬁrﬁrﬁr%aﬁtwﬁnﬁm
T T B,

Second : The Public good is provided and she
contributes, :

m:mﬁ“qﬁmaﬁw&aﬁj{aﬁm

Third : Th : ' .
4 € Public gooq s not provided and she
28 not contrityyy,

Ehm:“mhz}; '

12
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Worst - The
cuntﬁbutcs_
T W ey ey 7@ e 1 A & AT T
_il T e

Find the pure strategy Nash Equilibria of this
strategic game. 10

T TR G & o T 397 HgAT TA B
Austin starts thig sequential game where he can
BO Up to Jane (who is reading a book) and either .
snatch it or refrain. If he refrains then he gets
no utility while Jane gets +10. If he snatches
her book then he gets a utility of +5 and Jane of
~10 provided that Jane doesn't retaliate. If Jane
retaliates (after her book is snatched) then
Austin's utility changes from +5 to -5 while
Jane’s utility changes from -10 to —10+x. Draw
the game tree (extensive form) of this sequential
game. For what values of x will Austin snatch
her book in the subgame perfect Nash
equilibrium ? 8.5

St 3@ STIHESD G B S BT & T T8 T
a5 7 AT § (S T IEw 9o W@ ) ofiT ar & 9%

= o JaT & A1 TE BN 9 81 ST 98 T8
v i B G SR 9 ST T Frerdh s S
& 10 st S ¥ 1 TR qF Iae! R H € aran
3§ o8 5 @ STATTT Pt 8, A S 9 -10 v/
aqzﬁmﬁ[ﬁqaﬁaﬂnwaqmm%(m%
e T BT S ST R) 4 ot B s 5 @

Public good is not provided and she

(b)

13 .- P.T.O.
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s 7 et B, 0 ST 10 8y,
ﬁmmﬁri’ﬂgﬂa@fﬁmzﬁfv BT TIeT g (F':Rﬂﬂ =)
ofifene 1 x @ FE ol ‘IT:.-ﬂF(Eﬂ' ST afrgof S
ﬁ@_:rrrﬁ gral P g 7

7. (a) The market demand function for good is
given by P = 1000 - 2Q. There are twq duopolists
] and 2, producing this good, with their respective
average and marginal costs AC, = MC, = 200 and
AC, = MC, = 240. Find the Cournot equilibrium,

price, quantities of both duopolists, and profits

made by both. How do these change if the second
duopolist is the Stackel bergleader ? 10

T TR EH AR HT FH P =100 - 2Q &z fean
T %1 991 9 9% B gt Wi ofT ofrae arr
AC, = MC, = 200 afX AC, = MC, = 240 & 7w &
fa-foardt 1 et 2 8 i Fa-famidi & e gt
AT e, et =, ofiT St E ST wr S
#ﬁqlﬁﬁﬁﬂmﬁ%qﬁmﬁ:—fﬁaﬁlﬁﬁwmﬁﬁm
g7

) The market demand curve for widgets is given

| by P = 200 - 2Q, Two homogeneous duopolists
P::;lucmg this identical product both can
Enli;?tzgs Much as they want (that is they have
Capacity) at a constant average and

margin . . e
i.e, bgﬂt;l cOstof?s0, 1f there is price competition

Period et their Prices simultaneously {inra one
| SAme] what will be the price of widgets

14
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and the total profits earned by the two duopolists
together ? - 4
Rreea 3 faa amre bt @ P =200-20Q % @I e
T ¥ & geEd fa-ferd o FEEd S &'
I FT R E, F O O AT SfTAd AT {Ed
50 T 9 @I 9T feren =16 ST Sned BT AEAT &
(oTeT: T UrE Sres & orditaa erean g) | g get 9
U AT & I Fad aa w ¢ | STy @ wma =
Bt ofre A Fa-Teramfedi arh et AT {a @
feper=m &rm 7 |
What does it mean when we say that in the price
leadership game of differentiated duopoly the
leader plays a puppy-dog strategy ?
_ 4.5
THH FCd F1 & I B FHod & b [ fa-Retat
& e g A A N OF TR ORI Feren @ ?
If the demand curves of two consumers who buy
from a monopolist are given by p,= 9 - 0.5q, and

p, 8 - -0.5q, and His constant
AC = MC = 4. :
afe &Y ITHH N OF THEITHQG § Thed &, B 57 95
p,=9-0.5q,3Tp,=8-0.5q,3 zrar Ry 7 ¥ ofic
wepeRrd @ RATAC=MC=4 %,

(i) . What will be the O, Tariff ?

O, 2R T aGE Y ?

15 P.T.O.
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(b)

(c)

\ linear tw
timal O part tqppe .
(ii) what (;Pif the entry fee myg, be Anr iy be

c
chu;gthc consUMErs ? Whay o Same for
I;fi::c paid by each consumer 7 ® Average

6.5
! - q )

B TR 7
(n a Natural Monopoly, use a diagr

how a two tier Pricing system can p,
way to solve the marginal cost Pricing

o explain
u.sedﬂSa
dilﬂmmﬂ.
W@Wﬂ,ﬁmﬁ?ﬁﬁmﬁqqﬁsﬁm:ﬁm
mﬁ%mﬁ%mﬁ%mmﬂu@ﬁwmr
1 Sqdr &0 fRar TR & T F Riw o o

T IIET HAT |
For a monopolist if the demand curve is given

by Q n P and his constant average and marginal
cost i1s C, find the ratio of consumer surplus

- under monopoly to consumer surplus under

perfect competition, - 6

IR TR 3 Riq w7 9% Q = P23 Er R

T & ST 6 Rer ofverer i e @ C &,
e % it S e o G SR

16 3000

— T —

Scanned by CamScanner



This question papey Contajng 15 printcd pages)
Roll N, |
S, No.ol Question Paper . 9993
Unique Paper Code . 12271402 | IC
Namc of the Paper . mt‘:nnet'lhltt Macroeconomics-l1
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Semester .\
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(Write your Roll No. on the 10p immediately on receipt of this question paper.)
(Y8 97A-97 B firen) @ s fag g Prddfea v U Sn SEEE fafed)
Note :— Answers may be written either in English or in Hindi

but the same medium should be used throughout the
' paper. ' ,
feoquit ;%@ WEA-UA 61 W I ar et et we wm
' ﬁﬂmﬁﬁﬂwitaﬂﬁimwwﬁﬁm
=ifeq|
J Answer all five questions. Altempt any fwo parts from each
question.”
All questions cay equal marks, 15-marks each.
it e v @ I A T g @ el D
aril T m ﬂﬁml

wgﬂ‘iﬁ:ﬁ“m% mmﬁaﬁm%l
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In the larrod's model, the interaction between the
accelerator and the multiplier can lead to upwards or
downwards instability depending upon the initial

configuration of cntreprencur’s cxpectation. Explain. 7.5

() - Supposc in the Solow Model output in a country
is produced with the production function ,
Y = AK9L!"® | where 0 < a < 1. Capital
Idcpm:intm at the ralc & and productivity, A, and
‘saving rale s, is assumed constant. Supposc initially
cconomy is al.lhe-slmﬂy state with constant .

population growth rate n;. Depict the steady state
equilibrium in a graph. Now supposc there is a
onc-lime mnm: in immigration, perhaps due to |

the influx of refugees from a troubled foreign

country. Use the m graph to illustrate the

short-nun and the long-run effects of this on the
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(i) Describe graphically pow -an economy atiains

golden ruje of capital qccumulation. If an cconomy

starts witly too little capital, show the transilion

-

path of output per worker consumption per worker

and investment per worker [0 reach the golden

rule steady state. 3HS

@ (O AssumingAi=1and®=0 explain how a onclime

increase in the productivity of research as

measured by an increase in & would affect growth
rate and the level of technology overtime in the

Romer Model ?

(in Explain why the share of population that works
in the research sector is less than optimal in the

* Romer Model. 4543

(37) e B AT F, TE S w & e
fen Sl W i o F

P.T.O.

e ———
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(@) ¢ A eifee fF 0 H Aen wea §
e HEA Y = AKOL!¢, SEf 0 < o < |
& g sefea fFm smr # S oW os
3N TEEEM A, SR "W o, s, W FRw
fert wm s 1 owE difo B oy |
& aiforen R e saen § fer

- SHEEN giE T o, ¥ OAE A AN ST
Fged w1 fam wif em Am e
o A o oW ogfe @€ %
TR TF AR @Ry /@ ywonfdat @
m%mlﬂﬁmﬁmmmm
3R T T e @ el W faf

ﬁ*mﬁﬁﬁ‘ﬂ‘rﬁﬁlwﬂﬁml

() W s o e 4 e e
T % @i fom W oW wwE
W T S ag w9 I F w
_?I{“ﬁl?ﬁ% ¥ s SO B S
S s i st v s frim
TR fm i oo ™ W @
e i
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( 5 )

(H) 0] qﬁ‘-ﬂ'{‘qﬁfﬁ;k-lm‘[ﬁ;{}% e

(a)

()

aﬁﬁaﬁgﬁﬁqﬂ_’%ﬂ]ﬂﬂmﬁuﬁ
mﬁ@mqmﬁﬁmm
=7 3R Wit

® ww oay wfam o 2

(ii) %mn’fmﬁwﬁuﬁﬁmmﬁm
wen @ feen T WA FH A
§? =ren wifaal

Iﬁ the Life Cycle hypothesis an individual’s consumption
is proportional present value of future income. Explain
the factors that determine the present value. Assuming .
capital markets to be working efficiently, if there is an

unexpected increase in income from real estate how

would it affect consumption ? 75

(/) State the assumplions concerning Friedman’s’

permanent income hypothesis, Using his analysis

showing the variation in average consumption and

~ income over the busjpess cycle explain why

MPC < APC in-the ‘shopy run and APC MPC '

he long run
in the lONE 55

P.T.O.
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(i) Why ‘is the model less satisfactory than the Ando
i

Modigliani Model 7 2

() (D .In a two pcriﬂd (period 0 and period 1)

consumption optimization model given by Irving
Fisher suppns;: the individual's ¢; < )g Where
c is consumption, ¥ is income and r is the rate
" of interest on borrowing and saving. Consider a
consumer’s preferences over current and future
cunsumpiir:;n given by U (c;. ;). Show the utility

maximization point with the help of a figure.

(i How would his consumption be affected in period
0 and 1 if income increases in period 0 and if
interest rate on savings increases. Consider

consumption has normal good property. 3544

(3 o e SR | T R S
| W@ w o T Sl S4RE T ¥ adae

7w frdift w0 @ wE W osren Fifm)
o T Ao A e dn d wW o W A
| A, A e Wy o # aweRm s
® A w i 9 3wk wm?
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(D 0 Wqﬁﬁﬂmqwﬁ
S T

A g e B W 3 i
AR oy § fira F S0 EL A TR

5 sreqmm # i < T IR i
A wirg - ot w@OwA E? :
(i) T Tizm d Afefoar WsA A w
wigors w4 §?
(F) » T femm gra @ T [ @iy
_ (3mfy 0 3k amfa 1) IO W
Hiew # #F difog f6 =i @t o <y
- Sl cawim }, , am ¥ SR, ew
WWWW?{E U (cp ¢,) BRI
QT adE IR v § i Wi
- F I W @i et
H GeEda ¥ITQfir v fig
feamsd |

() 0 1 T gy $ ik

P.TO. -
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(@ () Explain the gradual adjustment formulation of net
investment in the ncoclassical approach. Explain

how the increcase in the expected output;- an

increase in rcal interest rate;.and a tempnm.ry'

- increasc in investment tax credit affects liv: rate

of investment. 5

(i) Explain the g theory of investment and how it is’

uscd to determine housing investment. 25

(6) Determine the equilibrium portfolio- choice of a
‘diversifier” in the portfolio balance approach. Explain
with the help of a figure why the demand for money
must d:.crensc by progressively smaller amounts as

- interest rate increases by constant increments. 3+4.5

(¢)  Explain using an “appropriate model why transactions
demand for money increases with squarc root of income

and decreases with the square root of interest rate. 7.5

() o Frieafess e 3§ 1o fhw @ s
S AT #) e Ffi smen
HINY % aifi soew § ofz Ao
N R A ofg; sk A= Sfse §

W"iﬁﬁamaﬁatﬂﬁﬁyqﬁa
CIGi-w)
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(if) ﬁ%%ﬂwqﬁm@ﬂﬂﬂﬁﬁﬂr{

Y frag = Froffa w0 T T
W g3 fe oW 7 |

() TR 4t e 3 Rl F wwi
NERRTY fireq oy Frufeor T T A
AR A wm fe AR T F
TS R gfg @ w7 A TR B AT FE
FH WD W ww @ oA el ?

(¥) 3 Hew w1 swim wE T R -2
& fw g A o oo @ A v P owm
TG R X I EWM R D T T H A
T2 W &1

4. (a)" - () Explain the factors that affect the debt GDP ratio.
How does an increase in inflation and primary
budget surplus affect the debt GDP ratio ? Explain

why private investors would be unwilling to hold

" govemnment debt. 5

(i) What B the merit of sing cyclically acfjusted deficit ?
. What are the implications whe cyclically adjusted

 deficit is positive .9 iy

P.T.O.
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(b) The Phillips curve is given by

T, = T - @ (u, - H'")

Supposc the central bank has an inflation target =*.

()- If the central bank is able 1o keep the inflation
rate equal to the target inflation rate every period,

will the cconomy experience fluctuations in
unemployment ?
(i) If the natural rate of unemployment changes

“frequently will the central bank be able to hit the

inflation target ?

(iif) Suppose a = | and the central bank is keen to

reduce the unemployment rate below the natural

ratc by 1 per cent how will it affect inflation

overtime 7

(v) What is time inconsistency of optimal policy and
which ﬁolicy can be used to overcome it ?
L 1.5+1.51242.5

(¢) . () Explain how asymmetric information problems
hinder the operation of the financial systems ?
Discuss the ways in which the government can

improve the quality of financial information ? 5

(i) Outline the key equations of the basic DSGE
model. - ‘ ‘2.5
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Mafis ooz sfrdia § 3G F8 F-SE
%aﬁﬁmﬁﬂ‘ﬂm%? it Frderes

€2 oen @il
(i) Tty =g § gadfaa @2 H IEM F@
mmw%?aﬁqmﬁmﬁaﬂﬁ

(ﬂ)mwﬁﬁﬂuwmm
TrﬂT'I'I:!.’ :

r, - m, = -a (4 - u)

mﬁﬁqﬁnﬁmmg&mﬁﬁtaﬂ;f%n |
o T FEE IF v@w omb # wrAh |
R F A EER g SR 9
@1 H W R, A F sydoraen AT
i W wW oapE sy
iy A AT T Wpfw o s aqEd
N I TR e @ T w5
# |EH BmM?

P.T.O.
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=3 B TEF € T Tl w® o
Wﬂmﬁtﬁﬂmﬁ'ﬂzﬁim?.

;ﬁgﬁ%fﬂiﬁm:ﬂﬁiwmﬁm

frm w1 GFd &7

(@) ¢ v waRA 5 e gE R e

(in)

(¥

fadg wonfadi & oA ® 9 STl
%?maﬂaﬁm%ﬂf%ﬁﬁﬁﬁﬁm
foita g +t oA § gUR ST Sl
gl |
Eﬂﬁmﬁ%ﬁ%mmﬁ
wRE R wif

What are the two types of asset prfc: bubble and
which one possess a bigger threat to the financial

System ? How should central banks respond to

asscl price bubbles 7 | ' .5
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(o)

(id) “’hal is the source of busin

(i)

0

(i)

e

693
(. 13 )

ess cycle in the policy

Ineffecyiveness proposition ? Does it provide a
. * )

Slisfactory explanation of business cycles ? 25

How does an adverse Supply shock affect the

Production function and labour demand in the RBC
model 2 What are the limitations of these

models ? - 5

Examine the effectiveness of Scignorage as a way

of raising revenues for the government. 25

A central bank that follows the Taylor rule will
stabilize activity and achieve its target inflation rate

in the medium run. Explain. 4

Given govemment budget constraint, suppose the

‘budget is balanced till the end of year 0. The

gmumnaudmidmtodcnmm:shyl in year l.
Find out the amount of primary surplus that is
necessary o retire the deby in year 1. If Ricardian

equivalence holds how would the tax cut affect

the economy ? , 35

P.T.O.
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Core

Name of the Paper : Introductory
Econometrics

Semester : 1V

Time : 3 Hours Maximum Marks : 75

Instructions fqr Candidates :

qheniRial & R R

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

=H HI9-UF @ W o 9% g g 97, 9
T Fax o 1
(b) Answer may be written either in English

or in Hindi: but the same medium should
be used throughout the paper.

= 99-9% B Il AN ur @ fear &
arqr & e, Al T IUT o & A A

B =l
' P.T.O.
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(c) Answer any five questions out of Seven.
g # A Rl 9 99t @ e QR
(d) All questions carry equal marks.
gl geAl & ofF WHT # |

(e) Use of simple non-programmable calculator
is allowed. Statistical tables are attached
for your reference.

A I Segele] B I9ERT @t g &
A B oMY e & fw wiems 2aw
q9H-95 & aid ﬁ_iﬁmﬁ%l

1. State whether the following statements are True

or False. Give reasons for your answer.
5x3=15

Tasy f Pr=fiRaa sae O £ a1 of9w | 39T
ST &g T | AT |

(a) In a regression model InY, =B, +p,X, +u,,if

B, 1s multiplied by 100 we obtain the growth
rate estimate of Yi.

WA (regression) HfE In Y; =B, +B,X; +u;,
5, 3 f, 1 100 A Tow Rear o & v Y, A
I & T e (estimate) SIT<T B¥T 2 |

2
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(b) In regression through origin models the

conventionally computed r* may not be
meaningful,

T g (origin) & wareraer a1 miswi &
TR w9 § 71T 12 Preefes 8 aear B
(c) Insimple regression model Y; =f, + B;X; +ug,

the OLS estimators f§, and f,each follow

normal distribution only if y; follows normal
distribution,

T qHEeT Jee Y, =B, +6,X, +u, ¥ OLS
- ARl (estimators) f, T B, & ¥ Tedep o g
(distributior)) ST (normal) T gy & i
U, T I TATH B |
(d) P-value of a test statistic s equal to the level

of significance,

feedl <iTer SAesieT (test statistic) a7 P-H1 Qrefemar
&Y (level of sigﬁiﬁcance} G ElTEr{' BT B

3 P.T.O.
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(e) If the estimatc of slope coefficient in a
bivariate regression is zero, the measure of
coefficient of determination is also zero.
gk o f&-9 291 § grar ons (slope
coefficient) =T ST =7 ¥, o1 Framer Tons
(coefficient of determination) =1 =19 i =
BT |

2. (a) You have the following information :
AR Fr=feTrEd gemm & TS §
SX = 1680, TY = 1110, TXY = 204200,
Y. X?2=315400, ¥ Y?= 133300, n=10. Assume

all assumptions of CLRM are fulfilled. Obtain

A1 #If1C % CLRM i @1 5raid. dwge Srit
g | PR 1 s HiR

i) B, and f,

Boa B,
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(i) Establish 95% interval for the population
slope coefficient f3,

A (population) @Il T’ﬂzﬁ B, %’@ 95%
fRgar&raar et (confidence interval)
(iii) R? 7

(b) Average score of students in a certain exam
are known to be normally distributed with
mean value 75 and standard deviation 9.
Some coaching classes claim that it is
possible to increase the average score of
students with an additional use of their
study material. It is believed that score with
additional study material would remain
normally distributed with g=9 . Let H
denote the true average score of students
when additional material is used. | S

T% 317 & 6 Rt aden & Renfiiay & oftaa it
(score) Tl =eT SATHIY & RTAeH AT (mean)
75 9 TS e (standard deviation) 9 81

ITANT T 39 A SR ! TS AT Thell & | TS
AT rar & 6 S1fdfR<h Irea-arEl & Arer S
 opT =T STATHT &1 T RTHen! 79 [A=e g=9
B | 719 e BF p StfaRes qrem arnht %
ST & ATy ferenfRiET @ arfaeh i (true score)
gl

5 P.T.O.
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(i) What are the appropriate null and
alternative hypothesis ?
Iugsh Y (null) T d5feges (alternate)
qReeaaTd (hypotheses) a/r § 2

(i) Let X denote the sample average score
for 25 randomly selected students.
Consider the test procedure with test
statistic X and rejection region x>77.9.
What is the probability distribution of the
statistic when H, is true ? What is the
probability of Type I error ?

HIH I BF X agiRes dik 1 (randomly)
AT 25 RenfEt $ age 3 whast o
i (sample average score) ¥ | i sfester
X T IEfiBER-a9  (rejection region)
X2779 @i St 5fFar w ReEr Hifm
e H, T 8 a1 wivaelor st g
[Probability distribution) s &7 7 I
:iﬂgi’é (error) =t Miyepqr (probability) sy
?

6
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(iii)Using the testing procedure in (ii) what
is the probability of type Il error when in
fact p = 80.
(if) & €t ¢ Sier ik @t TETEAT | JAEe 5
11 ST 30t S Yt snifdreRa )T B A area
T u=80.
(c) Inaregression model, Y, =p,+B,X; +u;, show
_that the mean of actual Y; is equal to the

mean of estimated Y; . 3

g diee Y, =B, +B,X, +y; , ¥ I93¢ [
QIS Y, 1 H1eH (mean) SAThed Y, & AT &
FET BT 8 |

3. (a) Consider the following simple regression

model
price = 3, + B, assess +u

where price is the housing price assess and
is the assessment of housing prices. The

estimated equation is :

7 | P.T.O.
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Rrifaferr Teel TAPAAY tea qr fampe fm

price = f3, + [}, a8sC88 +u

STBT price atrardf @ ST B 41 agsess FrArt
i el @1 ST T | SEfer el foey
SERIX €

price=-14.47 + 0.976 assess

t=(16.27) (0.049)

n =88, SSR = 165644.51, r?= 0.820

(1) How will you test the constraints fi=1
and 3, =0 in the above regression if you
are given the SSR in the restricted
model as 209448.99 ? Conduct the
necessary test(s) at 1% level of

significance and give your conclusion. 3

UG AT 7 o1rq ivaat (restrictions)
Bi=13 B, =0 ar odieror 6w wepk w7 a2
| SUH R gor & R afwataa amremor
(restricted regression) # SSR & HIT -
209448.99 ¥ ? ayrayges THET (TEETT)

Wﬂ%ﬁﬂ?ﬁhﬁﬂfﬂiﬂﬁﬁﬁd
ST |
8
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(i.i) Suppose now that the estimated mode]

18 .
319 A Tiifera 35 atrepfera AiSe M1 SRIT § -
price = fB,+ B,assess + f,lotsize +

Bysqrft + B, bdrms +u
where

s

STel

lotsize = the size of the lot

= WE BT INHT

sqrft = the square footage

- & g A

bdrms = the number of bedrooms

= TRl i TET

The R? from estimating this model using
the same 88 houses is 0.829. Test at 1%

level of significance that all partial slope
coefficients are equal to zero, 2

Sl 88 #l Werddl | 9 Hisw ¥g R°0.829
& 1 1% TTefehar WX 9% 39 916 57 g heyor a5
RF Tt oTiferp (partial) @ e & =T
LA S IUEAT 8 |

9 | P.T.O.
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(b) Let X ~N (;u.u’), Consider two independent
random samples of observations on X. The
samples are of size n; and n; with means

X, and X, respectively. Two estimators of

the population mean are proposed : 4

A AR X ~ N (1,07, X o% arewt & &1 =
gefese (random) HE2AT (samples) X =X
HITT | 7 ARG & ST FHHA: ny T ny Tl
g X, 9 X, o) AHRke HieH % al SAheh
(estimators) s e s €

}{_,+}{:, T n,}‘-(_',-knz}(2

2 n, +n,

Check whether these estimators are

unbiased and calculate their variance.

7 STl B ST (unbiasedness) ¥
ST HITT 7T 39S FAON (variances) @I 3T
——
10

Scanned by CamScanner



9134

(c) For each of the following pairs of dependent
(Y) and independent variables (X), pick the
most appropriate functional form. Explain the

reason for your answer : 6

Fr=feifaa § @ T (dependent) (Y) 9 @@=
(independent) (X) =<f & Sl g9 &g, AATH
IUgeh e ®9 (functional form) & =47
T | I IwIX o, PO AT |

(i) Y=demand for food X=price of food
Y = 919 @ J4F - X = Hior @l B
(1) Y = AFC of production X = output
Y =3@ET HAFC X = 3d=
(1) Y - Population in Indja X = time
Y = ¥Id § Sae X = 99y
(a) In a regression of average wages (W) on the
number of employees’(N) for a random

sample of 30 firms, the following results

were obtained : 6

11 P.T.O.
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anﬁ%@@m%@aﬁmw
(W) & i@l & Wear (N) 9 qareger &g

Fr=iferfaa Qo 9% 8T -
Regression 1: W = 7.5 + 0.009 N
GH21T 1:
t =(16.10) - R?*=0.90
- . W 1
Regression 2 N = 0.008 + ?.B'P—q*

aqr2gor 2
t = (14.43) (76.58) 'R = 0.99

() How would you interpret the two
regressions ?

M9 9 FHT THHACT A e B 9
SH{T ?

(i) What might be thé reason for
transforming Regression 1 into
Regression 2 ? What assumption has .
been made about the error variance in
going from Regression 1 to Regression 2 ?

HEIAGT 1 B @AY 2 F @R B B
e a1 FROT A THA B 2 wErEEr 1 @
THISET 2 9T S 7 JfE 92 (error term) &
AT & aR 5 R A @ T R 9

12
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(iii)Can you relate the slopes and intercepts
of the two models ?
T AY 37 41 Aisal @ @l (slopes) T
STREVE (intercepts) @ AEA T &l W

G ?

(iv) Can you compare the R? of the two

models ? Give reasons.

9T AT 3 &1 Jielt & R2aA T HT Tahd

g ?@ERor Il
The thickness of the graph paper (measured
in GSM) used during examinations should
be such that it does not tear off easily while
plotting a graph. Let 1 denote the true
average thickness of the new type of graph
paper under consideration. The true average
thickness of the gfaph paper should be
greater than or equal to 20 GSM for it to be
acceptable for all practical uses. A random
sample of size n is drawn from a population
with normal distribution. What conclusion

is appropriate in each case ? 3

13 | P.T.O.
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crfenat & AT ST ot 13 et v e oy
dreré (GSM ) T BN e ff 4w ags ey
Wmﬁfﬁqﬁlwmﬁﬁ“wm
W%Wﬁqqu!ﬁmﬁzﬁ (true)
| amﬁmﬁﬁlmﬁw%mﬁmﬁrﬁzsm&pﬁg
e B T T AP ST 2w 20 GSM
 a1fres a1 ARTE BT ST | AT &e (normal
distribution) Tl Th WHRE T THR n FH
grgfeEe At foral ST & | Fr=ffan § § s
Refy & a1 fFesd I9geh & 2
(i) n=15,t=3.2, a =.05
(i) n=9,t=1.8, « =.01
(iii) n=24,t=-02
(c) Suppose that earnings of individuals are

dependent on whether they are skilled

workers and their work experience over the
years. | 6

HT ST % st % Torgll 39 A W iR
8 B T § B (skilled) €, 7o ST
FAGHT (work experience) AT © |

(i) Define dummy variables to capture
Whether workers are skilled or not. Take
Workers being unskilled as the reference
Categor}r_

14
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AR et & ar =1, 570 ©F TH =T (dummy
variable) gfftr T 13155 (unskilled)
#f¥ehi & 7=f Aoft (reference category)

T &fifna |

Develop a model which 1s linear in
parameters that shows earnings of an
individual -as a function of work
experience and whether they are skilled.
Interpret your model.

STl (parameters) ¥ Y@ (linear) T
e st R AR it s =afn ) oy

I AT T 9T T8 FHI & a1 7, 3F I
% Bl & I IT q9Ifar ¥ 1 ST9 Hisw

- T HiFT |

(iii)

Now assume that there is an interaction
between skill of the workers and their
work experience. How would the model
in (i) change. Interpret the new model.

19 A wiifore 6 39 dfse § i 3 e
T I FRATGHT H U YT TG IH
% AT (interaction) 9= ot ¥ | ST W
(i) = omgepr HAiss BFE s wRaffa &
ST ? ST JIST Sl FEar Hifse |

15 P.T.O.
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5. (a) The results of a logarithmic regression of
demand for food on price and personal

disposable income is given as ; 5
WY A AT B BT T ARET T 3Ty

(personal disposable income) Y O AT
(logarithmic) TATAYT & 9oy frsy TR .

log Q,=2.34-0.311og P, +0.45 log Y, +0.65

log Q
Se = (0.05) (0.20) (0.14)
n=50 R?=0.90 d=1.8
where Q = food consumption per capita
ST8T Q = Uiy AR W 7 ITipT
P = food price
P = 9517 3 e
Y = real per capita disposable income
Y = areatas uir =i g6 e
(i) Just by looking at the estimated

regression, do you suspect serial
correlation in it ?

T T A3 Pl 3C H1T F 79 357 -
;’T‘Er'ﬂ' (serial correlation) &7 W3& BT

16
|
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(ii) Which test do you use to confirm your
suspicion and why ?
aﬂ%ﬁ%‘s’ﬂ%‘rg&mﬁﬁgmzﬁﬂ-ﬁmm
& IGAFT BT J Fi ?

(iiij Outline the steps of the above
mentioned test and provide a conclusion
on the basis of your calculations.
IURIRE TORTOT & TR 1 WAET T T
QTG TR @ AR 9T Frepd dRTT |

Suppose you are given the following

regression : S

qﬁaﬁqﬁamﬁqﬁﬁ@awmﬁm
TS :

Yl = BD+ BIX1+B!XE+”‘1
Do you think the model suffers from

multicollinearity ? If yes then what are the

possible remedies of the problem ?

FqT ATIHI Tar & [ F§ Hiza gy
(multicollinearity) & T& ¢ ? afe ¥ & s g
% THg S99 (remedies) T & ?

17 | P.T.O.
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(c) State and prove the minimum variance
property of the slopc coefficient in a two

variable regression model. 5

o fer qArHT AT H T Iohien § g
ST 7°Te (minimum variance property)ay
fRTiaq 7 R e |

6. (a) Consider the following models : - S
Fr=ieTiad Afsdi oY REr FHiftg .
Model I': InY; = &, + a,InX] +u’
Hiser 1 .
Model II : Iny, = B, +B,InX, +u;
qieer I

where Ya'=‘~‘r’1Yi and X =w,X., the w’s

being constants,

TET Yi =W|Yi q X:=W:Xi’ a?F‘ﬁ w HATYT

(constants) §

18
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(i) Establish the relationships between the

two sets of regression cocefficients and

their standard errors.

FETET e @ g A el & E A
AT & Ao TR wiad i |

(ii) Is the R? different between the two models ?
o/ 57 &1 Hiselr & R2 v & ?
(b) Suppose the CLRM applies to Y; = B.X; +e;.
A AR R Y, = B,X, +&, 9C CLRM @I 2@re |
(i) Find the slope coefficient in the
regression of Y on X
Y & X 9T @AEer H Bt 0T S il |
(ii) Suppose now we have a regression of X
onY, .Xi =7,Y;+V, . Is slope coefficient of
regression on X on Y an inverse of slope

of regression of Y on X, 4

37 HT ST {36 2 A O X 0 Yo% e,
Xi=1,Y, +v, B\ FMXBY I aaregor § @
Ui Y @ X 9T @1l 0TIk 1 FehH (inverse)
graT & ? |
19 P.T.O.
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(c) Using data on compensation per employee

in thousands of dollars (COMP) anq average
productivity in thousands of dollars (PROD)
for a cross scction of 50 firms for the year
1958, the following regression results were

obtained (t ratios in parentheses) : 6

50 FHT & Th TR (cross section) %g g
1958 % Y ARE HHART A (e Serdy )
(COMP) T ATAT ST (FoTR Sherdi ) (PROD)
%eﬁﬁrﬁwﬁﬁ%wmqﬂvm.
ST G (1A 3 t v §)

=1992.35 + 0.233PROD,
t=(2.1275) (2.333) *=0.5891
Since the cross-sectional data included
heterogeneous units, heteroscedasticity was

likely to be present. The Park test was
Performed and the following results of .

auxihi .
x‘lmy Iegression were obtained :
20
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afd argyrer afisHst 7 [ dia (heterogeneous)
'Eﬂﬂ:siﬁnfﬂlﬁ-‘m T, SR T- e (hutcrnskc dasticity)
3 RIseT SRy e pearrar et s a6 TR (Park's
test) Rear mm qum WO (auxiliary) THII
& P aRem s ga e

Inet = 35.817 -2.8099PROD,

t= (0.934) (-0.667) R?=0.0595

(i) Use the result of auxiliary regression to
check if the model indeed suffers from
heteroscedasticity. Perform the test at

5% level of significance.

TETge AHIZECT & TIOTHT H Terar J 9irg

ITTQ {6 T I HiST arad 5§ SARoT-fergsar

A T & | 5% TR W IR gLierr i |
(i1) What could be the possible remedies of

heteroscedasticity ? 6

START- eI B 1 AT SUEIR & Ty & 2

21 . P.T.O.
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wing model was estimateq for

: follo
7. (a) Eﬁfmgsmtcs from-1958 to 1977 : 5
>1fRerr witst 1 1958 W 1977 ¥F THgen 1y

Gﬁﬁwﬁaﬁﬁﬂﬁﬁmwm :

‘ !
¢ = 10,078 - 10.337 D, - 1':*.549{—};;]+
t

l
38.173D, (*{_]

s = (1.4204) (1.6859) (8.3373) (9.399)
R?=0.8787

where Y = year-to-year percentage change
in the index of hourly earnings

X = percent unemployment rate
X = side Ao 25 =%
D=1 for 1958-1969

= 0 if otherwise
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(i) Show the Phillips curve for two periods

separately,
Qi oraftrl Dy RpRrar @6 S-S
Tuiig |

(ii) Are differential intercept and slope
coefficients - statistically significant ?

What does this suggest ?
Fa1 g (differential) 3T=T:@0S 9 @<l
IOTi ARSI {IX T A & ? T F4
garar & ?

(iii)Interpret the regression.

TH WHTAT &l FREAT Hilford |

(b) Two models for Engel expenditure function

are estimated. 5

Gl 99 % (Engel expenditure function)

&g &1 4iSe STrehfRr [T Tq §.
Model I : Y, =1087.930+0.077X,
Afs 1 :

t= (25.58) (21.64) R?2=0.350 F=468.645
23 P.T.O.
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Model 11 : Y, =4005.077+0.3381/X,

Higer Il :
t =(19.259) (-20.816) R?=0.333 F=433.310

where Y, = expenditure on food in rupees
S Y, = Wi 9X 4, 59491 H

= total expenditure in rupees
= T =, T4l

(i) Interpret all coefficient value of the two

models.

& &1 ST & A OTHE D AL B ATEAT
I |

(ii) Are the sign of the coefficients in the

two models contradictory ?

T EF & Afgell § YOl B OE IET
ERb (contradictory) & ?

24
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(iii) Can we compare the results of the two

models ?
T B g oy QIS P GrROMHl @l GO BT
THha & ?

(iv) Diagrammatically show the sample
regression function in the above model.

SURIE Hise & wied GESEcT G H
TaE F weraw @ s |

Consider the following fitted regression

model. Standard error is given in parenthesis :
S

Pr=feifaa STepferd @RIl Hisd W) @R
BT | AT AT Freh T A EE S ¢

Y =-9.6+2.1X + 0.45X, R?= 0792

se = [B..S) (1.98) (1.77)

(i) Do you see any problem with this

regression ?

T SATTH 3T THTSET F Hig GEHET T

Mg ?
25 P.T.O.
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lil! “-}.:‘H_ what is the !H'nlllﬂl‘n 5
of &, @ av TR oo

(i1i) Outline the steps for pcrfnrming dn
auxtliary regression to detect the
presence of problem in the regression

ﬁmwﬁﬂwzﬁrqﬂ@nﬁﬁgw

AT T OF TG S AT Soit 3w
gIvid |

20
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g MWEUT A Uy ol IB‘tﬂ Al s

st ® Qi fiw Al QTR s @ s R
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el v uell & I Dy

A
-
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. al marks, 15m
(d) All questions carry equ Bljkscach_
T S @ oFF T & SR IR 15 ooy

1. Provide an overview of t_hc Macro CConomie
developments in the Indian economy from g
medium term perspective and review the Problem
arcas that neced policy attention.

I Srefeerear & e O SR F 29 oyt
st 1 oo Wi e SR oF o amwy qy 5t
aﬁﬁﬁhnaﬁﬁamw#ﬁnﬁmﬁ%aﬁmﬁw% ?
2. Bhagwati and Panagaria are of the opinion that
If the labour reforms are implemented they
would accelerate the growth in formal sector
employment. Do you agree.? Give reasons in
support of your answer. Briefly state what other

benefits, if any, do you see from the
implementation of labour reforms ?

" exchange rate re
tariffs impacteq
of the challen
agriculture is to

forms and lowering Gfindustna.}
Agriculture growth ? List spme
ges that need to be met 1
be taken forward ?
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4- "G - .
(fo}?atfr pnmlE 1 E‘IE’-_“DH of domestic industries with GPN
part of Uction Networks) must form an essential
ol the Make in India initiative.” Discuss.

ST (veirerer shreerr Yead) 3 @0 G TET S
%WWHT@FM’ STET I |

S. Do you agree with the view that there is much
IEB_S Scope for India to make major gains in low-
skill or low-tech products because it is likely to
face an incumbency disadvantage relative to
China and other low-cost producers in Asia ?
Give reasons in support of your answer.

T Y FH TF.q TE9q & 6 9IRd P! H-PIITT a1
W-ﬂ?ﬁﬁﬁﬂﬁﬁﬁﬁﬂ%mﬂ%ma@m
¢, Fih =T 3T ST TRraT & o9 AT a1 SEdT
% Ga9 § TP HAGRT BN ATl HT S THar & ?
T I & 9&T H a6 SIfoTd | |

6. “It is not the amount of exports, but the
technological content and sophistication of
exports that matters.” Critically examine the
above statement in light of the claim that both
in manufacturing productivity and product
complexity India is far behind global leaders.

- woqg Frata sr AT TR, A Matw 95 aeeies angh
afrc Frafet @1 aftesor 2, ST A TEar 3|7 Afges
=t @ JT H d R & 2 s ofic
IS DI SAfedal § HH fD 8, = T P gy F
I HIT FHl SATTARHS TRIoT o3y |

d P.T.0.
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7. Discuss the impact of FOI‘Eign Direct
Investments (FDI) and Foreign Pﬂl‘tfnliu
Investments (FPI) inflows on Indian €Conomy.
List some of the policy optionsg that tl';e
government needs t0 pursue to bgest Mmore
inflows ?

ST el A M (OF 9 ) & s o
ST Tl TXIT %1 UaT8 1 ST 370 q2IET 25 § g
HAGTGFAT & ?

8. Analyze the “services led growth” hypothesis of
the Indian economy ? Discuss the nature of
service sector contribution to manufacturing.
AT ST % “Far ey G e

- -

T G999 Fi ? A== a5 o5 e 99T 55 5

AT % AH a7 Fagamer 250 |
4 3000
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5 H97-9F B T G 9T gEa i 9% STu
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= NF-qF 1 Iax oien a1 R fHdr o6
o H i, AfteT @ SO o @ A q
o 9y |

This paper consists of 8 questions.
=q HLF-9 H oS 9% ¥

(d) Answer any five questions.

sl dfg qgei @ S S|
' P.T.O.
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()

{1

1. (a)

(b)

arks of EE‘Ch_ question are Written
alongside the questltlt'lS- ) )

e HeF @ 1 ST UIET Zfr map

The use of nnn-prﬂgt‘ammab]e C&lCU]ﬂtnrs
is permitted. X

Se-gmm Segeel TAT B I Ry B

“A fall in the infant mortality rate will bring
down the fertility rate in a society.” Discuss.
- 7
“ae @A F (919 9g X H FREe 5o v 5
FH HT &M 7 == ST

Suppose that Rakesh and Sheela are the
heads of a nuclear family, making their
fertility decisions. For simplicity, assume
away gender bias and issues of child survival.

The following table details the costs and

benefits (in rupees) of different numbers of
children :

AT FITS 26 3qhar ofi fier oo gy aiear &
A39 8, S AT A9 g gE W 8 | AT &
I°T8, ST 94008 ofiX g=d & ofiead & g g1
T8 | MG aifeemr b a==t @ ara
AT (399 5) a7 Fergreor feam wrar &

The m

Number of Total Benefits Additional Cost
Children R/ A At @
F= A HEr %) )

OHE 500 100

U5

Two

3 750 100

2
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Three 840 100
N

Four 890 100
=Y

Five 930 100
qrer

Six 950 100
o

Seven 960 100
drd

Eight 960 100
AT

(i)

(i1)

Based on the information in the table, how many children

would Rakesh and Sheela have in order to maximize their
net benefit ? 2

AIRTRT H & T TR B ST 9%, B X
gﬁ;ﬂﬁgﬁwwmﬁmmﬁ%mﬁﬁﬁ

Now consider another identical nuclear
family with Mohan and Rita as the heads.
Rakesh and Mohan are brothers and the two
couples form a joint family. Both couples
have exactly the same costs and benefits of
having children as in the table. Now suppose
that 50% of the cost of upbringing of each
child can be passed on to the other family.
Each couple’s decision is independent of the

. other couple, and is based only on its own

welfare. Now how many children will each
couple have ? 3

3 P.T.O.
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AT AT 0% oo il STSE 3 U viger

uing T: %qum I IfeTehr & j&sn—gqi ;[ﬁmf
ﬂé'mﬁqﬁﬁ?mmﬁﬁﬁﬁlaﬁmﬁ
éﬁw‘ﬁw}mﬁmz_ﬁrso%m
qﬁmqﬁm_mﬁﬂ@ﬂlﬂﬁm‘m?ﬂﬁr&q
st o i O, AT ISt 1t ered 3 oy
o aenfa & | 9T T STt & bt aresy 8y o

(iii) Does the fertility choice differ in the above

cases ? Explain. 3
T JULITH A H IOl B JHE STeT-3Ter
ol & 2 THST |

2. Briefly discuss the Harris-Todaro model of rural-

3.

urban migration and explain any one policy that

moves an economy towards an efficient labour
allocation. 15

wm_mmwﬁﬁﬁﬁwﬁcﬁwﬁw
A9 SEET T SR U oyefayezen i iRy Bt
E1
(a) In the Presence of in

between lende
the informa]

formation asymmetry
rs and potential borrowers in
‘safe’ bor rural credit market, only the

fowers may drop out of the credit

market if interegt rates are too high. Explain
your answer. 6

4
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ST y7efyor se7 e § SHITETARTT 3T
meaﬁ%ﬁawﬁmzﬁm

GTﬂ'{'EqT'Ta-{wanﬂ'Eﬁ Y 'ﬁ%ﬂ_f g{ﬁﬁ’
meﬁmﬁzﬁ‘rm & | 19T
I THHIT |

(b) Show diagrammatically, that in casual labour
markets, both workers and employers are
at a disadvantage - the former duc to low
nutritional status and the latter due to hiring
of low productivity labour. 9

AT T § R, 5 amsiers M I H,
& Mamﬁuﬁﬁmfﬁgwmﬁq &--%H qIgoT
el Rl & e gd $iR F1 Scresnhs 2wl
%l g & FHROT IR |

(a) Show that in an economy with extensive

possibilities for perfect crop insurance, fixed
rent tenancy must be dominant, irrespective
of whether the potential tenants are risk-
averse or nsk-neutral ' 9
R fp o aﬁmaw 5 m?r BT G B (g
19 A, &4 9T Fra e R aqw
1 SifEH-Teed & a1 76 |

S P.T.O.
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(b) The following table gives default risks for
various loan size¢s 1n an informal myral o
market. Suppose that the rate of interest in |
this market is 18% per year, and that in the |
formal sector (with no default) 109% per year. .
Rp= afererr ST AT BT g 3 Ry
Fro7 ST & [T T (R ) i wem ey |
¥ 151 S R §9 AT 5 =1 21 i o 18% & |

3T Sfiqenfies & | (STOT 1S T =181) 10% iy o |

Loan size Loans defaulted
T ITHTT T I

() - (%)

50-99 S

100-149 - ‘ 10

150-199 20

200-249 25

250-300 .30

>300 50

(1) Calculate the maximum loan size that will

be offered in the informal rural credit ‘
market,

ST arfior o7 gremee & < & S ow
ST F07 SBT3y T T |
(11) For what minimum rate of interest will loans
in the ¥ 250-300 category be offered? 6
250-300 % 1 3roft 7 sppo7 2rer %61 el oA
X9 Rar s o
6

= e —— —
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S. What is the rationale of environmental

6.

regulation ? Why do prescriptive regulations
dominate environmental regulations worldwide,

even though economic incentives are considered
preferable ? 15

TATTT Py o e a7 B ? Riggeardt wafarer
sl O e 5 Pyt oy qrerey =71 e o B, W
&l oniies Sicaeit i Suac =T o B ?

(a) Provide one explanation of interest rate
determination in rural credit markets when
the default probability is independent of the
amount to be repaid. Further, discuss the
factors which are likely to affect the
rcpayment probability of a loan extended in
a rural credit market. 9
ATHTOT 20T AIRT H =q7o7 X FreiRer 35 o arer
S&T L Te e (FEpiee) WTean s ot are
I A @A Bl & | 3D ST, ST HITH 9T

==t L AT AT FT AT F R wor 96
QHTAT AT &1 I T Tep & |

(b) Explain how, among the poor, inequalities
in the asset market magnify into labour
market inequalities. 6

a6, WE & &=, aiwaia amne §
STHAHTAIS 21 AT STHHAFTISAT & 365 T8 Jard
H G |

7 P.T.O.
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7. How did the tremors of fault lines work in the
US financial sector to nearly destroy it in the
year 2007 ? Suggest rcfnrms‘in the US financial
system which might minimize the detrimenta]
effects of a crisis in future, on the world economy ?

8,7
2007 # erARe R &1 5 Tt g & sreey
TA T e A @ 1T DA B [HAT ? 7, u,
farira womelt # QaRi & G &1 S Hiaer § Rigg
FAGEAT G ThE b SI-TehILeh ST T HH HT Thal

™

G ?

8. Discuss the processes through which global
economic integration alfects the condition of the

poor in developing countries. What measures
could help the poor ? 15

S AFRATe b 9 H Tt Y, o ey o 3139
SIS THihTeT, Rreprasiiar 34t & 6t & Rafy
STHIIA HaT & | 317 I AT 9 52K FE AFhT & 2

- | 3000
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o & fog fde
e 1

2. ﬁaﬁamﬂﬁﬁﬁ‘q‘

3 T WmmﬁMil
. .mm“ﬁmmmmﬁﬁﬁﬁwmﬁwl%w

* Gﬁﬁwﬂmﬁﬁﬁmmﬁm
P.T.O,

Scanned by CamScanner



2
4499

| (a) What are the changes ip the i
) currency holdings and the tota) 'Ng system deposits,

s
akes an open market pyrepo ¢k of money if RBI
"€ of 30 crore Rupees?
Given that —

(i) Required reserve ratjg = 20,
[+
(i) Desired Excess Reserye Ratio = 59
= 1}

(iii) Desired currency to deposit rapjq = 25% (9)

(b) Describe two ways in which financial intermedijaries

help lower transaction costs in the economy (6)

(%) a7 someR <, R BT T A B ot ¥ wRad
B AR Red d@ B 30 HIT W 9w AR w7 B
e 7

e may -

(i) sraws i agum = 20%
(i) ow sfRew s aga@ = 5%
(iﬁ)‘fﬂ%'cr'ﬂmmaﬁcrm=25%

) 2 00 oy gy e e e A e
T Ty ¥ e @ B
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, (a) By choosing 4, int
confronts g chojce

target or an intereg,

k
¢rmediate target the central ban
of achieving ecither @ mﬂﬂclﬂifﬁ"
rate target, Which is better? Explain.

(8)
(b) There are two Bopgs Bong A and Bond B, wherein,

Bond A has zerg Probability of bankruptcy, face value

of 1000 Rupees with 5 maturity of one year and coupon
rate of 5%.

Bond B has 10% probability of bankruptcey, face value

of 1000 Rupees with a maturity of one year, and coupon
rate of 5%.

(1) Calculate the price and yield to malurity of Bond
A and Bond B.

(i) Why do they differ in price and yield to maturity,
Explain diagrammatically. (7)

(%) woradt @ @ YR R 9E W R T M weg
T &1 aeT B 7 AR R

(@) =i 2 di ¥, A=A TS -B, B W=~ A 2 Ry
e e B, T WA RO Swf sk g0, o
TuT W B a9 1000 T W ST g ¢

P.T.0.
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3.

i~ B T RARTT 2 10% Wrey 3 vy a4t wRqerael
mﬁ:aﬁts%ﬂﬁ‘ﬂiﬁﬂémmnnmﬁﬁaﬁﬁﬁ
T '

(i) d=-A 7 W=-B W FPE Tur qRygar I A
Al

(i) ¥ v Tar e I ¥ A fer 8 7 R W
TEEE ¥ TR B

(a) What are the main approaches to money stock
determination? Discuss the money multiplier approach
where money is defined as broad money. (8)

I
(b) Would moral hazard and adverse selection still arise in

financial markets if information is not asymmetric?
Explain. (7)

(%) TR Peen & v e # 7 90 0 e
mﬂﬂ?ﬁmﬂmqﬁm-ﬂma}wﬁ'qﬁﬁﬁaﬁm
el

(@) =1 I W e e 7o Ak T T o g
Emilﬂﬁm i A8 B 7 e wiY
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9
49 s

(a) “The beauty o,
only in its i“lUiti

+ © preferreg habitat ],};pmhesis lies not

v aspects
of the other

explaining the sh

® appeal in combining the best
hypﬂlht‘:Scs but also in its power In
apes of the yjeld curve.” Elucidate.

(10)
(b) E"Plf‘m the advantages and disadvantages of India
adopting Base] [j1. (5)

(%) " R wRemern o) g 7 S g A AREEA
® WA TR B waew ¥ 2, afw 999 T R AR
W T FE A R ¥ o B we

(@) WRE F AWM A FEH D TR A A wT R
W | '

5. (a) Discuss the conditions that led to the current banking

crisis (2008 onwards) in India. (8)

(b) Discuss the factors causing financial crisis in the

financial markets. (7)

(%) o Rl 0 < R o e ¥ e S e
(2008 & 3mt) I

(@) frdg arem ¥ BT T IO T T Iy v e
& |

D™ ~
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. © Assuming other things remainjy,

E cons :
impact of each of the folloy tant, determine the

ﬂ n

(i) RBI lowers the requireq reserve rati
ratio

(i) Interest rate paid op deposiig vige
3
(iii) Probability of Bank failure

rises

(iv) An earthquake in Bhy;j (8)

(b) The Central Bank of India increases required reserves.

Graphically, illustrate the impact of this action on the
money supply if :

(1) Money supply is exogenous

(if) Money supply is endogenous

. (7)

(ﬂ?]mﬁmaﬁwﬁ,m'ﬁ@qﬁwﬁﬁ%ﬁmﬁ
¥ WAE ® wE @ o X

(i) 30 & 31 sravaew omfe JgI T T T )
(i) s oft w a0 @ e g w2
(iﬁ)ﬂmﬁmﬁm;ﬁmﬁﬁl
(i'-')'f.l'ﬂ'ﬁ'g\afql
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4499 7
(@) T I o g

o # 1 Wi 799,
Wﬂﬁiﬁ‘ﬁgﬂ I

TAE v @y e T A |
(i)-ﬂmﬁaﬁﬁaﬂl
(i) T 9 s 2,

7. (a) Discuss the implementation lags and effectivencss lags

in monetary policy, (8)

(b) Suppose investors prefer one year bonds to three year
bonds and will purchase a three year bond only if they
cxpect to receive an additional 2 percent over the return
from holding one year bonds. Currently one year bonds
yield 3 percent, but investors expect this yield to rise to
4 percent next year and to 6 percent year after.

(i) Which of the three models of term structure is
relevant in this case and why?

(i) Is the yield curve upward sloping, flat or
downward sloping?

(iii) What is the yield on the three year bond?

@)

(%) ey fy ¥ e S T I S 7 g
T |

P.T.0.
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4499 8

() 0 A B P o T R g ) @ AR
geen ¥ e T B 3R T A it gy A 7 @A
A TE T D AR A WA I B o o wRTH Srarad
¥ W B S J0eT B | g ¥ v ad a3 waed
Fffa e B, I P @ aeie @ s T o I

E 4 WU W 3N IO I W 6 W 9 gei |

(i) o W o S sitea ¥ ¥ W W 3@ A A wEes
2 3Rk = ?

(i) =91 I9W TF FW F TWH, TE T A D TWH T80
I B 7

(i) 97 af & 9= W T I B 7

Write short notes on any two:
(a) Open market operations
(b) Assct Securitization

(c) Banks Strategies for countering asymmetric information

: (7.5+7.5)
8 9 W e e e
(=) Qe TR WHHATT |
(@) W Reghessi |
() mﬁamaﬂ'ﬂmﬂmmﬁ%ﬁqéﬂ%ﬁwﬁﬁml
(2800)
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(c) Attempt five questions in all,
e drg 9w B I AR

(d) Simple calculator is allowed,

FreTeT BegAe B/ TATT BT qhA ¢ |

1. (a) Discuss the key features of new monetary
aggregates recommended by Working Group

on Money Supply in India. 10
TRa § gF O ) e g Err ergeifae A
Hifxes T=aat H TP fRAFraarett a7 ==t S |

(b) Suppose the interest rate on a, one year CD
is 5 percent, on a, two year CDis 4 percent,
and on a, three year CD is 8 percent.

9 ST 6 o, o a9 3 A3 )W A T S
g 2, Gep, o g9 <t LT, 9X 4 AT © S}
T, @ ad H @&, 97 8 A ¥ 1

(i) Describe the shape of the yield curve.

. JYST ek P SATHIT HT TUIT B |

(ii) Use the expectations hypothesis to
determine the market’s forecast of one
year rate next year.

Wﬁm@a&ﬁﬁ%w%w
&l FraRer s 3 g 19T aReseamr @5
SYGHT < |

2
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(i) What is the market’s forecast of th;

one-year rate in two years ?
ﬁmﬁ%ﬁﬁﬂwmmgﬁw
T ?

2. (a) Suppose required reserve ratio is 20%

deposits, banks hold 5% of deposits as eXcess
reserves and public holds 25% of deposits
as currency.
Hﬁﬁﬁ?aﬂmmﬁ*‘lﬂaﬂmﬁ, ST 2hr 20 Sfaerd
&, Sl B qre oTTeil @ 5 Sfawrd ST R @
T H 8, T ST oEredt @ 25 S JE B €9
@i e

(i) Calculate the total money supply if
level of monetary base is ¥ 50 lakh.

BT FAT Gt Bt T HE Al AiEw ST
FRIS50Tag TR

(i) If the Central Bank engages in open
market sale of 10 lakh, calculate the
change in money supply.

A 314 &6 10 71 T 3 gt aree EES
e &, T 0 U 3 e ot oy o
iii) What Id b '
(iii) would be the impact gpn money

supply if the Central Bank ch
required reserve to 10% ? hess the

of
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(b ]‘-:2:131' v aggregates 6
<p axeral B T B e a4y
::]TFITGHT']T%?

: ionale for the
Jain the ration segmented
3. (a) E:z-kcts hypothesis. What are this theory’s

major weakKnesses ? 7
ifee < AR & RTT et =t e ¥
= a3 TIE FAARA g2

(b) Determine whether th? following scenarios
are most consistent with the expectations,
segmented-markets, or preferred habitat
hypothesis.

T, AT THEIRT ST IREASTATAT B O 999
3o e & a1 F8T |

() Natasha’s sole criteria in choosing
among bonds with varying maturities
Is the expected yield she will earn on
the bonds. '

AT T STAIT-STT UTRIT it divsl &
99 g9 %7 U 71 HFRS S9 S WX
AR IqT B |

(ii) Since Ramesh plans to retire in 20
Years, he will purchase 20 year bonds.

I Rer 20 g F Rera 819 &t At F=
W, gg0afPAISTITAE |

4
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(iii) Dolly wishes to earn a high expected
Teturn on her investments but has a
Preference for five year bonds. She will,
hnwever, consider purchasing shorter
or longerterm bonds if they offer a
Substantially higher yield.

Stelt 199 PRy o3 o I= iR Red
I T A T, ARHT ST ST gi
a9 =S 31 B | e, 98 H a1 o= Srary
% A= ie < PaR F gt o 3
PIHI STp AT 2 § |

(iv) Jay prefers one year bonds even if they
have a lower yield than any other bond.
| 8

S THIE B EIT%EF?[‘:IH':TEIRHT% T &

4. (a) How can the existence of asymmetric
-information provide a rationale for
government regulation of ﬁnanmal markets ?
mﬁawmmﬂaﬁrﬁﬁﬂumﬁ%m
R 5 R 7o 5 s v w0

S P.T.O.
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(b) “The more collateral there is backing a loan,
the less the lender has to worry about
adverse selection. Is this statement true,
false or uncertain? Explain your answer. 7

roTeTaT @ AR 9 B AR F e ffar e
SraygeEar eidt & 7 T 9% By g, T ar
SiffREd & ? ST9 AT Pl AT T |

5. (a) Discuss the functions of a clearing house

with respect to futures market. 7
arEET e & G499 H RBRafT sea & #Ef 93
=91 B1 |

(b) Assume there is a put option on Asset ABC
that expires in one month and has a strike

price of ¥100. The option price is ¥2 and the
current price of Asset ABC is $100. What is
the profit or loss for the investor who holds

it to the expiration date in following
Scenarios ? 8

A < % T ABC o1 s ge Sl , it uwp
e % TEr g sirar § oK 100 T H e Wy
® 1 R o 2 T % qur @ ABC % e

qﬂqﬁwo?%lﬁwﬁ‘mﬁqﬁ?ﬁﬁrﬂsﬁwﬁ

B A o 7@ et Praeres B R sy 7wy
TR ?
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(i) Longa putoption

QT Q ge S
(i1) Short a put option

e T ge Sifwm
Explain in tabular and in graphical form.
Rtz T e w9 & EAT X |

(a) What were the policy responses to the two

banking crisis for the period ; 10
A S A RT Y -

(i) 1997 - 2002
1997 - 2002

(ii) After 2008
2008 & A<

(b) Will Basel III raise the cost of credit and
hurt growth in India ? 5
o e -111, 9 0T @l @R 6l SS/T & T&r |
R Y fehrd &< 3l FHaT qgadr € ?

(a) Discuss the role that RBI plays i in the lnd;an
banking and financial system. 9
Ardg SR ol Rcia 9w & on.t.ens.
%t giET & AR T ==t 1

7 P.T.O.
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: hould a varigble h
roperties SHot ariable have to
(b) scwhr: gs 31;1 intermediate target of monetary
policy: ' - ©

A A B T T DB wH FRf B B
mwa{ﬁﬂﬂ""@%aﬂq ?

‘8. Write short notes on any two of the following :
' . 7.5+7.5
Rt 3 @ B8l A O Gt aw /R
(a) Liquidity Adjustment Facility.
TR FHATT G |

(b) Free-rider problem in aggravating adverse
selection and moral hazard problems in
financial markets.

ﬁﬁﬂﬂﬂlﬁlﬁﬁﬂﬁ?@fwaﬂi‘%ﬁiﬁﬁﬁﬁ.
ST I T F H-FST WA

(c) Role of margin requirements in futures
contracts, '

Waﬂﬁﬂﬁqﬁ#mﬁﬂiﬁaﬂ |

g8 2800
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8l. No. of Q. Paper : 8755 IC

Unique Paper Code . 12277608

Name of the Course : B.A. (Hons.)
Economics - CBCS-
DSE

Name of the Paper : Environmental
Economics

Semester + VI

Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

viamiiat & R Fea -

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
Tq 999-99 & 91 89 9¥ gRa Md 9% ST
Tt Aax R | '

(b) Answer may be written either in English
or in Hindl; but the same medium should
be used throughout the paper.

59 S¥-UF W OIAT AN a1 D Bl o
wrar J AT, AT T IR o @ war A
g9 =T

| P.T.O.

Scanned by CamScanner



8755

(c) Attempt any five questions.
frdl 9rg Ol & IwT ST |
(d) All questions carry equal marks.

a9t sl & SiF 9ue B

(e) Simple calculator is permissible.

AT $egeel F ST B orpafr B

1. (a) How have economists measured the impact
of climate change on agriculture ? Explain
with the help of a diagram.

8

@ STl HY W SwErg aRadw S g
B B AT 1 G e B

(b) Explain the concept of excludability and
nivalry in the context of public good and public
bad. Classify the following goods/services
into categories of rival, non-riva], excludable,
non-excludable. Give reasons for doing so.

ST R, e RvEfere % Ryaidt 8t rforfoyes

RT Teee
(ii) forestry
ClECH|
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(iii) carbon emissions

PR Iedor

(iv) uncrowded park with controlled access.
Prafter gge er B Az F U |
Discuss how rapid growth of vehicles,
mining, manufacturing and power
generation has contributed to air pollution
in the urban areas of India. What are the
frequently observed adverse impacts of the
different types of air pollutants on human
health in metropolitan areas ? (Base your

answer on ‘State of Environment Report -

‘India 2009’). , 5,3

e Ffe B BFE SR aeHr @ e
Repra, @+, fFmtor oo Roelt & S =
gt & ugueT S e ¢ | AgafafeT wel A
TR RER 3 99 55y & a9 & @A
g3 USH 9 UHIEG 9 AIEEr e |

(‘State of Environment Report -India 2009'
% AU 9T e Hif i)

3 P.T.O.

Scanned by CamScanner



8755

(b) A polluting factory produces emissions whose
damage (D) declines with distance. Robin

works in this factory. The damage to Robin
1s DfrJ= 1000/r, where r is distance in
kilometer from the firm and D is damage in
rupees. His cost of mnimuting from the factory
to home is ¥ 20 per km.

W%ﬁmﬁ%.%aﬁmqﬁﬁq
R sgoer gt ag @ T FT B ¥
WW‘#@ﬁmﬁ%ﬁ%tﬂﬁqaﬁaﬁ
meﬂi‘ﬁﬂﬁ%mzﬁq@rﬁﬁr
®1% B A T Dy = 1000/r & 2y g
™ ¥ 1r BT X So @ 28 21 D e
ﬁ%%'mﬂw'ﬁﬂﬁ%zﬂaw#
T 20 X sy Rt
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(ii) At what distance from the factory will
Robin live ? (If he wants to minimize his
total cost.)

R AT it owfy » Rig gowEsn e
Frerer o a5 S @ Reeelt g 9 @

(iii)At what distance from the factory will
Rﬂbiﬁ live if he receives full compensation
for the damage he incurs ? The minimum
distance from the factory where the Robin
can live is 0.2 kilometers. - 3,3,1

afe e @ ey B R o gees B
m%ﬁw%ﬁ%ﬁﬂ‘cﬁ{&wml

gl & A9H otk 0.2 ﬁﬁﬁaaﬁg&
oY e @ awar B

3. (a) Do you think a consistent and a significant
price on carbon over the past fifteen years

- has contributed to a reduction in CO,
emission ? Explain on the basis of lessons

from the early carbon markets. (Base your
answer on Newell et al 2013.) 7

S P.T.O.
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oy a9 T drad ¥ 5 wwe Resr 15 @
¥ g § Raefaed 9@ AgEge SEd A
cozmﬁ#ﬁwm%ﬂﬁémﬁm%?
qrifgE FEd aeTd B 99 o g X
e e | (Newell et al 2013 & ST

g7 IO} S )

(b) A refinery and a car paint shop are located
adjacent to each other. Emissions from the
refinery adversely affect the car paint shop.
Determine the efficiency conditions and
show efficiency can be achieved wrrespective
of who is assigned the property rights. Explain
using diagrams and equations. 8
9 i fr ow ResT aar K de
TFM UF UL & o g9 g1 Resad
TE9Y Gl & 9dT HIK 9T HM SHH
1T et ® 1 e @51 St @ 99 B By
T T P A Tged Rl A W 2 R

AN 1 S TRl o RSt =T R
gifeTa |
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4. (a) Consider a competitive industry, Pr?d‘-fcmsg
some good in conjunction with Eﬂ}lzﬁlﬂn :
There are two types of firms in the 11 usU_'Jé’
- old and new. How does each type rﬂﬂp}?“ﬂ
to a per unit tax on emissions In the sho
run ? Describe the change in outcome if t:l;e
per unit tax is replaced by a per unit subsidy
(on the amount of emissions rieduced)‘,
Explain using diagrams and equations.

HAN %mﬂwn@g
g Rar siar @ ( SoaSid &l " HH
) < Frepd § g oReds @em ? Sfe et

(b) Consider a model of voluntary action
involving a firm, a regulator and the
legislature. The legislature adopts a
mandatory regulation with probability p if the
firm and the regulator fail to reach a
voluntary agreement. Analyze their strategic
interactions in the form of a game tree. Find
the conditions under which voluntary action
will be achieved under the assumptions that
the firm wants to minimize expected costs

and the regulator wants to maximize net
social benefit.

7 P.T.O.

Scanned by CamScanner



8755

ur oftew Hd § Hiza @t HIAT Do
Rrad s B9, s Fagmes our @{ue q@Ea
miter &1 Ram dzw sifead Baw & p

AHEET B W o9ErT ¥ Ak wH o Frams
ofBd G9Ed UT FEl 9gd 9 €1 & qEh
g s Faa & @ W H D w9 F
Rredger it | g Argarett $ A B o
d9faa @rGl @ A EAT TS © adr
el ¢ 39 g B @I R  8a AfRew
B H A fhar ST a2

S. (a) (i) Inthe context of pollution control explain
the meaning of command and control
(CAC) and market l:_aased instruments

(MBI). How are they different from one
another ? | 3

ST P & waef F ey o RrdscT
(CAC) T 99k emenfer @ (MBI) 3

Wﬂ%ﬁql%wgﬁ%amm
R &2

8
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(i) Give examples of direct and indirect
instruments under CAC and MBIs and
explain their differences. You can use @
table to illustrate your answer. (Base
your answer on Di Falco 2012). S

(CAC) Tum (MB]) & of=<rra Wdal &l
TR & JETET AHT ST T BT |
TR S B T g H QAT HIoIg |
(& wrenr (2012) & SR 9¥ S D )

In the case of multiple sources and a single
receptor establish the conditions for

efficiency with marketable ambient pollution
permits. 7

3F ST a9 TF RA<R & Raiy F gguo

T IOR & Y U H SAEIIS 96
ST ehifd |

How is marginal willingness to pay (MWTP)
related with conventional demand curve and

the total willingness to pay (WTP) with
consumer surplus ? 6

STeT HA B WH =81 F9 TR gRafts
AT 96 B A T ST BIA B Hw g=m
aﬂﬁaﬁw%ﬁﬁfﬂahm%.

9 P.T.O.
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7.

(b)

(c)

(a)

Use the concept of a restricted demand curve
to derive MWTP for an environmental good.
lllustrate your answer with a diagram. S

Hﬁﬁﬁﬁﬁﬂﬁﬁaﬁmzﬁmm
ngmwéiﬁ?mammﬁﬁﬁmfﬁm

Fremfera |

With the help of a diagram show how an open
access resource is overused. 4
qIel aeg H ST FEOANT T B

Assume an economy with two polluting firms
and two consumers. The respective marginal
savings as a function of emissions for firm 1

and firm 2 are :

e U orefaeREr @ eqET HeTe Rrad

Oeqel ol dieil &f BH a9l & SUHET & |
B 1 T BH 2 F Ieawie AT gEd B
HA 5T FER T

MS,(e,) = 8-e,

MS,fe,)=12-2e,

Marginal damage of emission§ to each
consumer is MD(e) = g,

e T H It Y mmEr 3
A% ST A Wi ey MDfe) = e ¥

10
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(i) Graph the aggregate marginal saving and
aggregate marginal damage functions. 4
T WHiq g qur @ag a8k J@
EEIERy

(i) What is the optimum level of total
emissions, the Pigouvian fee and
emissions from each firm ? 4

/A UTQOT FH SgFEad WX, SIFH
WIRET S aur SEd FIAR TS BH

D IJoASH B T Dl s Died |

(b) Explain to what extent can physical and

intellectual capital be a substitute for
natural capital ? 7

ot o Repea & @@a € 7 e S|

11 1500
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2. ﬂiﬂﬁﬁ%ﬂﬂﬁﬁwmm% '

3 TRE WY TA-I-A UF T IAQ §C, B O WA
HT |

4.  TEWE-TF & I Adon ar B et v wmar A S, wfee
TN IR T M T B TR |

SECTION A (W@vs )

1. (a) What are forward rates? Invoke the comparison

principle to derive the formula for a one-year
forward rate. (3)

(b) Consider the following two mutually exclusive
project A and B:

Cash Flows (8)

Project C, C, C, c,
A -100 | +60 +60 0
2 —100 0 0 +140

(i) Find the approximate IRR for each project.

(i) Wh;i :
) Which Project should the company choose
and why?

Scanned by CamScanner
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3

ect A, project B

(iii) Calculate the NPV of pro] '
al investment projcct

and the increment
10% and

(B-A) for discount ratcs of 0%,
20%,

tions for the three

(iv) Plot the NPV func
NPV plane.

projects in a discount rate-

(v) Show that the circumstances in which you

would accept the project in (ii) are also
those in which the IRR on the incremental

investment is less than the opportunity cost
of capital. (2+2+3+3+42)

(%) wias X w1 § 7 @ a9 Bias 3 D B B

(@) F=lofed @ wer A= aftdemr A 3R B W e
L

Hcha! Wars (S)

qREre Co C, C, CJ

A -100' | +60 +60 0

B -100 0 0
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(ii) R W e RaANE W g wRv sk
w4l 7
(iii) 0%, 10% 3K 20% =t Ge = & o tete- A,

MaFe-B & NPV 3R gfedia fRw deme
(B-A) &t TEr |

(iv) NPV = % wRaemiat @ Rt & ge-=
NPV w7 & wife &t |

(v) =uisw fF s R oRfafd ¥ wRaemn (i) @
e w3 3 f gheie FAT W RR TR A
HIER AT FH B |

2. (a) Differentiate between Macaulay duration and
modified duration. (5)

(b) Consider the four bonds having annual payments
as shown in the table below :

End of year Bond Bond Bond Bond
payment A B C D
If:ar 1 100 50 0 0 + 1000
Year 2 100 50 0 0
Year3 10041000 | 50+1000 | 041000 | O

Scanned by CamScanner
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. o5 yield.
The bonds are traded to produce & 15% yi

(i) Determine the price of cach bond.

(ii) Determine the duration of each bond (not

the modified duration).

(iii) Which bond is most sensitive 10 a change

in yield?

(iv) Suppose you owe $2000 at the end of 2
years. Concern about interest rate risk
suggests that a portfolio consisting of the
bonds and the obligation should be
immunized. If V. Vg Ve and V, are the
total values of bonds purchased of lypes
A, B, C and D, respectively, specify the

fiecessary constraints to implement the
immunization? (10)

P.T.o.
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1 ar=- = | o~
ad ‘gﬂa’ﬁ al'\s‘- &f‘%\
w1 A A B C "
T D
——
q | 100 30 0 U\
Y 100 00 [ g T—
o — U
79 3 100+ 1000 | S0+ 1000 0+100{] T ——
0
——
15% J9 o D foe 4= = ?H]'ﬂzn-{ ﬁﬁm“"-\____J
R

(i) mahﬁﬂ’ﬂ'ﬂ?ﬁﬁu‘fﬁﬁﬁl

(ii) W diz < _—
wﬁ)m T PR X 1 (e oy

(i) mﬁw%mﬂ? y .
35 93 R Wi

:%ﬁ*mz T9 @ ¥ 52000
ITT HT 31 =mer w0 e B R A

ﬁ?‘m%ﬁ?aﬁaﬂtmﬁ%ﬁmw

TR 1 sl o o e

:}“‘Vﬂ'vca}fvnm: A, B, C it DFEK
wmﬁwaﬁrwé,ﬁfﬂﬁm

:Wm%ﬁvmmﬁﬁﬁf
|
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3. () (i) Distinguish between €8

sccurity markel Jinc.

. The price of

e yenture. . ‘
s §875. 1L 15 cxpccl:.d

1000 after onc
bout how

(ii) Consider an oil drillin
a share of this venturc

to yield the cquivalent of |
gh uncertainty @

hi
year but duc to b he smndard

much oil is at the drilling site,
%. Currently the

deviation of the return is 40
d rate of

risk free rate is 10%. The expecte
return on the market portfolio is 17% and the
standard deviation of this rate is 12%.
Calculate the expected rate of return
predicted by capital market line. Also

comment whether it is efficient to invest in
this venture
: (5)

(b) Individual A is planning to invest in a m
This fund invests 10% of jts funds 3
rate of 7% and the remaining 90% in a di :
market portfolio which has an oy Iversified
return equal to 159 Pected rate of

the fypg is 0.9

utual fund,
tthe risk free

The bety of
One share of the Mutual fypqg
r

. Cpres
assel 1n the fund. Wiy, s the | Cnts 100 of
based on CAPM? alue of the g,
Share
(s)
Pr .
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(i) TN AR T SR AR aR A @ g

ot |

(%)

(ii) v o B ggz w e w1 v @
T WA A o $875 2 1 W, v a6 @ are
$1000 & # TR JaweT Fr A/ T P
ﬁﬁw@%ﬁmmﬁmmﬂ?ﬁ.%aﬁ'ﬁ'
maﬁﬁaam%m,ﬁaﬁzﬁrwﬁﬂa?
40% & i T ¥ SR e w109 B
TR SRR W Ref I = 179, 2
ﬁtmﬂaﬂwﬁﬂmlz%%lﬁ'ﬁm
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SECTION B (WS @)

with beta

4. (8) A company has a §20 million pnrl[‘nlin

of 1.2. It would like to usc futurcs contract on the

S&P 500 to hedge its risk. The index futures price
is currently standing al 1080, and cach contract 18
for delivery of $250 times the index. What is the

hedge that minimizes risk? What should the
reduce the beta of the

3)

company do if it wants (0

portfolio to 0.67

(b) Explain what is mecant by basis risk when the

futures contracts arc used for hedging. (5)

(c) Supposc that you enter into a short futures
contract to sell July silver for $17.20 per ounce.
The size of the contract is 5000 ounces. The initial
margin is $4000, and the maintenance margin is
$3000. What change in the futures price will lecad

to a margin call? What happen if you do not meet

the margin call? 5)

(m)@mﬁﬁl.z%ﬁa%m $20 PRmT =
G 21 T I AW R T WY D Ry
S&PSUDWWWWWWW'

P.T.O.
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AqETE el T qamT ¥ 1080 w3
Wszsomaﬂma‘:m%ﬁq’ﬁ%
%Eﬁ'ﬁﬁﬁqﬂ'ﬂ-ﬁzﬁﬂ'&ﬂm%?m 'y

%ﬁaﬂ%wu,ﬁmmgﬁw%
A TEY 7 T

(|) mﬁm%mmmm%ﬁq ‘

(1) 7 AR 7 s g R S1720 W gheg o

Tt & o0 v W T sy gy e §

T 8

FIFU H HHR 5000 3T 1 W i a0

%, ot T W 53000 ¢ 1 e w §
T T B g w7 R o

W T R d oy B0 7

> (@) The SPOL price of silver is $15 per ounce. The
Storage costs are $0.24 per ounce per year payable
Eluarterly in advance. Assuming that the interest |

rate . a w
s 10% Per annum for all the maturitics,

c L]

*Eiculate the futures price of silver for delivery

in e
” months. Explain the arbitrage "

Wh.cn lh . hcarclicﬂl
€ price s t ual to the |
Price. not eq 6)
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: is 10% per
(b) Suppose that the risk-frce interest rate 15 10% p

: ing and the
annum with the continuous cnmpuundmg an

dividend yield on a stock index is 4% per annum.
The index is standing at 400, and the futures price
for a contract deliverable in 4 months is 405. What

arbitrage opportunitics does this creatc? 4)

(c) Explain carefully the meaning of the terms
convenience yield and cost of carry. What is the
relationship between futures price, spot price,

convenience yield and cost of carry? (3)

(=) =& = wie 7w SIS A=y ¥ | wewwr S $0.24
W s i ad St afe A 3 2 1 9E e EY
& o ugaast & v =@ = 10% vt ad 2,
oA ¥ ReAad & fov =@ & amer @ & o
T | TOAEE T FAA B AR T 9 T S
W%Wﬂﬁ%l

(@) w1 AR B e g @ T WRer-Tmm =
T 10% ¥l a9 B IR e ¥ W anr o gawr
4% W o T | qIEE 400 W@ 2, 3R 40wy
¥ faafe sy % R T T 405 31 0p fag
JEaedE B FAA 96 Ha B 7

P.T.O.
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& AN T AU |
(ﬂlﬁﬁ‘"ﬁﬂaf? gﬁmﬁ—'a:?wmhﬁ“

(a) (1) Wlmtqis the difference between o Sirip and 4
strap! (3)

6.

(i) Call options on a stock are available with
strike price of S15, $§17.5, and 320, and (ke
cxpiration dates in 3 months, Thejr Prices are
§4, §2, and §0.5, respectively, Explain how
the option can be used to create a butterfly
spread. Construct a table showing how profit
varies with stock price for the butterfly
spread. (5) .

(b) The price of a non-dividend-paying stock is $19
and the price of a 3-month European call option
on the stock with the strike price of $20 is SI.
The risk free rate is 4% per annum. What is the
Price of a 3-month European put option with the
strike price of §209 (3)

(¢) Suppose that Put options on a stock are available
With the strike price of $30 and $35 ¢0st $4 and
57 rESPCCtivEIY. How can the options be used 10

“Teate a bear spreads @

Scanned by CamScanner
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@) (i) e o Qu ¥ w o B

(i) Rt I w @ Rwe $15,8170 9 $20 B
Ww%mm%, At 3 W A
ey @ i ¥ oFe @ @ $4, 52
wso.sfumﬁﬁsmﬁmmﬁ%
ﬁwﬁﬂmzﬁrwﬂw:ﬁﬁﬁmwm%?
s T R R ®iw [ B g T b
ﬁ?ﬁmﬁ,wmﬁgt{maﬁzﬁmﬁwﬁq
cadl

(@) v yE A R @ A $19 % SR 520
? wEF T B 9 RWE W 3 W F QAT e
frereq o Erd S1 B | AR T W 4% W T4 2 |
$20 B RS Td D T4 3 T & QUNGT q¢ I
% Fom T8 7

(1) = A i R ' © e $30 Jik $35
& RS T D T H $4 3R S7 Sy B | A
v T & R e = 3w ¥ R wr wemar
21

PTn
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SECTION C (v =) |

7. (a) Explain with the help of an
dividends are paid.

illustration how
(4)

(b) Explain, with an cxample, the Miller and
Modigliani’s Proposition of irrelevance of dividend

policy. Clearly outline the underlying assumptions
of the proposition. (6)

(c) ‘cht-cquity proportion does not affect thcp
currency-risk borne by cquity holders but it |

increases the spread of percentage return.’ Explain.

(3)
(=) wmaﬁm%wﬁ%mmﬂﬂm
w4 R w2 7

(@) wm%m,ﬁma?nﬁ\ﬁﬁaaﬁra%m%
ﬁmm%aﬁﬁwaﬁflwm%mﬁ |
it mﬁﬁa“ﬁmﬁﬁﬁﬁmﬁuﬂﬁl

B

() R e e oy g @

Wﬂmhﬁﬁﬂ#ﬁwﬁaﬂﬁm%ﬁﬁﬁw
Frl?maﬁe#‘q’?mﬁagmr%."waﬁﬁm |

& —
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) ' - on i se 1o
8. (n) Discuss the traditionalist position in respon

Miller-Modigliani's proposition on debt policy.
(6)

(b) The common stock and debt of NS Limited are
valued at $ 50 million and $ 30 million, respectively.
Investors currently require a 16% rclurn on the
common stock and an 8% return on the debt. If
NS Limited issues an additional $ 10 million of
common stock and uses this money to retire debt,
what happens to the expected return on the stock?

Assumc that the change in capital structure does
not affect the risk of the debt and that there are

no taxes. (5)

(c) Explain the following :

(i) Law of conservation of value

(ii) Weighted average cost of capital (2+2)

() Ret-ARFaAR & =T M« vwa D g ¥
qrRaRes fafy W w=f =

(@) vrea ffits @ T RIS 3R mw g $50
P ik $30 FAfeET 8 1 P Y w3

P'T-O-

Scanned by CamScanner



16

R‘fmﬂ?]ﬁ%ftz{faﬂf'ﬂ?ﬂ?{ 8% fees o
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Roll No.
S.Nu.ul’Qucstiun Paper : 8967
Unique Paper Code : 12277601 =

N
ame of the Paper Political Economy-II

Name of the Course B.A. (Ilons.) Economics CBCS-

DSE

Duration : 3 Hours Maximum Marks: 75

(Hrite _}'our'RaH No. on the top immedia tely on receipt of this question paper.)
Note :—  Answers may be written either in English or in Hindi:
but the same medium should be used throughout the
paper.
feoult 38 wm-v3 T W e o1 e fREl G
i ’
The paper consists of two scctions A and B. Answer any
one question from Section A and any rhree questions from
Section B.
W Y- @ 4 @vE A e e
A 2 TE Y@ A9 @ ‘T W B A w
FHifod |
Section-A/GUS-A
Answer any one. (15 marks)
frdt TH B IR NI (15 )
nk coordination and control of complex global-scale
producliﬂﬂ systems can be achieved without direct ownership?
Discuss in the context of the typology of global value chain
governance developed by Gary Gerefi and others,

L Do you thi

P.TO.

- ———— e — .
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ik T
quferdt & T T B vy e
fr wifge fwal ST HeRan g? T N IR oy
it gr1 o ANTF T e w3 e
5 wal @i -

Discuss how the role of the state under neo-liberalism has

essentially increased social inequality and marginalisation and

has led to the restoration of class power.

T F F R W To-wrEar @ w1
 f 3 WIS ST S Wi B o
IR @l ufe W aweh w1 %)

Synoptically discuss the different facets of the phenomenon

of “feminisation. of employment” under globalisation including

the possible reasons for this.

ESEREU I D S T R e T S
B el Wl @it am seR @t
R e wifg

Section-B/@AUS-H
Answer any three; (20 marks each)

ﬁ?"ﬁﬁ??ﬁ'wg‘-‘rﬁq| (TAF 20 3H)
Analyse Fordism and post-Fordism in the light of contributions
made by (he French Regulation School. Do the post-Fordist

formatjons display a similar degree of coherence as the Fordist

ones 9 Discuss.
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( 3 )

i faf e & A & T A e
St e fagdigy | F RIS
S W s aw @ e @ € 9
FfeR ? =i Hifaul

: -olved within
How have multinational corporations (MNCs) evolved

teal? : vplai ctural
the structure of capitalist production ? Explain the stru
ic implicati : yment
and strategic implications of the fact that product developme

and marketing replaced current production as the dominact
- concern of MNCs.

e S # g # aw agred
(Tt $ fnfe & €2 79 0o = W
IR wEhew ffend @omg fF oo Foged
S ARl 3ORA % O ¥ Wl IR fa@™
it fagum H wmw W ¥

Briefly discuss the tendencies of a significant increase in
:infnma]it}', flexibility and insecurity in employment and work
forms under globalization. Do these tendencies indicate an
cclipse of labour politics and labour movements under
globalization ? Discuss with reference to concrete experiences

of labour politics,

P.T.O.
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Sy @ aed SR IR e § gfe
ﬁnﬂwﬁﬂm%mﬁa@?ﬁmmﬁﬁﬁﬁ
@ §ig B O™ FHGC FT T WgRE @ waha
% fF AEEE0 @ M@ UN F W IR sm
Seerl T OWEW @M W &2 5™ @t el @
S el w wed § W= wifaw

Explain why while neo-liberal ideology projects individual
freedom and minimal role of state as its central tenets, it often

ultimately falls back on social conservatism, authoritarianism

and aggressive nationalism in practice.

gy fF T #= fw ¥ 5 a-wer feammum
A AN A Togm AT W SR T H
AR YA & ®9 OH Al ¥, IW SR 4
# amfes e, TUER SR RS TRER &
e T Usa ¥

What do you understand Ey ‘financialisation’ ? Analyse how
- financialisation has resulted in a redistribution of incomes and
wealth in favour of financial sector and particularly the upper
fractions 1:;f capitalist and managerial classes. What are its

broad social consequences ?

'fadgetor’ ﬁmwmﬁjﬁmm
fF fou mr forfios & giomEsy s sl W
w1 HiEwr fawia & @ uw A gen %, faw ww
¥ gofeRt oik wevEa o @ s oW 41 e
ANE dEtaE a2
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( 5 )
' . ‘isation” and
Discuss the different dimensions of wcommoditisatl
i . ender
“transnationalisation™ of care and its class and g

implicati ' ' : s it igration?
implications. What are their links with feminization of migrati
How would you evaluate the gains or losses for women i

such contexts of international migration ?

@ B ‘aegERn’ o aRrEEERT’ @ ﬁ?ﬁ‘:'
A St T ek fem @ wwEl 9 == S|
YA @ AR B WY A N g6y g7 ST
vareT @ R "ol #§ wfeenedi & faw @v @ wfA
F PEFHA MY Hd FWA & 7

What is environmental time preference 7 How tiues it affect.
environmental valuation ? To what extent are inequalities in
p-dL'cr and wealth influenced by other factors .like preferences
and technology in determining the pace and‘ scale of

environmental degradation ?

TR A X ? T wiiy ey
frafeor 1 @@ 9V FT ¥ ? vafawig frgee
= nfa R I W PR TR A fRy w oq
wfw ofR wufd & ST o= B, S sifipm
s www, @ wafam § 2
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S. No. uI"Oucsﬁnn Paper : 8970
Unique Paper Code ;12277606 1C
Name ofthe Paper : Money and Financial Markets .

Name of the Course  : B.A. (H) Economics CBCS-DSE

Semester JRY; |

Duration : 3 Hours Maximum Marks: 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
Note :—  Answers may be written either in English or in Hindi;
" but the same medium should be used throughout the
. paper. | .
frwolt ;38 WA- F IW ST AT o e T W
1iey |
Attempt _ﬁw: questions in all,
Simple calculator is allowed.
FA T TH B IR i
WU FERAR F W W E
l_' (a) Whgil are the changes iq the banking sysiem depu.sm“
currenicy holdings and the money

Stock for an open
market sale of 10 crore .rupees 2

P.T.O.
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(a)

(5)

(a)

( 2 ) 8970

Given that :

() Required reserves ralio = 10%

(i Desired excess reserves ratio = 5%

(ii) Desired currency tn‘dqmsil mtio = 25%. 9

What arc the many ways in which options differ from

a future contract ? 6
z‘iﬁnmr—ﬁmgmﬂfm G i T i ol G
e § 71 iadd o Ak 10 HUg T H

-

T TR e e w2
fear mm ¥ -

() JEEEH INMEA I = 10%

(i difeq iR STRfE I = 5%

(i) Afed T SH A = 25%

FA, A oM qdH A fawey, A aEy A
b= e & 2 -

Suppose investors prefer one year bonds to three year
bonds and will purchase a three year bond only if they

€Xpect Lo receive an additional 2 per cent over the retum

from holding one year bonds. Currently one year bonds

Scanned by CamScanner
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Yield 4 percent, but investors expect this yicld to rise

105 percent next year and to 6 percent year afler.

(ﬂ Which ol the three models of term slructure is
relevant in this case 2

(i) 1s the vield curve upward sloping, flat or

downward sloping 7
oy

(fﬁ} What is the yield on a three-year bond ? 6

b . - .
()  What is the principal-agent problem in equity

contracts ? How can it be solved ? | - 9

(@) HH Wi R v o ad @ ate =)

) Eﬁm%?ﬂ?%ﬁﬁ-&aﬂq
o A owEfe & 2

PTO,
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()

(a)

(b)

(a)

(b)

( 4 ) / 8970

(in q T A FTRAWE, Wi o A
# qE e G T 2

i @ @ F S TF I g
ifad oaY A fafara-Gie wqen =1 32
@ 8 @ fea W1 whar § 2
Differentiate between exogenous and endogenous money
supply curves. 8
Explain the ways in which bnnks- have developed several

mechanisms to overcome default risks and other

information asymmetries. 7
M a ofadfa [z i TH B A AW
Fifam |
WWﬁmﬁﬁilﬁﬁﬁ.ﬁm
Ll .
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d, (1)

(5)

(a)

&)

8970

' ing i is as
Discuss the efficiency of the following instrumer

H . . . i 'UE D'r
intermedinte targets to achieve the objectives

Monetary policy :

(0 Interest r;rn:

(i)  Money supply.

Graphically explain why an investor who purchases a

7

callable bond requires a call premium.
Hifs fifd & twd B W@ w B frw Fegad
W % ®Y § FrefefEd SvRt @l wer

P.T.0,
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Dficiiss the impact of the following variables on
jscur

. the
(a)

money supply in the Indian cconomy -
() Rise in C/DD ratio (c)
(i Rise in TD/DD ratio (1)
(iii) Rise i non-borrowed reserves (119)
(iv) .Riac in excess reserves holdings of banks (ER). 8
“(h) How is Basel N1 an impn_:wemenl over Basel Il 7 7
@ wdE sdoraEd | ga g R FreEfafen =1
F WA W ==l HIWC :
o HEH s A A ©
i) TRNES smmm F 9fE (
(i) M-om fod # s 1Y)

() T F i fed dfce™ d 906 (ER)

B TN, F e S gEEa guR e ¥ 2
(@ Explain the rationale for the expectations hypothesis ?

What are the theory’s major weaknesses ? 8
(b)

Briefly discyss the reforms undertaken in the Government

*ecurities market in India. 7
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(1)

(h)

(@)

(5)

(@)

(5)

(7 ) K

aMen wfwey @ foru wwewl w1 PN Ao |
W fogra w1 w@ sl #oE 7
WAt wfifn A d fAEg T U
W WA § wef wifn)

What is meant by asset securitization 2 In what way
can asset scclrritizntinn reduce the cost of funds for

an issuer ? 8

Jan Tinbergen claimed that it is not merely the number
of instruments that are important but the number of

instruments exerting independent effects on the target

variables. Elucidate, - ' ' 7

mﬁmmﬁmﬂmﬁ%?ﬂﬁﬁmﬁ'
W w8 YER WHed B few e

F TN Bl HH R GhEd & 2

B s 1 T a —

@ gem T T N WAL ¥ At ey
i W WA ¥ S A IF w5 gy

¥ e HifaCl

P.TO.
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(4i)

(8 8970

\Write short nolcs of any mwo of following : 75475

()  Public deiemﬁnnnls of money supply

Primany/Direct securities in India

(iin  Liquidity premium.
freifafaa 8 @ fesl € W.dfaE feouit fafay -
" HqA “{ﬁ'i %, gEatE s

(i WA H WaER/gAad  wfayfE

(ii) ET Wi |

L=

8 i | 3,000
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Your Roll NOwewssessst™"
Sr. No. of Question Paper: 8973 e
Unique Paper Code : 12277612
Name of the Paper : Financial Economics
Name of the Course . B.A. (Hons.) Economics —

CBCS - DSE

Semester | - VI
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1.

Write your Ro¥ No. on the tlop immediately on receipt
of this question paper.

2.  Usc of scientific calculator is allowed,

3. Attempt any five questions, with at least one from
cach scction.

4. Answers may be written either in English or Hindi:
but the same medium should be used throughout 1h;
paper.

BE & foe FEo

1 Wm—qﬂﬁ:‘ﬁﬁaﬁmﬁ?“?ﬁlﬁﬁammm

e ey |
P.T.o,
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2. e FeEce @ wE T R |

3 WE WU R E-A-F QEH W TR qu, O ofe wee
oW |

4, T W - W I IS A D F v v A, AR
T I 1 MO U € EE R )

SECTION A (zvs at)

1. (a) Calculate the IRR (or IRRs) for the following
project :

C, C, c, C,

-3000 +3500 +4000 -4000

For what range of discount rates does the project
have a positive NPV? (3)

(b) Mr. X has to make a choice between two possible

investments:
CASHFLOWS (S)
Project C, C, C, IRR (%)
A -400 | 250 | 300 |23
| B ~200 | 140 | 179 |36

Scanned by CamScanner
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. aes X AS
The opportunity cost of capital is 8%: Mr

lempted to take project B, which has the
IRR.

higher

i . ccl
(i) Explain to Mr. X why this not th¢ corIr

procedure

(ii) Show him how to adapt the IRR rule 10

choose the best project.

(iii) Show him that this project also has the

;: higher NPV, (10)
| (%) PR aRdwen & B IRR (a1 IRRs) & 00
|
C, C, C, C,
~3000 +3500 +4000 ~4000

NPV 8 7

() ﬁ-'x'ﬁﬁmﬁ%ﬁ-%ﬁqmm%

T&e 4w (S) o —
qﬁﬁ‘m‘ Cﬂ CI (_:—-‘-‘—-‘*-_______
—_| R (%)
A -400 250
300 2
_9
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@ AT S S%ﬂwﬂ-l{zﬁqr@.ﬂm B3
ﬂnamﬂﬁmmﬁ,ﬁmﬁml{aﬁﬂﬂ'
(i) sfi- X & H’iﬂlqﬂﬁ?mqamaﬁ
7 o
(ii) GﬁlRRﬁﬂﬂﬂ'ﬂﬁTﬁnwﬁeﬂm;ﬁ%#hﬁ
(i) 98 Raw @& @ o § % g gy
el
2,

(a) Distinguish between implied forward rates and
market forward rates. Specify the forward rates

under different compounding conventions.  (5)

(b) Consider two S-year bonds: one has a 9% coupon
and sells for 101 and the other has a 7% coupon
20d sells for 93.20. Find the price of a 3-year

Zero coupon bond. Also calculate the 3-Year spot
fate, (4)

[E 1 ! ;
) G What is the duration D of a 10% 30 yeat

bond, if jy is at par.
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(i) Calculate the relative change i
30-year zero coupon bond when
yield rises from 10% to 11%.

1ds normally

17
¥ L - L] i rth'
susceptible to very high interest rate (6)

(i) Why arec zero-coupon bor

FHWMMﬁmmW@ﬁaw%ﬁ'
R SR i @ e s R} A B

(@) A5 v & T= W RAER w&: T A 9% HIT B
AR 101 & fore I @ ol TR A 7% FEA 8 A
93.20 ¥ I=a ® | 5-qGW I HUA d5 M HeId
A FLN S A B WiEe & a1 N A0 T

(@) (i) 10%,30 7€ & 9= N & w= 2, qR @
IR W B I

(i) 30 % F IF T A= W o N arey

LGRS C R e — 6%
¥ 11% oF 9 Wl 2 )

(iﬁ) W'Wﬁmmﬂmm

L
A & B et g,

P.T.0.
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5 (a) State the optimization probjep, of
_ ¢ Markqyy;
1.'|[;r_

()

l\{{]dﬂl-

[h) IHow is CAPM cxpressed as g Prici
€ing mpq
el?

Derive the certainty CQuivaleny o
Orm of
the

CAPM.
(7)
(c) In Simple Land, there are only two rig
t
and B, whose details are given beloy Y stocks A
v
Number of | Price per | Fxpeptig T—————
outstanding |  share ;ﬁ:i?ﬂ jlnpdnrd
eviati
TN shares - ufrl:r:;nn
StockA | 100 5150 15% 55
[SlockB | 150 $2.00 12% gﬁj
[

The ' 1
correlation coefficient between the returns of

the i
Stock A and B 1S 0.33, There is also a risk

free :
assct and Stmplc Land satisfies the CAPM
CXact]y,

() What i the expected rate of return of the

Market Portfolio?

I ;
(J ‘Vha[ is the Elﬂndard dﬂi.riﬂtiﬂn Uf lhl':

Market Portfolin?
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(1i)) What is the beta of stock A?

. +2+2+1)
(iv) What is the risk free rate? (1

(W) e vitem a0 siifendeer T 74T |

(W) CAPM w W= fufeor e % A &
i S 2 7 CAPM @ fafFea wged ¥1 41 A

W |

(1) m@ﬁ.ma@mmﬁﬁfmmﬂw%,
frr o R fm o )

TR ufa | amfes e

T & | I e | =1 s

wiE- A 100 | $1.50 | 15% 15%

wid - B 150 | $2.00 | 12% 9%

=t A 3 B @ Rt & @ @@= e 0,33
2| =@ SR W w3 IR R d capy w)

e g T 2
(i) m&l{tﬁmﬂﬁﬁ‘ﬁﬁﬁﬁﬁﬁz{w%?

P.T.0,
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(i) wom WA T TE Ry g 2

- 3
(i) ®iw A =1 9 w1 8 7

(iv) e 7w T R 7

SECTION B (w@vs o)

4. (a) Consider a 10 month forward contract on g stock
when the stock price is $50. The risk free rate of
interest (continuously compounded) is 8% per
annum for all maturitjes. Suppose that dividends

of $0.75 per share are ¢xpected afier 3 months, 6
months and 9 months.

(i) Calculate the forward price assuming that

there are no arbitrage opportunitics,

(i) What happens when the existing forward
Price is less than the forward price

calculated ip part (i)? (5)+(2)

(b) “If the minimum variance hedge
as 1.0

ratio is calculated
» the hedge must be perfect™. 1 this
Statement trye? Explain your answer. (5)

Scanned by CamScanner
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(c) A trader buys two July futures contracts on OFanES
juice. Each contract is for the delivery of 15,000
pounds. The current futures price is 160 cents per
pound, the initial margin is S6000 per contract,
and the maintenance margin is S4500 per contractl.
What price change would lead to a margin

call? What happen if you do not meet the margin
call? (3)

(F) & T W 10 T B s IEey WO AR w9
wiwm @ deE $50 ® 1 wRvemst @ f{w =
% Sfem 7 = (i 9wafe) 8% vl ad 2 1 s
<ifere & $0.75 9 Fmw & wmim A 3= 3 Wy
6 T FR 9 WA B AT B

(i) =& T g A o s o 2 g
g g @ e wy

Hﬁﬂﬁ‘ﬁﬂﬂéﬂmﬁmﬁm%?

(@) "R L T S R ey 1.0 3
ﬁﬁw%'amﬂﬁhml"w% ]
o 7 FOX I H @R Wy .

P*T-O_
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(7) TE TR ER D WA o g

L

(b)

10

_ MRRE TR S
21 e U 15000 urEw Rt a _—

T T T 160 FT 7 g b g
of¥ 3FU S 6000 2. 3R T M S 4500 ufy
FITU B R T R A Ay g T

[E} The Slﬂndﬂrd dﬂ\'iﬂliﬂn Gf mnﬂtht}' E]]ﬂ“gcs in Ihﬂ'

spot price of livestock is (in cents per pound) 1.2,
The standard deviation of monthly changes in the
futures price of livestock for the closest contract
is 1.4. The correlation between the futures price
changes and the Spot price changes is 0.7. It is
now October 15. A mutton producer is committed
0 purchasing 2,00,000 pounds of livestock on
November 5. The producer wants to use the
December livestock futures contracts to hedge its
risk. Each contract is for the delivery of 40,000
Pounds of livestock. What strategy should the
Tullon prodycer follow? (5)

. 94 ner
Assume that the risk free interest rate is 9% P

. . that the
Mnum With Continuous cnmpuundlﬂg and

Ivj , thout
dmd“ﬂd yicld on the stock index varics throuE

Scanned by CamScanner
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(¢) As the delivery period for a

11

embers
August and Nove!

the year. In February, May, or annum-

dividends are paid at the rate of 5% P
at t

c of the index
ice for

' " he ratc 0
In other months, dividends arc paid

2% per annum. Suppose that the valu
on July 31 is 1,300. What is the futures Pf e
the contract deliverable in December 31 0

(5)

same year?
futurcs contract 1S

. the
approached, the futures price converges 10

Explain the

(5)

spot price of the underlying assel.

statement.

(F) S RRE ® Wi @ A e GRET B A

Wl.z(%ﬁm)%uﬂmaﬁm%ﬁ?
A TR @ T T ¥ Wi IRaET H; AT
famre= |4 2 @@ @ A 9RadT IR Wi 1=
qﬁaﬁq%é}avmﬁmﬂ.?%lmuﬁma@%.
we WEA I 15 a R §1 200,000 W= SHfae
ﬁﬁﬁ'aﬂmﬂ?%‘mm%!ﬁﬂmmw
ﬂmﬁﬁ%ﬁ?ﬁwaﬁﬂ'ﬂa’ﬁmm
o A A T B | TR FTFY 40,000 v
w%wﬁmﬂlmmaﬁh
@@ﬁqﬂmmﬂﬁv?

P.T.0.
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(7)

(

]
%laﬂﬂﬂﬁrw,mmwwwﬁ%m
%mmﬂlﬂﬁﬁrﬁqﬁuwiﬁmﬂa

a 4 L
) (i) What trading Strategy creates a calendar

spread? )

A call option with the strike price of S50

Costs 32. A put option with the strike price
of 345 Costs §$3. Explain how a strangle can
be created from these two options. What is

the pattern of profits from the strangle?

(5)
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Il

< peom @ DU
. myﬂﬁ [ro ,
he | and Ko

(b) Construct a table showing t
spread when puts with strike prices Ry (4)

with K,>K,, are used.

n mnuricuu call

(c) ‘It is never optimal to exercisc a .
eforc

ntumcnl?

(4)

option on a non-dividend
cxpiration.” Do you agrec with this st

Give reasons (o support your answer.
I ?
() (i) Wiﬁﬂuﬁﬁwﬁﬁmﬁaﬂﬁ G

(i) $50 @ W wFE D WA ¢@ e S 52
= T B 1 $45 A TR Wigd ® WA T I
ST $3 @ A 2 | T 5 3T 9 el
¥ A v FHT P T GEA B AET A

TS W Ye @ B 7

(@) wEw W K, 3 K, K,>K, & Wa Iwdn sy
W T I AR ¥ A RE et Wi o fmfor
forar T 2

(1) 'mﬁ%wﬁﬂt—qu@ﬁm :
aﬁaﬁaﬁqmaﬂnmmﬁaﬁmqﬁ%l'
T I F@ T W TEE 7 I T oy
= & fg s Ak ) i

PTo

Scanned by CamScanner



L.

8973 14

7.

SECTION C (wvs =)

(a) Discuss the trade-off between higher cas)

dividends and issuc of new common stock. (7)

(b) Hubbard Pet Foods is financed 80% by common

stock and 20% by bonds. The expected return on
the common stock is 12% and the rate of return i
on the bonds is 6%. Assuming that the bonds are
default-risk free, draw a graph that shows the
expected return of Hubbard’s common stock (rg) i
and the expected return on the package of common

stock and bonds (r,) for different debt-equity
ratios. 4 |

(c) Can you invent any new kinds of debt that might

be attractive to investors? Why do you think they
have not been issued? (4)

e T T

() S90 78 i o AU W WiE R R D 9w
-3 W T S

(®) w=¢ ¥ o=@ o wiw e 80% 3K 4= TW 20% |
e e & 1 wrr =i w it Re 12% 8 3k
9= W aE & W 6% B 1 FF AMd EY o S E
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W-ﬁhwﬂ_wmﬁﬁﬂﬁéﬁmm
wim (rt:)“ﬁﬁ?ﬁaﬁtwﬁﬂ?ﬁﬁg (rﬂ)#‘
et famn

G T R o pp———— L
¥ N BT @ g g A e ? 7 IR T
W R R W R 27

8. (a) “The more debt the firm issucs, the higher the
interest it must pay. This is onc important rcason
why firms should operate at conscrvative debt
levels.' Is this statement correct? Give recasons

for your answer. (5)

(b) “A policy that maximizes the market valuc of the
firm is also best for the firm's sharecholders”,

Explain with the help of an example. (6)

(c) How do companies decide on payout? (4)

(a;) 'Iﬁmmmmﬁmﬁ%,ﬁmm
& T 31 B | TE O AT FR R v oy
F@mﬁmmﬁmmmaﬁm"w%m
a8 27 s wEd B fr w2

P.T.0.
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Instructions for Candidates :
gienfRial & oo HEa

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

59 99T-99 & WIS B9 W g M g1 aqqey

et =T o )

(b) Answer may be written either in English
or in Hindi; but the same medium should °
be used throughout the paper.

mnﬁ—ﬁwwﬁﬁﬁmfﬁﬁm%

qrar § AR, A9 @i ST o

B =iy |

8 wmr
PTO.
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: has tw
The question paper 0 Sections. Both
(c) questions in Section - I are compulsory,

gﬂ-qﬂ$ﬂ}WﬁIW~Iffzﬂ7ﬁgﬁ

aferard T

(d) Answer any four questions from Section-II,
gus- & A Bl 9 09 & gy
Section -]
g - 1
Note : Answer questions 1 and 2.
e 1 a7 2 & Iwi} SR |

1. Briefly explain any 5 of the following concepts :

ox2=10

mﬁ:ﬁ feheel arer STyt F Gdg i
(i) Appropriation Bill

i fedaes
(ii) Budget Estimates

EE A
(1ii) Snmponents under Capital Expenditure
O 7§ el gew
(iv) Article 112 of the Constitution

T 1 ol 112
(v) Voted Expenditure

qNeS =y
(vi} Primary deficit

TR grey

e - —— e ——

o Scanned_t_)_y Camécannér
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8626

2. Balance of Payments data is given below (in USS
million) :

gymmﬁga?zﬁraﬁzﬁ:ﬂi‘rﬁ‘qfﬂm%(ﬁws
R ) -
Trade balance =-74.4

AN A

Errors and Omissions= 2.5
Ffedr ofik affiiT=

Imports = 197.65

IS

Transfers = 30.34

gEIaCeT |

Income from profit, interest and dividend =-14.34
T, A auT WHi § ST

Services = 36.78

fard

Capital Account Balance = 42.62

ol @rar A9 4
| 3 P.T.O.
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On the basis of the above data, calculate the

: 1,2,2
following :
Sqier aeE @ g 9x, e @ o M
(a) Exports
Frata
(b) Balance on Current Account
o1y, @Al 99
(c) Change in reserves
Refg & afEds
Section - II
T vs - II
Note : Answer any four questions. All questions
carry equal marks. 15%x4=60

el | gl & I} &g | §l g9E B

FH G911 B |

3. What are the Terms of Reference for the
Fourteenth Finance Commission 7 How are the
rccommendations provided by Fourteenth
Finance Commission different from the

Tccommendations given by the Thirteenth
Inance Commission ? 5,10

SREd RN emdrT @ e dad @ o g ¥ 7
TR o o gy & RS Sk R
ST Zrr & v Ryl @ DY o § 7

4
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4. (1) What is Economic Convergence ? Why is
there a fear for “Late Converger Stall” in
India’s economic development ? 1,8
oS Sifremer qar & 7 WA H D
R § ‘Sz speaelt @e” H o< a4l § 7

(ii) In the context of Economic Survey, explain

the following : (any 3) 2x3=6
anifes wderor 3 ww=d #, Pr=iifea @ 90

(a) Premature i)e;industrializatinn_
quagd  STasEREnie T

(b) Twin-balance sheet problem
fE-gera= aHHE

(c) Balance of Trade situation of India
miﬁ # = 9 Rafy

(d) Iﬁvesﬂnent shortfall
fPrRer & FREe

S " P.T.O.
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5. (i) “The proposed Goods ang Services Tax Bill
will mean that states like Tamil Nadu, which

have manufacturing indUStries, will lose out
on own tax revenue collectiong”. Explain this

statement highlighting the concerns raised
by some states. 8

”qwrﬁﬁral‘gjahﬁmmrﬁﬂwzﬁraﬁw

g & afeEg SR s, R faferator
mﬁ,m*aﬁwmﬁww

&

B “HB T BT Qi ™ Rl i
Waﬂ?rgqmzﬁmmrmfaaﬂﬁm
(i1) Answer the following : 2,2,3

iR & SR SR

(a) What are the taxes that are subsumed

under GST ?
Sfo Tho Ho & Ted BH-T T T fha
™E ? |

(b) What are the commodities that are
excluded from GST ?
o THo fo F orqaRfa = i awh
IHIQ T g 7 |

(c) What is GST council ?
Site wyo o aReg =T B 7
6
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6. Explain the situation of the fiscal deficit in the

country since independence highlighting
different Phases, 15

Iiullf‘l%mﬁﬁﬁmﬂﬁiaﬁg@aﬁf@fm
T A F oty g o0 Rafy % TGl B

7. Write short notes on the following initiatives

undertaken by the Government of India (any 3) :
3x5=15

meﬁ‘rﬁmq@aﬁwmw
frd (B @ =) -

(a) Integrated Child Development Services
(ICDS) -

THhigd @ formra dae (smg @ St Ow)

(b) Programmes to reduce gender gap in
employment

s T & oK B B B D Hded
(c) Steps taken by government in the health
sector e

wree &9 § GR BRI SSIT T HEn
(d) To resolve banking sector crisis

S 8 GHE B BT B B G |

7 P.T.O.
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6. Explain the situation of the fiscal deficit in the

country since independence highlighting
different phases, 15

ST B a1 Ry weoit ) gea @l @ H
BT AW ¥ el e o Rafy @ AT B

7. Write short notes on the fulluw.ing' initiatives
undertaken by the Government of India (any 3) :
3x5=15
HRA AHR EIRT Pt gogell 9T dftre e
Rrd (i A =) -
(a) Integrated Child Development Services
(ICDS) '
g 9w Red dan (o | €@ aq)

(b) Programmes to reduce gender gap in
employment

Ao & & o @l HH B D FEHT
(c) Steps taken by government in the health
sector o

e 89 ¥ @R ' IS T FHEH
(d) To resolve banking sector crisis

s &Y GHe D FHH B B GA |

7 P.T.O.
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8. (i) Explain the Budget making process in India.
8

qﬁaﬁmﬁﬂhﬂﬁﬁmmmﬁqéﬁm

(ii) “Aggregate tax transfers per-capita was
positively related to the per-capita income
of the state implying the regressive nature
of transfers”. Explain this statement in the
context of intergovernmental fiscal transfers

in India. 7
AR o[ W ¥ 9% ©9 @ doaieg or S
BEICOT &1 Hiciepel MpiT B q9ifar & “ma F
HA-TIHMT TSI TR B G2 F 39
FHUT B AR |

8 1500.
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. e
Unlquc Pﬂpcr Code : IZITSZ{H

Name of the Paper Introductory Mncrucmu_umln

Name of the Course 13.A. [IHIB.SE- (11)y/0.Con; (1)

Economics .CBCS-GE

Semester ]

imum Marks : 75
Duration : 3 Hours Maximur

(Write your Roll No. on the top immaddiately on receipr’ of this question juaper |

i ' slish wr in Hindi: but
Note :— Answers may be written either in English vr in H?mll

the same medium should be used throughout the paper.

feuuit : wm-ﬁmmmmf‘r«ﬁ:m.wm
ﬁﬁﬁﬁiﬁmﬂtﬁﬁﬁwmmwﬁm

=feq |

’ . Answer any five questions,
All questions carry equal marks.
frt e WA B IR G .'
oft ¥l B ofF wE ¥

~ PTO.-
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(a) - lmagine nn economy wilh only twe lusiness finyy, XYz

- Lid. and ADC Lad. The XYZ Lud owns shieat fiyy l ;:'Eljls .
« some of its wheat production directly o thy puhli}; and
rest to ABC Ltd, which produces aml sells I*n:.{.:l,.‘i'h;
following table shows the transactions ul’ el business

during 0 yenr ; =
S.No. Partlculars = | Amount (Rs,)
XYZ Lll.I.L'I'rnlunrllnns
_L Wages puid to ¢employees (0,000
2  Tax paid to government + 20,000
3. Revenue received from the sale of wheat -
()  Wheat sold to public~Rs. 40,000

()  Wheant sulq to ABC Ltd.-Rs. [.ﬂﬂ:ﬂﬂﬂ L*ih.mh

ADC Ltd Transactions
I. Whnges poid-to employees 10000
s Taxes paid 1o government * Btm
3. Wheat purchased -from XYZ | 4q x Ifﬁﬂm
4. Rtw:.nu: received from. sale of bread 1 60,000 j
Calculate the GDP, using produg Metho. | o) ?
e F
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(3) 3914 IR
(5 (i) Calculate the manchrumh rate required to finance 4

(he budget déficitof Rs. 10,000 in an economy. Given

. N

| ti'h: following information : :*;
~ :

Tncome (Y) = Rs. 1,00,000 . EE
I _r!

Nominal Money Supply (M) = Rs.80000 g

. Price level (P) .= Rs, 20 3

(i “What is Hyperinflation ?

P

[ ]
- ="k :;FI-I‘L-B';@TH—HH:'_

() .F.:plam the effect of adverse supply shock on price level

'nnd..uutpiut in the following conditions with suitable
diagram :

() When aggregate demand is held cnnslmnt. : too

() * When aggregate demand can be increased. 7

(31) T e W wern e R d

- -
.
I .
. DM e . i o T I W

. SmEEfaE EH XYZ L. ¥ ABC ud._tl'xvz

N L @ Te P §om R T

- % B firen yeas ®9 A WM F 7 T ABC |
Ld. 9 Tt &, S BF T A @ w I
ﬂfﬂmmmwﬁ%ﬁmmm :,
mmmﬁﬁmﬁaﬁ_uﬁpg ﬂ’.]-
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(4) . 3918

WY =t - TR (F) K
e ‘ 3
XVZ L. B B9-37
. wAEfEd W Rwm o AE 60,000
2. TER W fkmom w 120,000

3. W W AR e arE-
(i) =@ w e mar -40,000

(ii) ABC Ltd. ® r=n mar #¥-1,00,000 1,40,000

_ ABC Ltd. &7 8r1-37 ._ ,
| W R AW 40000
2. W&ER ® @ m™m W “..‘.'3,000.'
3. XYZLd ¥ W w1 W | j.ob,b;ao

4 TEw A W A A W@ AT 160,000
mﬁf&m_onpuﬁmm‘}hﬁt_." |

(@) (1) & Sefseen 10,000 T3 TN R
- & favrgm & fau omavaw . qm gfs o 7@
wifd | Profeafen o @ o ¢ .

dMq (Y) = 1,00000 FT9F
wrefes T g (M) = 80,000 w9 -
FEM WW (p) = 20 T4 -
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. {5/ 3914

uiy  stfaerifa ﬁ ? ?
(R) Frerfafaa fafrd 3 w0 @ saed T faem
| i g @ wwidl @1 Sfew fw BTUSATCA
G) T A gt ey et &
(u) WM wifer win =y W&l 14
'(‘u) | '.Ihpluin the unmpuncnls'uf‘ current account of balance of
Py ments, o 3
" (b)  What happens to the equilibripm rate of interest in the
'I"ullumiig situntions ? Use suitable diagram,
{fi ecrease in nnmhm! income
(i Decrease inmoney slippl}'. b
(¢) .. () Deline [S-Cllfv;:. Explain its derivation
‘ | uraphically. 3
(1) Laplain the factors q:uusing shilt in 1S-curve. Use

wiitable dingram, - 4

(Icm A 9 @ T M F TR F S Fifd |
() Erfrfo feafad 8 e =0 W 1 w418 7

| © T PTO.
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(a)

(4)

(c)

{0} 3914

(iD ﬁﬁfﬂﬁ FA |

¢ 1STF W SR wid -
& it ® =em Fiea)

i) 15-5% § fawem T w0 A wwE )
| wmifad | 3a 3 'iTiTT’im Fira |

Briefly explain the following concepls -

()  DBusinest fixed investment.
(i  GDP and GNP, w3

Rohit borrowed Re. €0 lakh from a bank i 201$ at some
rate of interest fo be paid in 2016. I‘lmii-q.- the course of
the year actual inflation was not equal w the anticipated |
inflation. Who gained-and who lowt ani uh}-'.’ Expiniﬂ
in both situmiu.n () anticipated p.n:nﬁ*r than aclual and

() anticipated less thim actual. ' §

() Explain the various stages in (he monetary transmiss

sion mechanisin, _ 4

(i) How does increase in the money -u'|1pl,~r affect the

price fevel and output in the tong-run I"vplain using

AD & AS curves as per classical mplel. 3 %
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()" Which of the following transactions are included

- — ‘ e

1) 1914
() frefafem smurons #1 i@ Zren i
() EEm fer fiwm .

* (i) GDPT GNP |

- () frﬂ'?rirzmsﬁﬁmﬁsumwﬁmm

| mmmﬁm v?rﬁszomﬁgrmﬁﬁmm
R TR R ——S s # T
LT T AR TN ge @ R W A w2
-ﬁiﬁifmﬁtﬁﬁmﬂﬁhﬁlm._m s =ifa
s | afum ¥ am () aifim =R Aty
] w9 ¥

(n;‘c.a_n‘mmmﬁnﬁfamhmaﬁﬁ,
C TTE T |

i - A F TR O d Prome e
SEA BB I el 2 st

'+ HIET F FTER AD A AS TH| = 378 T
. oTEE wifad

in the

calculation of India's GDP 7 Giye reasons m support of

" your' answer :
()  Interest on nationn| -debt

(). Commission charged by g rap estate agent. 3

P.T.O.
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(8) ' LR

(6)  Given the following information :
Quantity of money (M) = Rs. 4,800

Nominal GDP = Rs. 96,000
Real GDP = Rs. 48,000

() What is the price level and v:l'nr:ﬂy of mnney in

.this country ? : .

(i)  Suppose the velocity is constant and the é:unom:v':
output rises by 20 percent each '}:cur. Whutkq.uanllty
of money and money supply should the central bank -
set next year il it wanis to keep the price ievql 5
stable-2__ T,

(c)  Explain the effect of investment sub;id}"un cquHibrium
interest rate, consumption, investment and GDP. Use
suitable dmgrnrn Compare the results wuh other fiscal -

L

pnl:cy m:nsurcs : ' 7

(a)m%onpaﬂmﬁﬁnﬁaﬁmm-ﬁﬁ
- A R Wit e o ?mﬁm#w
w0 Ay . '

) T W w = _ |
0 T TRz i g e T, w
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JF (9) i) -

() Freifofan q@m & T €

q@1 w AT (M) = 4,800 99
AR GDP = 96,000 T9U
arfas Gop = 48,000 9T

() mmeﬂﬁﬂW&ﬂw
T2 '

(i) ¥ e fF & fem & @ sideqaemn m

IR 20 wiaww wired R @@ € 6 =w

9% T ATA qY &1 T 9 G TX G art

FC B 4T GF WA WU H WEE T

UG A |

(A) A 729 21, I94m, i 3 gop W FiEy ohas

® WA F Sren wifwd | 3faa fay wmr svEm

W T QRO W= (e 39 3

Y O WA |
s (i) Why are murkel values used 1o mensure GDP ? Explain
with exnmple, r : 3
(hy ° Explain the d!.-n:rmiri:mu-'ﬁf{wjnand and supply of
" cemtral bank money, | ' 5
P.T.O.
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(<)

.(aﬁ).

(%)

(H)

(10) 14

Using the equilibrium condition in finangial markey

-(loanable Tunds), show the eftect on equibbrim ypyereg

rate. nptional savings, and investment m the ﬁﬂlm-.—ing
]

cnses .
-
(N An inceefse in government purchises.
(i) A decrense in amount of taxes. A

Use suitable diagram,

GDP H WA B AU AR g4 w1 I9En =i
for S ¥ 7 TR Y HOTEE R PR Wi |
w3 4% TW w5 A gl w favifa w=a
T FRE W TmEn W) |

fsia amm # daer T w1 swEm we SO
= T T 2 i o e frafod
3 3@ w OEY

() T wE A gy
(i) X & T q
I fax w1 ITEm Fif,
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(1) '

' 3914
Y (2)

Use the following data to calculate Private aving gng
N government saving :
Gop R 8,000
Net factor payment from abroad Rs. (~)10p
C u'nsumpriun Rs. 2,500
Governmen; purchase Rs. 1,500
Interest paymeny ON government dep Rs. 250
laxes Rs.2 SbD
ltansfers Rs:1,200
L] - l 3
() Usip ' ' '
| Ing the quantiry theory of Money and tha Fisher equa
tion. explajn 'n detail how (he rate of growth i foney
affects 1he nominal ingera, rate, 5
!
(¢) () )
Crive (he aBgregate demang Curve using classical
quantiry €quatiay o 3
(i)

P.T.O. s

adie b
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- Ll vears outpl '
() Ihe following data is given for two yeirs autput and prices

o an ecanamy

Y 2012
Commudities  Price(its.) Quipnt (k) price(Rs.)  Output (kg) i

A ] W 16 100 :

1} 0 -8 12 o 140 :
Caleulate the Nominal GDP, Real GDI* and GDP degator _
tiking 2011 ns base yeanr, E -

(") .Sl;uln: amd eaplain various costs ol hy;;-:rinﬂntion in an
ST 5
(@) Given the following information : E
C‘mmnnplin'n " C 'J/m/'i'ﬂdim’d; Vd=Y.T |

v estment ot I = 640 - 6i *

Ciovernment espendinere G = ](;[}

I T = 200

I’rice level - P =3

Nunfinul Money Supply M= 1200
.|'.'|.'I'II-'IIH.! lor mongy " =02y "
~ PTO.

w
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U TE “

(1)

Full employment level of income Y, = Ra. 4.700

(V) Compute the value af Monetary and iveal Pulicy
i~
multiplivis.
(i) Compute the incrense in the nominal supply oy Money.
required to nchieve full employment.
(fif)  Compute the increase in government expendinne required

to achicve fulll a::nplu_u.n.::-.l_ 19
(1) & swzmen & fog 3 adl #: 7wi 7 mn
& ¥fieg Frafefaa fau mo
2011 . 2012

TR ww s e 3Hnaa'.
(Fwd) (5. om) __ (vwd) (R )

A - 10 /5,’0/ " 100

| ' - X
: ° e 12 KV

2011 W YR a3 7Y TR GO, =TT GDP
q GDP fBRIR 7w #Fifa |

(3, & e § e o fafum o )
TNY F = iy | i

i
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(15)

) frofefm st Y M E -

ELtil
. frEm | = 640 - 6i
TERT T G = 160
"'zml . T=200
FHE W/ P=3
defcd: T3 i M= 1200
& fag w5 L = 0.2Y- 4i
37w g A9
KL Y, = Rs. 4,700 TG3

15

C =360+ O,E{!Yd;

3914

Yd=Y-T

) ﬁﬁﬁﬁmﬂﬁmmqﬁ;m-aﬁﬁﬁl

T AT S w B R st WA AW
W R A afe W o R

(i T T T B B Ry sty g o
A gz =1 7@ wifm

A
.
10000
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This question paper contains 8+4 printed pages]

Roll No.

S. No. of Question Paper : 8414

Unique Paper Code . 12275201 1C
Name of the Paper . Introductory Macroeconomics Eonomics-11
Name of the Course . G.E. for (Hons.) Economics CBCS
Semester N

Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
Note :— Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.
frooft =9 weI-uF F IW e a1 &< FE o am

# dife; AfFT |t 390 F1 OAEIE TE @ e
=ifeq |
All questions are to be attempted.
Part A of each question is compulsory.

ot A sfrard #
wAF WA F WM A sifrad #

. Part A is compulsory. Do any fwo out of Parts B, C

and D : :
(A) From the following information, calculate GDP, Private
Disposable Income and Private Savings : 22

Consumption £, 4,500

4 » ',' r PlTIOI
& L1
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(2‘) . 8414

Compensation of Employees
Rental income of Persons
Proprietor’s Income

~ Corporate Profits
Net Interest
Indirect Business Taxes
Consumption of fixed capital

'I e ‘=.;'.._'?:..-
+ Pavment on G0 erni -:1.
S

Direct Taxes

ZEMEs e tal 4 g o8 B

B) Ur‘l I =-1““1':: i rate of :'_._,':!'_'!'_k;_..,.-‘.. N q‘%‘ calculate the
'a | year Bond of face value

i
i

- for purchase at Rs 250. 2

bulunce ensure

oy """‘I"“ -h-r' 5

: 3
>
drivate Savings and
R T y %

(" ; : 5 L
| r:-:."..r.
‘I.'-. .
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(3 ) bl ‘I

@) () Do you agree with the statement that CP1 inflation
ng ? Give

overstates increases in costs of livi
3

reasons for your answer.
(i) With the help of data given below, calculate the
rate of inflation for each year from 2014 to 2017

considering 2013 as base : 2
Year cPl
2013 60,0
2014 61.5
s 650
645

'*,-C’{ﬁ p# A frd A B

1:{":‘5— =

F:F FAHEICEd ISl
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B4
ﬁﬁm 00
W =™ | 400
JATHE YR FiT 500

fort ot @ swim 1000

TER | T 350
WEL W W oW s 200

* ';Mm ‘- | =
' .;r tﬁm'm@:ﬂmﬂﬁ%tﬂzso
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(5 A) &4

(D 2013 ® s W WA g A3 f T
AFHS B fem@ | 2014 A 2017 7F AGF
- 1 W @ wfaw

ag IOV qE Gadih
2013 600
2014 618
05 - 650
2016 64.5

! L ST . C 660

-

e i "‘T three out of parts B, C, D
Y AR

"‘

]
; >
@
E

W

b you agree with the statement that ‘bond prices

=T

: R | . .
Scanned by CamScanner
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() What is High Powered Money ? To what extent does
High Powered Money affect the Money Supply in an
economy ? 1
@) (7 Given the Quantity Theory of Money, assume that
income is 1000 units and money supply is 400
units. Also assume that velocity of circulation of
money is 5. Calculate the aggregate price level.

What will happen to the price level if money

supply rises to 600 units ? Explain. 4

(/) How are the costs of expected inflation different

from the costs of unexpected inflation ? 3

(E) () Explain the statement that ‘financing a large deficit

with seigniorage can.only lead to high inflation’. 5

() With constant levels of velocity of money and
GDP, the government raises money supply by 5%.

Assuming a real rate of interest of 8%, calculate

the nominal rate of interest. 2

Whﬂﬁﬂlﬁtlﬂmacnt{qsﬁ%ﬁﬁﬁ?ﬂw
#maﬁq

W O T W T Y w E e S
B AW M T F faww T
ﬁmi’lmml'
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(i aATEfaE W & W wopm w4t
arfa®w Gop G T 7%, Tfaa = T 14%
iR wm i afs = iec wfEd B
® T gm-vEfa # @AM UE wEO FAEd |
sfa wify =1 fAaHa &6 & fag &I 51
A W At Afad w gEEa Sfaa )
© = vfE gmoFn € 2 g@m ogfd @ 3= ulE
T fee w® o wwifEd wT ¥ 7
O () T F Ew fagm # wia w@ A
fF @m 1000 gf= & 3 w31 gfd 400 I
T A9 g3 1 GG AT S & A GAFH HIHA
T H T wifee ) 3fg g gfd 600 3T
B S & WM owma ' H fEaw i
T 2
(if) awamﬁaam—ﬁﬁﬁrmma!mﬁmgg_
i % wvE J fF owwr fum & 0

® O mﬂﬂmmﬁﬁq:@m
e RS W R X A -
wifa T AR
(if) GDPWERIGTW'Q‘TW!.’,W
mqﬁﬁmﬁ!ﬁamtm -
T R ek, @ A 2w oy
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3 Pant A is compulsory. Do any three out of parts B, C, D
and E :

(A) () How does an increase in autonomous spending

affect the equilibrium level of income ? Explain

using I1S-LM analysis. 3
(i What is the relevance of Okun’s law ? 2
(B) () Suppose that in an economy

C =100 + 08 Y

b |

=70
G =200
TR =150
= 0.20
(a) Calculate the e;quilibrium level of income and

multiplier in this model.
(b) Calculate the budget surplus.

(¢) What will be the new equilibrium income and
' the new multiplier if 7 increases to 0.25 2 2.2.1
(i) Derive the balanced budget muiliplier. 3

(i) Under what circumstances can the LM curve be

| horizontal ? Use suitable diagram to explain. 2
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(C) () Given that in an economy

C=08(-NY

= 025
| = 900 — 50/
G:EUG

L = 0.25Y - 62.5i

(M/P) = 500
(a) Derive the equation for the IS curve.

(b) Derive the equation for the LM curve.
(¢) What are the equilibrium levels of income and
the interest rate ? 222
(i) Explain policy mix. What is its significance ? Explain
using suitable diagram. 4
(D) Explain the following using suitable diagrams :
() Show that both govenment spending and the tax
rate affect the IS schedule. 3
(i) How will an increase in real money stock affect
equilibrium income and equilibrium interest rate ?
Explain using IS-LM analysis. 3
(i) In the context of fiscal policy what is crowding
out 2 How"does the liquidity trap affect crowding

o AN
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(E) () Consider two policy options, one of an investment
subsidy and another of a rise in income tax rates
Using the IS-LM model, discuss the impact of these

policies on income, interest rates and investment. $

(i) How is the effect of monetary policy different from
the effect of a fiscal policy as a tool of

stabilization ? Explain using suitable diagram.

mawﬁaﬁﬁlﬂma,c,nﬁﬁﬁﬁfﬂr{rﬁl’w
%Wﬁm:

A O = =3 | g 9™ R e = W
T8 YR W owwE e 2 s =
SHEM FQ@ TW TR

(maﬁma‘:ﬁmaﬁmmﬁm%?
® O @& U= § fop oo R

C =100 + 08 v,

f2=10.20

(a)mmﬁmqw :
LG Ea
fE § e T
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() Wafe =z o w1 frEww iSO
(iid) f witfeafrd 8 Lv @ Afr & s & 2
yfes fam #1 weEa | F@E0
© O WWﬁﬁmmtﬁs
| : c =08 (1-0 Y
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FIfaT
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() arEtEE g2 qfd # e T A wqem s

Q’dﬁgmmaﬁﬂmmqum

t 7 1sLm favemm 1 wim we mme

(i) TIEGT Ay B SO G g

ﬂﬁlt?mmmaﬂi‘}gqﬁqﬁﬁ
i wTm & 2

® O ﬁmmi_qmﬁammm

T SR F R A fZ) ism At
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R W o
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This question paper contains 4 printed pages)

Roll No,

S. No. of Question Paper : 8523

Unique Paper Code « 12275401 IC
Name of the Paper . Indian Economy 11(4a)

Name of the Course . GE for Hons.—Economics : CBCS
Semester | S A

Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediarely on receypt of this question paper.)

Note :—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.

feoqut : 3 WEH-9F &1 3W U A fe=y fedt v s
H Zifew; dfed |l 390 @1 °EH UE E e

Uil
There are eight questions in all.
Attempt any five que;tions. )
All questions carry equal marks of 15 each.
F M WA-99 H F@ faemat e W )
fel ofer vl & 3w <ifm
T WA 15 5w b
P.T.O.
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(2) 8523
Discuss major trends in India’s macro-cconomic performance in

the last decade with special reference to Savings & Investment
and Inflation, I5
g & e Ty § ged-ddE wevE w1 fava:

aﬂﬂﬁnﬁﬁmﬁmwﬁl*m““ﬁ?m‘ﬁm
vl ® W=

Why are the recent trends in the growth and composition of
Indian exports disturbing ? How does the new Foreign Trade

Policy (2015-2020) address this issue ? 8.7

T € % wRaa a5 afe am s | o wafea
=g H At F § 2 T fagw =mmr Aifa
(2015-2020) 9 & & fF9 wwr wafmm s & 7

Explain why (just) increasing the Minimum Support Prices
will not improve performance of agriculture in India. Which

other policies are needed to achieve a higher growth in this

e T F F, (Ferer) = wefia e A
T & 3 F wHw A quw i woi @

ﬂmﬁmm*ﬁ!mmﬁﬁﬁm
2 "

' - D -
‘ Lo Tl A
= - i .. ;I 3 I..-‘_II-
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{'31) RS2
4 What h
li\ iy . '

been the impact of the 1991 economic reforms on

agricultural sector ' i
g al sector 2 Evaluate the eftect of trade policy reform

on edible oils and cereals. 9,0
1991 F anfefe qurll @ e & g gm v wm
¥ ? = iy #§ gun W s A s s W
TS A WA @ e Fif

S Liberal economic reforms framew ork constructed over the last

quarter century has not served the manufacturing sector well

despite faster economic growth and output diversification. Do
you agree 7 Justify, 15
ft | anfele fawm awn s fafavm & ameg froe
vt & ot 7 fifia sead sofds gl @ 2R
&1 fafmion &% W @ v T g ¥ Fn e
wewa € 7 94 IW W =rfaa Fif

6. What are the major benefits of Foreign Direct Investment (FDI)
for a country ? Has India been able to reap these benefits after

substantially opening up the economy to FDI ? 69

ﬁﬁiﬂﬁﬁ(mﬁmﬁﬂmﬁmmw
§ 7 e # ymy fRe faw @1 59w

- . e ® AR NG EE A I FEE 2
Bt e N PO, ol

e
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(4) 8523

7.  Discuss the recent changes in the relative performance of
the various sub-sectors of the Indian service sector. How

far have liberalization policies been responsible for these

changes ? i 15

I SNy it Qo G g
e @ H A ufEdE WA Fe awem # fae
FTEF F Aifq wel oF IT@EHE T 2

8  Write short notes on any fwo of the following : 7515

-

(@)  Antitrust Laws in India

(b)) Privatisation Po f: es in-India.
= | mi ' = #

-
r\

. Py I iy Sl &
“t '-.[J_,} .:'....','_ 'f,_;_',,,*u;__ﬁjih_-"i"'ﬁ?‘]‘ *

+ o S
_ 311«} Role of Agricultural Produce MGICOMmu(APMC)
:.- 7 " = Y - - ThTas
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Name of the Course . B.A. (Programme) — Economics

CBCS

Semester . 11
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt any 5 questions.

3. All questions carry equal marks.

4, Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

pral @ fog fFEw

L @ we-1E @ e # FW R W Auilte e w s s
forfeT |

, el dre W @ ST AN |

T B T 8 |

4 @ WA HIH Farsn o Bd Bl v s ¥ Sftr, AT

N 1 A £ 8= =i |

2 k{ek
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4957A

(a) What is social cost of monopoly? Explain with
appropriate diagram,

1.

(b) Explain the price and output determination of a
monopolist in the long run. Can a monopolist earn

supernormal profit in the long run? Give reason.
(7,8)

(3) vmftar 9t wwfoes @rE @@ 8 7 Iuge it & A
Ui T |

(@) vEltEd & SiEe FeE 9 Iees AuiRer St s
FX | T UFIER SiEw A FEEr A A gwdl ¢ 7
FHROT FATE |

2.  What are the features of monopolistic competition market?
Analyse the short run and long run equilibrium of a firm in

this market. (15)

TEitERE wRann aer @t fAfea F#E-F9 @ 2 7 39 awn
¥ o T FEE T AfEee aged # e =

3. Explain the major difficulties face by new entrants in
oligopoly market? Differentiate between collusive and non-
collusive behavior of oligopoly firms. Highlight the price
leadership model of oligopoly. (15)

FENRER A ¥ T FR] T FT-BT A HHOAAN T A
T g 7 st wal @ weAd T AT Fwn
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.

4. What are the major sources of market failure? How does
. . - ' . o
the asymmetric information lead to the market failure?

Analyse with suitable examples. (15)

AT AT B e wa w-w A R 7 g SR
W AT fawerar 2 sk & Wt ¥ Ivgem Iemen @ arg wwe I
|

5. (a) How does market adjust to the changes in demand?

(b) What are the major approaches of internalising
externalities? (7,8)

(3r) st A wRadT F A B wET A wEm w7
(7) ARTAN & TR A Y WA FHA-FT A 27

6. (a) Analyse the theory of comparative cost advantage in
the context of international trade using appropriate
examples.

(b) What arguments you would provide in favour of
protectionism? Are these arguments still valid in the era
of globalization? (9,6)

(3) mmﬂmm@qmawﬁm
'-ﬁmmﬁﬁm#mﬁﬁm1

LY
3 -

P.T.O,
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4957A 4

(a) wewEE @ O F W G w g e
@ gn A Ifm 7

7. (a) What do you understand by economic repto Can
economic rent be equal to total earning or cqual to zero?
Explain with diagram.

(b) Why the supply curve of labour is backward bending?

(9,6)
(%) e T & o9 T wEa 7w A T w e

T T D FAA B wEAT B 7
(@) =@ F 9 a® G IR AW T F A 2 7

8. Write short notes on any two of the following: (7.5,7.5)

(a) Kinked demand curve
" (b) Nash equilibrium

(c) Price discrimination
(d) Excess capacity in monopolistic competition

Fefefes A ¥ 58 & w e o e

(4200)
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giefeial & e P

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
FH 99-95 & 91 B 9¥ gia ofid o7 arae
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(b) Answer may be written either in English
or in Hindji; but the same medium should
be used throughout the paper.
=7 A9-99 F ST S ar R B o
AT # I, Al | ST o & 9r §
g = ey | :

P.T.O).
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r”' estions,
(c) Anlwcrlny-ﬂ‘!'- ques
a"ﬂ_ A
fatf ﬂh.pgi’f gy
ons,carry €qual marks,

@ At j:fﬂ_f “ 35 -

e e O '_ for VH candidates.

i Lé) - q [ 4:".-11"-1 l_h F': ..:E.L..g-h'"r‘ |
. o : ! - g =
N 1| ClEs qaE4aa = e 21

] £ B 14'

I‘Fj-l A

? Using suitable diagram

pera fﬂ{} perfect competition

6T 'if_;_IL ;E‘m ?

1
-
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2. What are the basic features of monopolistic
competition ? Using suitable diagrams explain
the determination of price and output in this
market during short run and long run. 15

TEferEt i gerdd 8 §9 are § AT 0
Eepre & 2 Ha od e B AT g |

For VH (3fte aftra & R

What is monopolistic competition ? Explain the
concept of economic efficiency and resource
allocations.
weIaRI X Sragiar 9 & ? offels g od
AT SATde F STTETLON 3l ATEET Hifd |
3. (a) The payoff matrix given below, shows the
payoffs to two firms, A and B based on their

strategies.
Fye= qftoms aiferer, &1 FH1 &1 3! e Ta13]
% ITaTT 9T 9rens g9t @ e,
Firm B
% B
| Firm A Advertise Do not Advertise
wH A fasras % | s a1 &1
Advertise (5,5) (20,2) '
fasmast &7
Do Not Advertise| (2,20) (15,15)
frsmas =1 & i}

SR | PEO.
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09532
) Determi ne the dominant Strategy !'n;'
mﬁﬂnﬂ F“"m g 4
‘ ,.“ ,l aah Equ:hbnum 4
: _[b) ::;‘“ ielol'oligupuly. 7
o ST A |
11 -l I
i _ _‘ e between collusive
| |:| | and non-collusive upgoly Explam Nash
, ilibrium using Prisoners’ dilemma. 15
3 ST lmﬁ ue Fe-men

e

BT | Gy gfem @ IwEm
ﬁﬁﬁll

u at are the possible
extemahtles 2 10
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(b) Explain the process of market adjustment
to the increase in demand using suitable

diagram. f S
L T gfe @ e A e S
.~ For VH (3 aifta & R
Whatmpﬁi:]ic"‘ﬁ")ods?
mihﬁtsa@ g

(al Suppnse labn r is thcfnnly factnr of
'\_lt --1L5 a perfe tly mmp-c_tmve

[ (10T .18' as

qof 1 'r o S $ @
BIRIE iif_:»&*L?' 1: 1 <0l

Yine, e

o ' A ||.|""|" -'.; ]
-;,;:_:._.Jt 1 Out}
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(i) Calculate the marginal product for each
additional worker. 3

ST HAATeh 27 2 AIHIT IeTe s777 51y |
(ii) Ifeach unit of output sells for T20, calcylate
the value of marginal product for each
worker. 3

3fe e Ieqr 20 T 9T AT AT R G v

3H % HIHT ScAE T Bl IO 573 |
(111) How many workers should the firm em ploy
if the wages are ¥ 170 per worker ? 3

A A 170 % of Forgw & »
(b) Explain the concept of market failure. 6

Wﬁwqﬁmﬂmﬁmaﬁﬁﬁl

7. i |
Why two nation shoulq trade ? Explain the major

thenfues of internationa] trade. What are the
possible barriers for trade ? 15
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! 8. Write short ﬁotes ‘cin any two of the following :

: 7.5:7.5
Fr=ifofaa & & Rt !"f T ﬁﬁl"\‘l ferooft ffe
(a) Imperfect Infonnatmn
Tt e
(b) Price Discrimina
COLCACE O
~ (c) Contestable m arke

11
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Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :
gieiRifatf & e &

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

T H¥-9H H W< B 9% gIa o 9T s
Tt a7 e |
(b) Answer may be written either in English

or in Hindi; but the same medium should
be used throughout the paper.

g99-99 I I SIS @1 Bl B o
%ﬁﬁﬁlﬁ.%ﬁﬁﬁﬁrm%ﬁwﬁ
s =fed |

(c) Answer any five questions.

Rr=d] Of" 9w & IwT difea
P.T.O.
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(d) All questions Carry equa] Marks
avft 9=t & HF T ¥

(¢) Some questions are only for gy /1.
Handicaped) candidates, /(Visually

@mm,ﬁmﬁﬁqﬁmﬁﬁr%mg,

1. (a) Define Monopoly. Explain the long
equilibrium of a monopoly firm. Ca;u :
monopoly firm earn supernormaj profit in the
long run ? If yes, why ? 9

PSS Sl ST BIR | 7 TR g 2
U A T 9 3 :

o) l ?
- (b) Explain that a m :
¢ e Hiat @ monopolist has no supply

gt =

Curve. \

UH Uhifereprey '_ §

_ “Sualy Handicaped (VH) (gft @it o)

X u{gu '. 1mi atiun ? What are the

g cond. 10ns of price discrimination ?
—= degrees of price discrimination.

15

TR 3 e prave @ e Al
P P s A AT T
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2. (a) Explain the cﬁuilibrium of a firm under

monopolistic competition in the short ruz

using suitable diagrams. . 0
IUgeh YRt e & o e S
ot 1 ST dgee SaiEd |

(b) Explain the concept of excess capacity under

monopolistic competition. 5

r differences between mqnopnlmuc
= E "gud, '*LL_H __ _'_:"'

L
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a. (a) The payofl matrix given below, shows the
payoffs to two firms, A and B based on their
strategics.
fere=r 9oy enferenr, &1 wHt #r e gmraerl

# amare 9T JfenH '-'-'!'l'f wr e
' Advertise Do not Ad-:u'tise

13
.. - {40'5]

A

(10,10)

s .

F ey ] ER
1 ..-_ ._'.l.j _I o __‘1

i r '_ |‘...'I.'_,..ﬁ"-h._ '_ '_'r- TLI M
e SN awuhib
e = -‘—“'-f__.L"- ]

.

[ B
JF

[ !

-
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(b) What are the features Of oligopoly

How this market is different fro 7
markets ?

cct failure ?
4. (a) What are the major sources of market fail ;

wﬁm%gﬁxﬁrﬁzﬁ?—zﬁh—ﬁ% ?

(b) Explain the concept of Prisoners’ dilemma

using suitable illustration. 7
a1 gfem @t SEURET B TH I ST &l
TETIar & HEAT S |

5. (a) Define externalities. What are the possible
methods to internalise externalities ?

10

SEIaT3At St SATEAT HTY | FErarar B THET B
Twifer Tk BB J & ?

(b) Explain the process of market adjustment
to the increase in demand using suitable

diagram. 5
s A gie F FCT TR WO B 5y
S9geh @ SR SRAT Hifvey o
S
P.T.O.
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what are public goods ?

e e T E 2

6. (a, Suppose labour is the only fact
| pgoduction _nsed by a Perfectly comp:t:ti::
firm. The firm’s production function is g
follows : |

T Ha A9 FH € TET FHredt I‘F"fﬂaﬂﬁj
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{ll CalCUlEtE the marginal prﬂdu{'t for eack
additional worker. 3
% AfaTres = a5 A I o i |

(ii) If each unit of output sells for ¥ 18, calculate

the value of marginal procduct for each
worker. 3

A% A% IearE 18 T 9T A7 AT & a1 e AT
% Wi JearE geg 2 7O Hiod |

(iii) How many workers should the firm employ
if the wages are ¥ 160 per worker ? 3

w4 H oA Al # Aot 9T T |nfe
g% #orgdl 160 T ot 7ogz & 2

(b) Explain the concept of asymmetric
information. 6

STHTHT GO B ST P AT S

+7. (a) Explain the theory of comparatiye cost
advantages. | 8

Wmm%ﬁmml

(b) Give reasonable argument in
trade.

Gl W%Wﬂﬁ-m-l_

favour of e
= 7/

74 -
S P.T.0.
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glenRiaf & fera Fdar
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T 9T-9F B W BN 9T g i 9w sygey
T FJaT ford |

(b) Answer may be written either ih English
or in Hindi; but the same medium should
be used throughout the paper.
gq -9 N WY A Tr e fepeht U
wrer 7 &R, AT W9 SOY o & gy
g =ifeT | :

: BT 0!
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(¢c) There ar¢ eight questions in all. Attempty
c |

any five

g Ao T et oS a7t %) b
dl'ur geat @ I G
(d) Al questions carry equal marks.
it gt @ T wH Z

Wrile ahnrt notes on any two of the following :
a0

rarqmm merwragﬂmﬁﬁ‘-rfaq
() M poi tsa orbelow the LM curve

=4 .?ﬁf‘fh . J-mr;lad

l:- l[.j] ﬂ?‘"r"‘_r' ,rr ‘] '|“f _.. nllJ' urmarket

1.

—'-‘i-ll'-.-

........

to EIS and LM curve if

'Hru.i ... and increase
15

qmgéa'a’flsfﬂﬂﬂ
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3. Define Inflation. What are the causes of inflation ?
Explain these using aggregate demand and
aggregate supply curves. 15
AR Bl qfvfe 5T | Tamegdify @ areor @t & 2
BT | T4 FHe sargfif aa%faﬁwmarﬁﬁwrcrl

4. Derive aggregate demand curve. Explain the
reasons for its downward sloping. 15
B AT % H Frofa ¢ 1 s Y @ STz
B & BT Y THHATT |

S. Whatis the relation between unemployment rate
and inflation rate in the short run ? Explain
using Phillips curve. What happens in the long
run ? 15
IR H i’rﬂvmrﬂ &L T PR &7 & g dew

1 & 2 fefered @s6 @ SuEnT S aeE | St
o 39 9T 1 THIT 9SaT & P

6. (a] Establish linkages between goods market and
- money market. ' 7.5
I AL TG A AR F A T wefiye =63 |

(b) Define IS curve. Hnw: would you describe
points above or below the IS curve ? 7.5

IS aeh 1 GFCHIT 3 | 3119 IS 756 & ST 37 Hir gy
hﬂaﬂﬂirﬂ"hﬁ'ﬁﬁ' ?

3 ' PTO.
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l' 7. What is a Balance of Payments account ?
| Discuss. 15

AT G a9 ¢ ? ==t &< |

8. What do you mean by foreign exchange rate ?
How is the foreign exchange rate determined in
flexible exchange rate system ? 15

Rt fRiffTa & @ st # o @ 2 @ R
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FH H¥T-9F FH I AN A1 BH el o
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B =Ry |
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(c) Atte;ppt‘ﬁve questions in all. Firgt
question 18 compulsory.
@rﬁ?ﬂnﬁ%wﬁﬁr@mmaﬁmﬁ%,

(d) All questions carry equal marks.
gt uedl 3B "Ee ¥

1. Write short notes on any two of the following :
1.9+7.5

Pr=fafaa & @ Bl & 9w d@ftra ool fafo

(a) Factors causing shift in LM curve.

LM &5 ° a9 3 sror

(b) Effects of aggregate demand shocks on
equilibrium GDP and price level.

dgfer GDP Q& hiHa &< 9T 99§11 St
& 999 |
(c) Balance of payments.
HITAH ddge |
(d) Open economy multiplier.
el srefeere o1 |
2. What are main sources of demand and supply of
foreign exchange in an economy ? 15
Th eeaeer & sl R{fra St 9/ @ 9| S
9@ HIg - & 7
3. Explain how expansionary and contractionary

monetary policy affect GDP level in a closed
economy with fixed price level ? 15

R 3w g5 orefeaen H
R 4 gy A 4 GDP 1 P

Nt 2
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4. Define aggregatle supply (AS) curve. Discuss its
shape in the short run. What are the f;:;:::
that cause shifts in the short run AS curye ?

- 15

g ™ FF B} afraie 6o IqEHE |
GTlfﬁﬁ’[EﬁIa?ﬂ' ATl +«

;-::ﬁﬁiﬁ' a Zﬁ'lﬁ“r‘lt[ﬁ[%ﬁﬂﬁ-ﬁ‘ﬁ‘? ey gfd

5. Explain using IS-LM curves, what happens to
equilibrium level of output (income) and the
interest rate when 5+5+5

IS-LM 38 1 ST FR3 gu S it By dgfr

IR (STE) T T =T 9T F4q AT U B o -

(1) Government increases its expenditure (G),
HHR YA =T F oG B

(ii) Government decreases net taxes (T),
TAHR = FHU J HH HEl B

(1) Government increases money supply.
R o 9§ gie et 2

6. Explain using aggregate demand and aggregate
supply curves the effects of fiscal policy on price
level and real GDP, when (i) an economy is
operating below its potential level of GDP (ii) an

economy is operating at its full capacity level.
8+7

T A ud @wg 9fd 9 @ SwEnT ad §Q
Ty fifey & @ima @@L td GDP @ ¢ 9¢ 989
AR THTEr S ST HT A (i) o s
T ey GDP &R & AR Rt @1, (i) v

e WX 9X feareia &)
QEE'ETT 3 P.T.O.
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te demand curve shows 4
Explain th:wrc:f:ns for a downward sloping
aggregate demand curve. 3+12
T ST g% T 6 ? |EH HET 9% B A @ AN
ar B & e F ATET HiT |

lain the following concepts .
Bls)p=xp ain 2.542.5+2.5+2.5

7. What the

Rrsifeiftge a@arenedt @ e T

(i) Unemployment rate

APl &7
(ii) Frictional unemployment

-

td L !i:"

iii) Structura 'lﬁ‘mﬁployment
AR AT
e oyment
TR . e

- EHE ST

o "_ ‘ },:::";T ] m ? mplain theahort
d long run Phillips curve. 5

':_ : '_ L‘-ﬁﬁ
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Course- II)
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Instructions for Candidates :
gdeeal & fee MEa

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

gH UF-9H $ I BF 97 gIa 9 9% 39
T ax o |
(b) Answer may be written either in English

or in Hindi; but the same medium should
be used throughout the paper.

zg -9 F Sux sidel g1 B B o=
qrar & AfE, AT T SR = & wwr I
2 e *

RI.O.
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(c) Attempt any five questions out of eight
questions.

@mmﬁ?ﬁﬁwﬁhmgﬁwiﬁm
(d) All questions carry equal marks.
qeft uet B oie TE © |

(a) Explain the importance and role of research

[

methodology in Scientific Research. 5
Yenfves o F oY 9Ol B G od gae
F fRrgdaer FHifem |

(b) What difficulties are faced in the selection
and formulation of a research problem ? How
would you remove them ? 10
TF MY FHET & w9+ Ug eger § e
FHEAT I AT HAT ST & | 39 g
Y e |

2. (a) What functions does the literature review

perform in a research study ? 10
U MY EEE F Afefas wier g9 a5
Fraifa FHear B

(b) Dmrjlge any five factors that affect the
reliability of a research Pprocess. S

= W9 & A B e @ g
T AN Pl A ey et A

(8) “{h@t;“ & research design ? How is it

:: ent from thef_@ﬂ-ldy-d‘esign ?
> IS T R ? gy aremdd ATEV
G T i
LA 28
s YR |
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(b) What do you understand by stratified
sampling ? Describe the advantages and
disadvantages of stratified sampling. 7
WUFT s g @ 99 Far aqs E |
OB T & e ua B 2 AeeeT i |

4. (a) Give any three points of distinction between
Qualitative approach and quantitative
approach of research. O

% dre $E S RBget # A |
(b) There are many ethical issues to consider
in relation to the participants in research

activity. Discuss any three such ethical
considerations. 10

Mg fBrapey & wrllerdt & g § fagre
F1 & oo A= Jfes g2 B 0F & &=
Afeer et @ arEr |

5. (a) What considerations would you keep in mind
when constructing questionnaire ? 8

g 9IATGl F9d € of 399 59 § =7 ffEmr
™@d E |

(b) Describe the main steps of the interview
method. 7

arert @ & g8 F=9 & @reEr FHto

- 6. (a) Explain the different methods of data
collection wiﬂl,stﬁtgble example. 8.

3T SEEIT B Y AT WU F A

3 P.T.O.
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7. (a) Discuss the role of statistical analysis in
research process. 8
sirer sfepar § aifeadd [T & afyg o
gui FfeT |

(b) Describe, in brief , the layout of a research
ruport covering all relevant points. -
N Al B Bu o

*ﬁ“ SRy a?r ) w7 aui

8. Write short notes on any t'o 19745

fﬁ & § 9x dlRre f2u ot "-' :
._ R - } ﬂLf’ " T
(a.’.' an ol l'flI__.-"ﬁ""ﬁ:-jE BI'Ch rEPDrt

“;;.f,.ﬁ
-p’o’rtance in context

o 7 7y qr:h ud FEE Tod
thesis an _,ﬁ ernative Hypothesis

1800
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be used throughout the paper.
F9 UF-9F H Iu¥ AWSH A B fpf o
arer & A, AfeT T IO um & e
g =nfea |

PTG
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(c) Attempt five questions in all.
Pl dfe Seel @ ST aore |

(d) Each questions carries 15 marks

ads g9 15 il v B |

Marketing, finance and infrastructure are the
three pillars of agricultural growth. Examine
their features, limitations and the government
effort in context of Indian agricultural sector.
fergor, R ofit gfvardt eien ¥ [{HE & O w9
& | AT P & B o F I faergand, d@Em
SR TLHIX & FATET Bl 779 B |

2. Discuss the causes responsible for low level of
agricultural productivity in India. Explain the
various measures adopted by the government for
raising agricultural productivity in India.
wIRA H P Seareepar B Fret | Ryw Rreyere 5o
ST TN T ¥ P e Ao 3 fyw av
&1 3BT T faftrs 3urat 5t amg.-n HY |

3. DIBC’I.ISB mn d.etﬂ.ll a.bout ﬂ'le f Secunty sysiem
M

T "_E'"%ﬁ‘i‘?tmn”” & =t X |

g
vt ]
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4. Examining the importance of the policies of
privatization and disinvestment in India, discuss ‘
the methods and the programmes adopted by

the Indian government for the same.
A A Fofisrror ofit e # ifeaf & ee &5
STTE B g, I & T w1 AT a1 ST
aIepl AN sHrfepdl 9 wEt Y |

S. Discussing the problems faced by the Small Scale
Industries (SSIs) in India, analyse the
government policy and programmes aimed at

their promotion.

WA H &Y JEAFT (TH.UH.3TE.) & aHT S are
FHETSAT 9T =Gt B U, I e H Ie9d o
TLH I ST SHrRiEpHT @1 fasayor ¥ |

6. What have been the composition and direction
of foreign trade in India in recent years ? What
steps can the Indian government take to correct

its trade imbalance ?

&Il & a9 § WA 7 Al SR @ w@emmr ofic e
4T T & ? | FRHIT ST AT STeger 1 2
A @ [T =T e a7 wHal & P

3, i P.T.O.
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7. Give an overview of the Foreign Direct
Investment (FDI) policy and its performance in
India. What are the reasons for low level of FDI
in India and what steps should the government
do to reverse these trends ?

R faRet s Faer (owdiend) |y sf s
SRS 1 AT B | WRT & wHLeTE B P e
i%fHQEanawnwﬁeﬁwznﬁwrﬁﬂﬂﬁﬁﬁﬁfdﬁawa%éh
ﬁm!ﬂﬂTﬁﬂ#Iﬁﬂiﬁﬁﬂ%F?

8. Write short notes on any two of the following :
Fres & & Rl @ e oy Rt vt -
(a) Problem nf’ehild labour in India
tﬂﬁnﬁmmg #ﬁ?FEﬂr
(b) Nemm cy of India
: l ST (afe) iy
.-; _3,5‘*-4 shs ent’a atratcmr for irrigation
: *&ﬁwhimma fer
s for poon ance of land reforms

(d) Reaso
ﬂLw,

ﬂlt:l

Y k4 (B 3500
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(b) Answer mﬂ be written either in English
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i?::

T '.f_:'_:.'. 'I'E'l .- "-I-": li-'..‘. 9 . ¢ S ; [BIF - 5 .
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(¢) Adempt five questions in all. .

1 o At @ I A
(d) Eqeh question carries 15 marks.
T e w9y 15 SRt Hr T

1. What Were the various land reforms that were
adopt@d by the Indian government ? Also discuss

that lahd reforms in India were like a paper tiger

that c@uld not achieve much.
HITT ARHIT BIT SY TC A iy gere g & 2
SR =@t % {6 wia # 4 T U ey arg @

e & S ST eifde 7ol B T |
2. Critice ly examine the role of buffer stock and

- publicgdistribution system in providing food

g S o
S tﬁacﬁﬂeﬂpnhcy issues that are
8l for modernizing Indian agriculture.

r
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5- Diﬁ & . &
Cuss the objectiy S, mtimm,h:, methods and

gﬂvcr" ¥ '
disi ment’s po CY Oon privatization and

erra?r“hﬁr

6. D;icus§mg El1c advantages and disadvantages
Ol Foreign Direct In¥estment (FDI), analyse the
Indian governmentls evolving policies on the

same.
st seer Frder (o W%Weﬂr
THATH! 9T
aﬁfﬂﬂ%ng 7 a&aaqrmmﬁ
= ittt

7. For an overall develdpment of country’s foreign

trade, discuss the rgles of Indian Foreign Trade
Policies I(FTP] of.’Z_ 4 and 2009. Do you think
FTP 2015 will h€lp India pave way for
government’s flagship programme of ‘Make in
India’?
&ﬁ%ﬁ&ﬁrm-% Ty R 3 g 2004 it
2009 F wHIET [23s wﬁﬁﬁmﬁﬁnaﬁ
lﬂﬁaaﬂﬂ'{'ﬂ'ﬂfﬂ AT AT Tl & R o, .,

2015 YT & * AIXA ? ! (3 &7 8 & vy
m%mw Jﬁwﬁﬂr A%
3 N ;‘_ . PTO
=3 ‘ .' -fv - " _*-c '|-
4 MLt T - '._,=-:.~-
T - SRR :-".-u '*;'
. .. ol !'l-_..: P* &
¥ "-J.‘ ._, ’1___ -
L e
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Instructions for Candidates

Write your Roll No. on the top immediately on receipt of
this question paper.

—
.

2. All questions carry equal marks.

Answer any five. Question No. 8 is compulsory.

3
4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

el & foe Frdw

1. W E-TE % e @ e Ry il ® W s s
forfag 1

2. W W & HE G E

3w e e @ IR | W 8 st # )

4 T8 WEE-TF W I I WA A v w0 X A, S gy
I WA @ A B ey

P.T.O.
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Explain the importance of avoiding double counting in
1. (@ M estimation of domestic product. Describe with an

() Explain the difference between nominal National Income
and real National Income. (6)

1 the concepts o g'gnd APS, MPC and MPS.
ors d ’_j___ f thel’mugmal propensity to
(10)

g con: "'ﬁoﬁ-functiun C=100+0.6Y.
ond __;, mml; function and compute
en Y=§ no (3)

g )\ 1{5 mﬁmnﬁn
i we oW P

e = v 7@ Y =800 ¥
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3. (a) Define Marginal Efficiency of Capital (MEC) and how
it affects the investment decisions? (8)

(b) Explain the determination of equilibrium level of income
in an open economy with a suitable diagram. (7)

(%) T * G oo F wRwife @ a9 BEAw Ao
F D wwRE w2

(3) 3R & W9 vw g sdwren ¥ w@ @ A

& v ® awen @R
3 =

I

_ \ - S
4. (2) Suppose you have t 1e following information about a
. I ! ® 0 omy: X |
- closed cconomy; . ] (10)
C =50+ 0.80 (Y-T)

C 1=200 ‘!

(i) Find out the equilibr
V2 uilibr,

& e = ; 4
(i) Suppose G increases 10 125 what is (he

cquilibrium level of

. A :
ii) What level of G

Y T

s [
- } C |
L neoded e { 1
B oy =
i AL . ; - |
s |
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'| 4799
(b) What is net export function? (5)
m& l'

B e

ﬁ " k' |
] |
a‘gm AT F |

) "TJ,’-‘- Gus Bl mi‘ A I A AR EE
wmoE g

|
| .
s ey @ R G @ R

:1a ion's "*!i*fl ' een'margiﬂﬂl pIopeasity/t© |

 of credit emuon in multiple banking

it (10)
J‘I |
o :E iaqi‘ilﬂ Fat

.J”.
I
4
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(@) ag A mEen A TE G T wrm w4y

6 What do you mean by liquidity preference? Explain the
~ Keynesian theory of demand for money. (15)

e e A w7 W e @ dafee e @

wE
%) (i) What is open market operation and how monetary
“authority uses it to regulate money supply? (9)

(b) What is Balanced Budget Multiplier?
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Wit I & A U A B aifRe |

1. (a) Explain the steps involved in the ¢stimation of
Nltionnl Income with the help of value added
uthod or production approach. (9)

in > difference between Actual Gpp and
al GDP. (6)

ABG PTC enslty lo consume.

actors hat detern mines the marginal

ume in . ﬁ_-_u (10)
2

g 'yu .1 C=5{}+ﬂ 75Y

()
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T FY | I FRE] F @ gy o seaded d dna
Wuﬁmﬁu&ﬂmh

(@) ‘ﬂﬁﬁq‘ﬂﬂmc=50+u_7syﬁlmﬁﬂﬂm
fod | s @ fFE R W aga =

3. (a) Difference between induced and autonomous
| investment. (5)

follows :

P.T.O.
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Find

(i) Equilibrium level of income, consumption
and savings.

(i) Change in equilibrium income if G increases
to 100 and I decreases to 100. (10)

(b) Whnt dn you mean by balanced budget

(5)
() | F diEe e w1 A B @
E = ﬂ'{ﬂail, l'ld Wh'E:rF(Yd = Y- T)
= 3@@ < ,‘.1 : I :

0y equilibrium
P! pen ecunnmy‘? What
] “"_'r net e 234 ort functlnn?

- (15)

Scanned by CamScanner



- 9272 5

T el e 7 7 v 99 anfagaen A GDP 7 3

6. (a) Define high powered money? Explain M1, M2 and
M3, (7)

(b) What is liquidity trap? Explain the liquidity
preference theory of demand for money. (8)

 (31) I3 wfew q@ @ wfonfi| w0 M1, M2 74 M3 @
- ‘ul
fasum & )

fiscal E’ﬂiﬁ affect the
P 1COT MLFEEI'&EEU_FJ# A (?)

I
e N NP R .
mine the quantity theory money.

)

T & e w

P.T.O.

S
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§  Write short notes on : Any Three (5.,5.5)

o

(a) Difference between BoP and BoT
(b) Open Market Operations

(c) Paradox of thrift

T

B
(d)' v ’E-ﬂ.‘ ",-ﬂ[ Monﬂnryr-l_?ﬁlicy

el mmw
'.'-If BoP @@ Bo ﬂq,zmtﬁﬁa

r‘_l

U-‘]' 9q

—

;
l;.
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